ST-2062 RRB PO (MAINS) 2020

Q-1
eng/eng

Q-1

In the given question, a statement is followed by two conclusions. The relationship shown between the elements is true. You have to find
which conclusion(s) is/are true by the statement. Mark your answer accordingly-

RTIT Ty &, THFATF 17 A58 U a7 | aeat F T T I HIT e | STTFT TE ATT FLATE T3 F17 971 Ao e w97

FTIT HEF § /&1 AR AqAT ST o fova < -

Statements
FT

L>M>R=F>Z<X<C<A>B>N

Conclusion
Arewd

I: L>Z
m:zZ<A

01.

03.

05.

If only conclusion I is true.

Tz Fae w19 81

If either conclusion I or II is true.

Tt =7 v s 197 1 5o 21

If both conclusions I and II are true.

ot et 1 2 11 =T e 2

02.

04.

If only conclusion Il is true.

Tf Fae w1197 )

If neither conclusion I nor II is true.

iy T A [ T2 7T 2

In the given question, a statement is followed by two conclusions. The relationship shown between the elements is true. You have to find
which conclusion(s) is/are true by the statement. Mark your answer accordingly-

fRRTaT g &, THFITF I 7 fAvae fRuaq | et F o i Ig Hag G 1 sTIFRT TE AT FIATE P36 17 971 o worew

T 93T § / 8| TRLAT AIAT ST 3 Fohd i -

Statements
T :

L>M>R=F>Z<X<C<A>B>N

Conclusion
Ao
I L>Z
II: Z<A

01.

03.

05.

If only conclusion I is true.
7ty Faer Ry [ 97 2|

If either conclusion I or II is true.
Trfe 77 a1 v [ 3 11 97 21

If both conclusions I and II are true.

e Aoy | =T 11 24T a7 2

Solution for Question 1

If only conclusion II is true.
T shaet sy 11 a2 9 &

02.

04.

If only conclusion II is true.
RICEEEREE R

If neither conclusion I nor II is true.

e a1 e [T T8 197 2

Ans Key: 2

eng hin  If only conclusion IT is true.

RIEEERIEE R L o]
Q-2 In the given question, a statement is followed by two conclusions. The relationship shown between the elements is true. You have to find
eng/eng Wwhich conclusion(s) is/are true by the statement. Mark your answer accordingly-

RTIT ISR, THFATF I T A5FW fRTACE | el & AF AT AT HAT TH | STIRT T AT HLATE 56 19 7 s v

FTIT HEF § /&1 aaqaT Aq9T ST s v 3 -

Statements:

YT :
A<X<Y<V;B>Y<G<H<I
Conclusion:

Arewd

I: A<G

I: X <1

01.

03.

05.

If only conclusion I is true.

Tf2 Fae w19 81

If either conclusion I or I1 is true.

Tt 77 v sy 197 1 5e 2

If both conclusions I and II are true.

02.

04.

If only conclusion IT is true.

Tf Fae w1197 g

If neither conclusion I nor II is true.

Tfe T a1 Ao 1 727 1 7T 2



Tz fAehd [ 377 [ <1 9e7 €

Q-2 In the given question, a statement is followed by two conclusions. The relationship shown between the elements is true. You have to find
eng hin  which conclusion(s) is/are true by the statement. Mark your answer accordingly-
fRTTTIs ®, TF 7% 1 7 Ao fRT e | aeal & fiF AT AT T T 2| MTFT T ATT HLAT P36 F17 A7 v vy
FTIT HEF § / 8| aaqaT Aq9T ST s foha 3 -

Statements:

YT
A<X<Y<V;B>Y<G<H<I
Conclusion:

Arewd

I: A<G

IL: X<1I

01. Ifonly conclusion I is true. 02. Ifonly conclusion II is true.

Tf2 Fae w19 21 Tf Fae w1197 g

03. Ifeither conclusion I or IT is true. 04. TIfneither conclusion I nor II is true.

i< 77 a1 Few e 137 11 97 ) Ffzadr g [T T g N TT B

05. Ifboth conclusions I and II are true.
T Ao [ 37 [ HT FT 2

Solution for Question 2 Ans Key: 5

If both conclusions I and II are true.

Jfe ST freeps 1 3K 11 e 2

If both conclusions I and II are true.

RICRACIRC =0 Rl | K i

Q-3 In the given question, a statement is followed by two conclusions. The relationship shown between the elements is true. You have to find
which conclusion(s) is/are true by the statement. Mark your answer accordingly-
fRTIT Ty ®, THFITF I I fvahd fRruae | acai F g qi I g Hag Gea | sUIRT T AT FIATE PR F17 971 s w7
T A< § / 8| TRLAT AIAT ST 3 ha X -

Statements :

HYA :

Q>P>0>R<S<T<U<L

Conclusion :

Aoy :

I Q=S

II: R<L

01. TIfonly conclusion I is true. 02. Ifonly conclusion II is true.
7f% Faer e [ 5 21 7f% Faer Ao 17T 2

03. If either conclusion I or II is true. 04. If neither conclusion I nor II is true.
It 77 a1 v [ 3T 11 97 21 Tfe 797 Foe | T T8 1 77 2

05. If both conclusions I and II are true.
i Ao [T 11 4T 77 8

Q-3 In the given question, a statement is followed by two conclusions. The relationship shown between the elements is true. You have to find

eng hin  which conclusion(s) is/are true by the statement. Mark your answer accordingly-
fRTTTIs ®, THF 7% 12 7 Ao fRrU g aeal & ST TT g e g | MNIFT T ATT HLAT G P36 F17 A1 v v
FTIT HEF § /8| aeqaTE Aq9T ST s fha A3 -

Statements :

ER G I
Q>P>0>R<S<T<U<L
Conclusion :

Ao

I: Q=S

II: R<L

01. Ifonly conclusion I is true. 02. Ifonly conclusion II is true.

Tf2 Fae w19 21 Tf Fae w1197 g

03. Ifeither conclusion I or II is true. 04. TIfneither conclusion I nor II is true.

T =1 a1 Ao 137 177 B Tf 7 T AR 13/ 7 & 1197 81

05. Ifboth conclusions I and II are true.
T Ao [ 3T 11 HT a9 g



Solution for Question 3 Ans Key: 4

eng/eng

eng hin

Q-4 In the given question, a statement is followed by two conclusions. The relationship shown between the elements is true. You have to find
eng/eng Wwhich conclusion(s) is/are true by the statement. Mark your answer accordingly-
fRTIT Ty ®, THFATF I fA5Hs fFRUaq | aeal F fH T AT AT e | sTIFT TE ATT FLATE P #1797 Ao s w94
FTIT HeF § /8| TEET AqAT ST o foha i< -

Statements :

FIT:
P<S<E>G;J>C<A<B<E
Conclusion :

Arewd

I: P<E

I: E>G

01. Ifonly conclusion I is true. 02. TIfonly conclusion IT is true.

Tz Fae fAewd 197 81 Tf Fae w1187 )

03. Ifeither conclusion I or II is true. 04. Ifneither conclusion I nor II is true.

T g7 7 Ay 197 11 97 2) Ffraar et 1sivadfinaa 2

0S. Ifboth conclusions I and II are true.
e e 37 11 2T o 21
Q-4 In the given question, a statement is followed by two conclusions. The relationship shown between the elements is true. You have to find
which conclusion(s) is/are true by the statement. Mark your answer accordingly-
fRTTIT Ty &, THFATF I 59 fRU AT | et F T T T AT HIT eI | STIRY T AT FIAT G 36 Y71 971 oo e
T 93T § / 8| TR ATAT ST 3 o X -

Statements :

FIT:

P<S<E>G;J>C<A<B<E

Conclusion :

Ao

I: P<E

I:E>G

01. If only conclusion I is true. 02. Tfonly conclusion II is true.
TTT Faret 9o [ T 2 TTE Faet o [ 97 2

03. Ifeither conclusion I or I is true. 04. Ifneither conclusion I nor 11 is true.
T 7T a1 Ao 137 11 77 B i T qr T [T g T =

05. Ifboth conclusions I and II are true.

7ty [T [ 3T 11 ST 9 2

Solution for Question 4 Ans Key: 1
g If only conclusion I is true.
IfE dhae frswe 1 der 2
eng hin  If only conclusion I is true.
g et frsrd 1 T 21
Q-5 In the given question, a statement is followed by two conclusions. The relationship shown between the elements is true. You have to find

eng/eng Wwhich conclusion(s) is/are true by the statement. Mark your answer accordingly-
RTIT Ty ®, THFATF IT 7 59 U a7 | aeat F AT qT AT HIT e | STTFT TE AT FIATE T3 F17 971 o w947
FTIT HEA § /&1 AR AqAT ST o Fohag i< -

Statements :

LI
A=V>C>N>L<S<D<F<M
Conclusion :

IRLEDF

I: C>L

I L<M

01. Ifonly conclusion I is true. 02. Ifonly conclusion II is true.
Tz Fae w197 81 Tf Fae w1137 )

03. Ifeither conclusion I or II is true. 04. TIfneither conclusion I nor II is true.



T =1 a1 Ao 137 1 77 B Tf 7 T AR 13/ 7 & 1197 81

05. Ifboth conclusions I and II are true.
T Ao [ 37T 11 T 9T 2
Q-5 In the given question, a statement is followed by two conclusions. The relationship shown between the elements is true. You have to find
eng hin  which conclusion(s) is/are true by the statement. Mark your answer accordingly-
fRRTaT Ty ®, THFITF I fAvFhs U aq | aeai F o T IT Hag Ge g1 sTIFT TE AT FIATE T 17 971 Ao e w9
FIXT GTF & / 8| e AYAT ST & fha -

Statements :

EC G I
A=V>C>N>L<S<D<F<M
Conclusion :

Aoy

I. C>L

II: L<M

01. TIfonly conclusion I is true. 02. TIfonly conclusion IT is true.

Tfs e Fewd 19T g Tfs Faa w11 97 2

03. Ifeither conclusion I or I is true. 04. TIfneither conclusion I nor II is true.

i 7T A7 ARy 137 11837 8 Tz T T [T AT N FTT B
05. Ifboth conclusions I and II are true.
i AR 1 37 [ 31 a7 )
Solution for Question 5 Ans Key: 5

If both conclusions I and II are true.

Ife 21 fwps 1 3R [T a2

If both conclusions I and II are true.

Ffe 21 fIwhy 1 3T 11 S 2

Passage for Question 6, 7, 8, 9, 10 (ST-2062RRBBCLMAINSNEW(6-10R)2020)
eng/eng Passage

Study the following information carefully and answer the questions given below:

afafaa TTasTd &1 ey d® AeagT FL AT A= w7 i F s

Seven persons were born in different years i.e. 1953, 1963, 1968, 1976, 1990, 1993, 1998. 2019 is the base year for measuring the age of all persons. Two
persons were born before A. One person was born between D and G and both of them have odd numbered age. There are as many persons were born after B as
before F. Difference between the age of D and E is not less than 20 years. E was born before B and after C. Either A or F have not even numbered age.

AT SARFAT FT T S-SR 01 | AT 1953, 1963, 1968, 1976, 1990, 1993, 1998 H F3T 9T 2019 T =TT T 31 T AT F forw s a9 81 A
H Tgl I SATH 911 T | UF ATH T 787 D 3T G F =1 g3 AT ¥ AT 00 0 [0 1 9 ATHAT HT S0 F & Tg 3T B % a1 g3 M D37 E
T T H ¥ 20 99 § F7 Tl ol E, B § T2l 31T C F a7 T&T T AT T v A AT F 6T 39 7 H&AT T2l &

eng hin Passage

Study the following information carefully and answer the questions given below:

MHTATET ATART FT LATTIE AT HFL AT AT ST IHT & SALA:

Seven persons were born in different years i.e. 1953, 1963, 1968, 1976, 1990, 1993, 1998. 2019 is the base year for measuring the age of all persons. Two
persons were born before A. One person was born between D and G and both of them have odd numbered age. There are as many persons were born after B as
before F. Difference between the age of D and E is not less than 20 years. E was born before B and after C. Either A or F have not even numbered age.

qTT SATHIT T S0 AT a6t 7 AT 1953, 1963, 1968, 1976, 1990, 1993, 1998 T g3 9Tl 2019 T ARFAT T 1 T ATI F for7 e ad g1 A
H Ug I SATE 92T U | TF AE T 70 D ¥ G F a1 g3l AT 3f¥ AT 07 07 FAoH g1 G ATHIT %7 S0 F § T2 3T B % a8 g Tl D 3T E
FT A | Sq¥ 20 T F FH Tl gl E, B H T 1T C F T T g1 AT| AT AT A AT F AT 39 HH H&AT 21 2

Q-6 In which of the following year G was born?
engleng THEforiEa # & fher a0 § G 7 7 g =m?

01. 1953 02. 1968
03. 1990 04. 1998

05. None of these
Q-6 In which of the following year G was born?
enghin  Teferfera & & e o § G =1 <77 g =m?



01. 1953 02. 1968
03. 1990 04. 1998
05. None of these
TAH H IS T
Solution for Question 6 Ans Key: 3
eng/eng YEAR AGE | PERSON
1953 66 C
1963 56 F
1968 51 A
1976 43 E
1990 29 G
1993 26 B
1998 21 D
eng hin YEAR AGE | PERSON
1953 66 C
1963 56 F
1968 51 A
1976 43 E
1990 29 G
1993 26 B
| 1998 21 D |
Q-7 What is the sum of the age of D and A?
eng/eng D 3T AT S FT T 4T &2
01. 72 02. 69
03. 87 04. 50
05. None of these
TAH FFE TR0
Q-7 What is the sum of the age of D and A?
eng hin D 3T AT 3T FT T07 74T 272
01. 72 02. 69
03. 87 04. 50
05. None of these
TAH H TS TRl
Solution for Question 7 Ans Key: 1

eng/eng

iH'F.J.R AGE PERSO.\'i

1953 66 C
1963 56 F
1968 51 A
1976 43 E
1990 29 G
1993 26 B
1998 21 D
eng hin YEAR AGE | PERSON
1953 66 C
1963 56 F
1968 51 A
1976 43 E
1990 29 G
1993 26 B
1998 21 D
Q-8 ‘Who among the following is the youngest person?

eng/eng

ot & & w9 ga9 w9 39 #7 =7 82



eng hin

01. A 02.
03. C 04.

05. None of these
Tl i
‘Who among the following is the youngest person?

Reforfad & & w19 qa9 w9 39 7 AT 82

01. A 02.
03. C 04.

05. None of these
TAH HFIS Tl

Solution for Question 8

Ans Key: 5

eng/eng

YEAR AGE | PERSON
1953 66
1963 56
1968 3l
1976 43
1990 29
1993 26
1998 21

Ol @ Ol m = MmO

| YEAR AGE PERSON |
1953 66 C

1963 56

=
1968 51 A
1976 43 E

1990 29

w O

1993 26

1998 21

Which of the following pair of combination is true?

et & & i 97 90 9909 g8t 82

01. A-25 02.
03. C-66 04.

05. None is true
e AT AT Al
Which of the following pair of combination is true?

et & § w9 97 70 990 Tat 82

01. A-25 02.
03. C-66 04.

05. None is true

Fre fraer T8 8

Solution for Question 9

B-29
D-45

B-29
D-45

Ans Key: 3

eng/eng YEAR AGE | PERSON
1953 66 C
1963 56 F
1968 3l A
1976 43 E
1990 29 G
1993 26 B
1998 21 D

eng hin YEAR AGE | PERSON

1953 66 C
1963 56 F
1968 3l A
1976 43 E
1990 29 G



1993 26
1998 21 D

w

Q-10 How many persons are older than F?
eng/eng F ﬁ ﬁw_d%l' aﬁ%ﬁ q:g: g?

01. None 02. One
FTE T T
03. Two 04. Three
ar G
05. More than three
NEREICET

Q-10  How many persons are older than F?

01. None 02. One
EIERE TF
03. Two 04. Three
a GG
05. More than three
NEEIEICET
Solution for Question 10 Ans Key: 2
\GE | PERSON
Al 88
|
S . &
i . =

Passage for Question 11, 12, 13, 14, 15 (ST-2062RRBPOMAINS(11-15R)2020-NP)
eng/eng Passage

Study the following information carefully and answer the questions given below:

fafafaa srasrd &1 eamgd® asgga R AT FRwagysiF sad:

Nine boxes named A, B, C, D, E, F, G, H and I are placed one above other but not necessarily in the same order. Five boxes are placed between C and A. C is
placed immediate below E. Three boxes are placed between D and E. As many boxes placed between A and D as between B and E. B is placed above F which is
not at bottom. More than four boxes are placed between E and F. One box is placed between F and G. Box H is placed below box L.

A,B,C,D,E,F,G, H T [ ATH % AT a1 UF gAY & UL TG MU g AT TELT qgl (o6 T8l /7 § g1 | T a4 C T AF I 7@ T 2| C, E F 3% =
TG AT g1 A1 T3 D 3T E % &1 ¥ MU g1 A 3T D % a1 o ai 79 70 2, 39 B 37 E % o= &1 T B T Fia F % 9L T@T TAT 8, ST T4
= TET T@T AT €1 E 3T F % = 972 & STfee a9 T 0§ F 37T G F = § U qia @7 TAT | A [ F A= Fi H @7 147 2

eng hin Passage

Study the following information carefully and answer the questions given below:

frafafag STasTd £ 1 5amgd T stegaa w AT g ast F s

Nine boxes named A, B, C, D, E, F, G, H and I are placed one above other but not necessarily in the same order. Five boxes are placed between C and A. C is
placed immediate below E. Three boxes are placed between D and E. As many boxes placed between A and D as between B and E. B is placed above F which is
not at bottom. More than four boxes are placed between E and F. One box is placed between F and G. Box H is placed below box 1.




A,B,C,D,E, F,G, H 9T [ 718 % =T 1o UF gAY F ST T MU & FAfhe STl A2t 3 2ot 7 & 2 i a1 C 37 A% i 79 70 €1 C, E F S =
TG AT g1 A1 T3 D 3T E % &1+ ¥ T g1 A 3T D % a1 {5 ai 79 70 2, 39 B 37 E % o= &1 Fi B &1 Fia F % ST T@T TAT 8, ST T4

= TET T@T AT €1 E 3T F % = 972 & STfere a9 & 0§ F 37T G F = § U qia TET TAT 8| q [ F A= Fia H T@T 747 2

Q-11
eng/eng

Q-11

eng hin

Which box is placed at top?
I |7 i oftd o T T 822

01. A 02.
03. E 04.
05. G

Which box is placed at top?
I |7 Fia oftd o7 T@T T 82

01. A 02.
03. E 04.
05. G

Solution for Question 11

Q-12

eng/eng

Q-12

eng hin

BOX

How many boxes are placed between C and F?

C 4 F 3 e ey v 20

01. One 02.

Th

03. three 04.

il

05. more than four
EISEIEED

How many boxes are placed between C and F?

C 4 F 3 o ey v 22

01. One 02.

Th

03. three 04.

il

05. more than four

EEEEICED

Solution for Question 12

Ans Key: 3

Ans Key: 4



Q-13 Ifin a certain way I is related to E and A is related to H then by which among the following G is related?
eng/eng 12 UF A% 8% § L E & #afeq g siv A, HH safea g a1 e 6 7 G s wafaa 82

01. A 02. G
03. F 04. E

05. D

Ifin a certain way I is related to E and A is related to H then by which among the followmg i
RICRCARIEC R REa E@rwﬁr«%aﬁtA HH &&fga g ar ﬁ@rGy‘?ﬂ‘

= @? Y

05. D
Solution for estion 13

. i

Q-14  Which boxes are placed immediately above and immediately below H?
eng/eng H % TLd FUL T A A FIA-H A1 T TT 2




Q-14

eng hin

01. CandH
C#iTH

03. DandF
DT F

05. EandC
EsfiT C

02.

04.

Iand F
[3fTF

DandI
DY 1

Which boxes are placed immediately above and immediately below H?

H % T FY 37T A A= -8 qie 7 7T &2

01. CandH
C#iTH

03. DandF
DT F

05. EandC
EsfiTC

Solution for Question 14

eng/eng

Q-15

eng hin

BOX

What is the position of B?
B T #T4 F7 272

01. fourth from the top
FUT H =TT

03. third from the bottom
=g S

05. fourth from the bottom
SiEE IR

What is the position of B?
B T TT9 F47 272

01. fourth from the top
FUT T =TT

03. third from the bottom
= 7 e

05. fourth from the bottom
G TR

Solution for Question 15

eng/eng

BOX

02.

04.

02.

04.

02.

04.

land F
[3fTF

DandI
DT 1

fifth from the top
EARRIEE

fifth from the bottom
EIERRIEEN

fifth from the top
EARRILE]

fifth from the bottom
EIE R IEEN

Ans Key: 3

Ans Key: 1



Ol >zl w

eng hin

w
=
-

Q|7 T O ® =0 m

Passage for Question 16, 17, 18 (ST-2062RRBPOMAINS(16-18R)2020-NP)
eng/eng Passage

Study the information and answer the following questions:

AT HTAETIT L o T Frefarfaa wari & saed:

O is 20m in north of L. N is 5m west of O. P is 10m south of N. Q is 10m west of P. R is 15m north of Q. T is 15m east of R. M is 10m to the west of L. U is 10m
to the north of M. S is 10m to west of N.

O, LFITH20HZIN, OF A A S W P,NF IO HI0F I Q PHIOMIFEHHZIR,QF ST HISHGITLRF@H IS5H G M LF
T A0 M AU, MFITXH10HT 21 S, NF aferma & 10 f 2

eng hin Passage

Study the information and answer the following questions:

AT HT HETIA L it  Freiorfaa i & STqLa:

0O is 20m in north of L. N is 5m west of O. P is 10m south of N. Q is 10m west of P. R is 15m north of Q. T is 15m east of R. M is 10m to the west of L. U is 10m
to the north of M. S is 10m to west of N.

O, LFITH20HZIN, OF IFEAHAS MG P,NF IO H I0FT I Q. PH IO M UM HAZI R, QF SHISH I TLRF@HISHZIMLF
TfEm F 10 W I U,MFITH 10 HT 21 S, N F afaa & 10 9t 21

Q-16 In which direction is point L with respect to point R?
eng/eng fAgRFHAay H g LT Rem H g2

01. North-west 02. South-east
ITC-TIB Fferr-qd
03. North 04. South-west
I aferor-afary
05. North-east
EARSCl

Q-16  Inwhich direction is point L with respect to point R?
enghin &g R¥F dag ¥ fag L= fRar 22

01. North-west 02. South-east
ITC-TIE Fferr-qd
03. North 04. South-west
I Fieror-gfany
05. North-cast
IT-TA
Solution for Question 16 Ans Key: 2
eng/eng R, 15 L

|
S| 10 N 5 0
b — .



10
| = =
M L
eng hin R 15 %
5] 10 N 5 0O
- — - —a
15 10
|
iy |
Q 5 5. P 20
10
| P =
M L
Q-17 Four of the following are alike in a certain way so form a group, which of the following does not belong to that group?
eng/eng TETIEd # & 72 U Afera a8% & 0F S € 2A0 UF 79 a9 7, FH # T A 37 T F HA19T Tl 82
01. PQ 02. PN
03. SR 04. MU
05. NS
Q-17 Four of the following are alike in a certain way so form a group, which of the following does not belong to that group?

faferfea & & = us [ a8 7 us 39 € zafe vs auqg a9 8, B § § #9359 aqg § gafid 781 22

01. pQ 02. PN
03. SR 04. MU
05. NS
Solution for Question 17 Ans Key: 3
R 15 L
S 10 N 5 (@)
15 10
U
Q 35 . 20
10
M L
eng hin R 15 T
S| 10 N 5 8]
2 N |
15 10
|
L ¢ |
Q 5 - T - 20
10
= =
M L
Q-18  Whatis the distance between point Q and S?
eng/eng g QT s F A g FaTE?
01. 10 m/*Y 02. 5T
03. 15 m/HY 04. 20 m/HT
05. 25 m/HY
Q-18  What is distance between point Q and S?
enghin QT SF AT Ffr T FTE?



01. 10 /Y 02. 5y

03. 15yt 04. 20 m/HY
05. 25yt
Solution for Question 18 Ans Key: 1
eng/eng R 15 L
S| 10 N 5 O
- + e
15 10
v
Q 5 5 P 20
10
g
M L
eng hin R 15 s
S| 10 N 5 o]
= -+ A
15 10
U
Q 5 T - 20
10
M L

Passage for Question 19, 20, 21, 22, 23 (ST-2062RRBPOMAINS(19-23R)2020-NP)
eng/eng Passage

Study the following information carefully and answer the questions given below:

affad STasT F 1 sq\ga T eI FL AT frwarg wsat & ST

Ten persons A, B, C, D, E , F, G, H, I, and ] were born on two different dates 15 and 30 of five different months viz. January, March, April, September and
November but not necessarily in the same order. A was born on 15th of the month which has 31 days. Three persons were born between A and E. Four persons
were born between E and D. D was born before A. The number of persons were born after D is same as the number of persons born before C. One person was
born between E and G. B was born before I but not in the month of January. I was born before E. J was born before H on same date.

T ARE A, B, C, D, E, F, G, H, | 3T J &7 SI7H T STeT- 37T {At2r 15 3f¥ 30 T I STAT-3709 Al - ey, AT, 379, FHaaw ofe qaeaw # ga o,
AR ST ARl (% 39T 9 § 2

AT 570 3 A+ 61 15 AT &1 g o o fSre# 31 37 €1 A 3T E 5 &= 19 =<k 927 g0 &1 E 3{¥ D & &= =1% =416 Ga7 g0 4| D &1 70 A F 98
T 9T D % 978 o8 A RAT T @1 C & Tgel TaT g1 aTel AR &l 5T & T919 g1 E 31T G % &= U =f<r T37 oI 2Tl B &7 SI+7 [ 7 Tgel gl o7
AT STaL o Ha i | dall 1 7 77 E & T8 g3 1| J T 77 H § T8 9 a1 92 gl 9l

eng hin Passage

Study the following information carefully and answer the questions given below:

Fafafaa ITasrd &1 samgd® AegaT R A TA= g vt F s

Study the following information carefully and answer the questions given below:

ST FT SATAIA AT Y 1< A= 3w 10w & 397 &

Ten persons A, B, C,D, E , F, G, H, I, and J were born on two different dates 15 and 30 of five different months viz. January, March, April, September and
November but not necessarily in the same order. A was born on 15th of the month which has 31 days. Three persons were born between A and E. Four persons
were born between E and D. D was born before A. The number of persons were born after D is same as the number of persons born before C. One person was
born between E and G. B was born before I but not in the month of January. I was born before E. J was born before H on same date.

T ARE A, B, C,D, E, F, G, H, [ 3T J &T ST7H T STeRT- 37T fat2ri 15 3f¥ 30 T 1 AT-3700 "l - Say, 7T, 375, FHaa 3T a9a7 | gar a1,
AR STesT gl foF =+t %9 2

AT S0 I eI A1 15 T o1 gar o 5 31 &7 €1 A Sl E % &1+ i ATk 927 g A1 E 3T D F 1= 91¢ AT 927 g0 A1 D FT 570 A T TgT
T AT D F aTE S7H SATHAT 0T ST C 7 Tgel TaT g1 aTel SATRAT %1 ST % G0 2| E 3T G i U =Af<h Ta7 gl =Tl B &1 570 [ § T&eT 3T a7
AT STt % Held § qoi| [ FT 70 E & T8 gl 2T J &7 S0 H § T2 FH qIrg 92 gl =

Q-19  How many persons were born after J?

eng/eng % AT Fohae = a7 gu?



01. None 02. Four
FIE TRl ELES
03. More than five 04. Two
at= ¥ srfers ar
05. Five
=
Q-19 How many persons were born after J?
enghin  J % a1 Fhae = a7 gu?
01. None 02. Four
FIE TRl ELES
03. More than five 04. Two
at= ¥ stfer ar
05. Five
=
Solution for Question 19 Ans Key: 4
eng/eng JAN MARCH | APRIL SEPT NOV
15130 | 15|30 15|30 ) 15| 30| 15| 30
F D[ A B G I E ] ( H
JAN MARCH | APRIL SEPT NOV
15|30 | 15|30 15|30 ) 15| 30| 15| 30
F D A B G I E J ( H
Q-20 Four of the following five are alike in a certain way and hence they form a group. Which one of the following does not belong to that group?
feferfed afsr & & = vF [ a8 7 us 59 € oie safor 3 v 9qg aara 81 Refortd # & w19 97 39 #9g § Fatad 921 82
01. F-A 02. G-E
03. D-H 04. E-C
05. D-B
Q-20 Four of the following five are alike in a certain way and hence they form a group. Which one of the following does not belong to that group?
Fraferfea ot & & =7 v [fEa a6 & v o9 8§ o F v aqg a9 g\ Referfaa § 9 #i9 a7 39 9qg ¥ gateq a8t 82
01. F-A 02. G-E
03. D-H 04. E-C
05. D-B
Solution for Question 20 Ans Key: 3
eng/eng JAN MARCH | APRIL SEPT NOV
15|30 | 15|30 15| 30| 15| 30| 15| 30
E D| A | B G | E J C | H
eng hin JAN MARCH | APRIL SEPT NOV
1530|1530 15|30 15|30 15| 30
F D| A| B G I E | C | H
Q-21  How many persons were born between 1 and C?
eng/eng 13T C % &= fahae =xf<h Ta1 g2
01. Six 02. Four
Bx 1S
03. Two 04. Three
ar q=
05. None of these

T HTE TE



Q-21  How many persons were born between I and C?
enghin 13T C % &= farae =1f<r G=1 802
01. Six 02. Four
gg =L
03. Two 04. Three
ar =
05. None of these
i 1 TS T
Solution for Question 21 Ans Key: 3
eng/eng JAN MARCH | APRIL SEPT NOV
15|30 15|30 | 15|30 (15| 30| 15| 30
E D|A|B| G I E J C | H
eng hin JAN MARCH | APRIL SEPT NOV
15|30 15|30 | 15|30 (15| 30| 15| 30
E D|A| B | G | E J C | H
Q-22 The number of persons were born after E is same as the number of persons born before .
E % 9T 92T gU AThAl 1 §&aT & Tge 9T gU AR &l 9T 91 2
01. B 02. G
03. F 04.
05. None of these
TAH H AL Aol
Q-22 The number of persons were born after E is same as the number of persons born before .
E % 9T 92T gU AThAl 1 9T & Tge &1 gU AR &l §edT 91 &
01. B 02. G
03. F 04. J
05. None of these
Tt & 7
Solution for Question 22 Ans Key: 1
b JAN MARCH | APRIL SEPT NOV
15130 | 15730 15] 30| 15| 30| 15| 30
F D| A B | G l E ] ¢ | H
JAN MARCH | APRIL SEPT NOV
151 30| 15| 30| 15|30 (15| 30| 15| 30
F D|A| B |G I B J C | H
Q-23  Which of the following is odd one?
eng/eng Faforfea & & wm-ar fuw 82
01. F 02. A
03. G 04. E
0S5. H
Q-23  Which of the following is odd one?
eng hin  fAferfera & & =i &7 faww 22
01. F 02. A
03. G 04. E
05. H
Solution for Question 23 Ans Key: 5

eng/eng

[ 7an Tmnmiarcyg !l aprit | sepT | WOV |



15130 15|30 | 15|30 (15| 30| 15| 30
F|  D|A| B |G I B J C | H

eng hin JAN |[MARCH]| APRIL | SEPT NOV
15] 30| 15|30 | 15] 30| 15 30| 15] 30
F | D| A|B|G|1I|E|J|C|H

Passage for Question 24, 25, 26, 27, 28 (ST-2062RRBPOMAINS(24-28R)2020-NP)
eng/eng Passage

Study the following information carefully and answer the questions given below:

Fafafaa ITasrd &1 amgd® AegaT FL AT gy vt F s

Eight persons L, M, N, O, P, Q, R and S are sitting around a rectangular table in such a way that four persons sit on each of the four corner of the table and other
four persons sit on the middle of each side. The one who sits at the corner of table faces outside the center of table and the one who sits at the middle side of table
faces towards the center of table. Persons sitting on opposite sides are exactly opposite to each other.

Q sits at one of the middle side of the table. Two persons sit between Q and P. Only one person sits between Q and N. P does not sit near to N. L sits either 2nd to
the left or right of S. One person sits between L and N. M and R sit opposite to each other. O sits 2nd to the left of M. R doesn’t sit next to Q.

s AT L, M, N, O, P, Q, R 31T S T SATAATHIT | % AT AT TH TIE 96 & (o6 AT Tk WSl & Ted AT I T 95 g 3T AT AT ATh T T T
F AT H 95 | TG ST TS & AT IT T3T ¢ g HA 6 13 F AT a@AT ¢ 3T ST T AT AT F T | T27T & 9 T % 97 0l AT 3@l gl fAadrd qerredt a9
¥ =af<p UF-gAY * A AT F

Q T T TF ST F AT ¥ F3T €1 Q 31 P A= a7 =AT<w 9% &1 Q 3TN F 1+ Fae U AE 927 g1 P, N F qT9 gl 937 g1 L, S F T T a0 A7 70
AT F3T g1 LT N & 1= § Ua 2ARE 937 1 M 3T R UH-ga¥ % f3oda 9 g1 O, M F a10 a7 937 g1 R, Q F ¥ H A&l 931 gl

eng hin Passage

Study the following information carefully and answer the questions given below:

fafafaa ITasTd #1 samgd® Aegaa FL A TA= gt F S

Eight persons L, M, N, O, P, Q, R and S are sitting around a rectangular table in such a way that four persons sit on each of the four corner of the table and other
four persons sit on the middle of each side. The one who sits at the corner of table faces outside the center of table and the one who sits at the middle side of table
faces towards the center of table. Persons sitting on opposite sides are exactly opposite to each other.

Q sits at one of the middle side of the table. Two persons sit between Q and P. Only one person sits between Q and N. P does not sit near to N. L sits either 2nd to
the left or right of S. One person sits between L and N. M and R sit opposite to each other. O sits 2nd to the left of M. R doesn’t sit next to Q.

a3 &ARE L, M, N, O, P, Q, R 3T S UF ATIATHIT HST & AT 3T TH TLE 96 & (o =TT 1<k HA o TcAF AT I TL 95 g ¥ =T FTL AT<h TedF $IT
F W H 95 | A ST TS % Hld T A3T ¢ 98 H 6 13 F AT a@dT g ST ST T 1 AT % T H 927 & a8 T % 4% 0l AT 3@l gl fAadrd qerreit a9
3 =i~ UH-gaY % £ Ay g

Q T T U §[STT & W& 9T 437 g1 Q 3T P = a1 =<k 9% &1 Q 3T N F o= Faol Uk =A<k 437 g1 P, N 3 I Al 37 g1 L, S 3 IT T 910 AT 270
AT F3T 1 L3 N F &1 § U SARE 9T &1 M 3T R TH-ga¢ % fFoda 98 g1 0, M F a10 a7 937 g1 R, Q F ¥ H A&l 93T gl

Q-24 Four of the following five are alike in a certain way and hence they form a group. Which one of the following does not belong to that group?

Referfd ot & & =3 uF [T a8 7 uF 59 € o safor 3 v 99z aq7q 2| Mo & & w9 a7 39 aqg & |@6fed 751 82

01. p 02. R
03. O 04. S
05. M

Q-24 Four of the fo]lowing five are alike in a certain way and hence they form a group. Which one of the following does not belong to that group?
enghin  TeferfEa ot & & =2 v [Rfera 8% & uF 5 2 &7 gqforg o o w9g avrd 8| Feferlea ®§ & £ a1 39 a9g 9 §a6iaq 781 82

01. p 02. R
03. O 04. s
05. Mm
Solution for Question 24 Ans Key: 4
eng/en
gl/eng By Q *M
\ |
N—]® - — 8
&




R L P
eng hin
O_t Q M
-.\- |
\ l
N——» PO
4
i 5
F 4
R L P
Q-25  Who among the following sits 3rd to the right of O?
eng/eng THETITEd # F &9 O % T3 &< 451 22
01. p 02. S
03. N 04. L
05. R
Q-25 ‘Who among the following sits 3rd to the right of O?
eng hin AHferiEad ® |/ FI O % 14 TaeT 93071 82
01. p 02. s
03. N 04. L
05. rR
Solution for Question 25 Ans Key: 2
eng/eng o 0 M
N S
R L P
eng hin
B Q M
X |
\ l
N——» PO
4
i 5
F 4
R L P
Q-26  Whatis the position of Q with respect to R?
eng/eng R %F Fag § Q i Furfa a7 22
01. 3rd to the right 02. 2nd to the right
FEAT ST T HRIEIRE-GE
03. 2nd to the left 04. 3rd to the left
ATE AT AT FTE AT AET



05. Either2or3
ITAT2 973

Q-26 What is the position of Q with respect to R?

eng hin R%WﬁQaﬁ'ﬁqﬁW%q

01. 3rd to the right

02. 2nd to the right

TrAY oY T RIS IRE-GE
03. 2nd to the left 04. 3rd to the left
TS AT TELT aTE AT e
05. Either2or3
ITAT2 973
Solution for Question 26
eng/en
g/eng (o} . Q T M
I
i
N——» PR S
R L P
O Q M
N 3
yF v =
R L P

Q-27 How many persons sit between O and Q when counted to the right of O?

O F ¥ AT | T 19 9= O =¥ Q F fi= Frq =nfvr &% &2

01. One
e
03. Two
ay

05. Four
1S

02. None

04. Three
g

Q-27  How many persons sit between O and Q when counted to the right of O?
enghin O % 34 AT & R I 9% O 37T Q F &= oy =afr 9% &2

01. One
T

03. Two
q

05. Four
EIES

Solution for Question 27

eng/eng 0
B

4t

02. None
04. Three
g

* M

< — 8

Ans Key: 1

Ans Key: 2



‘_.- | Sk
R L P
eng hin
0. - Qll M
N—— < —8
4
‘.,- | = ik
R L P
Q-28  Who among the following is facing N?
engleng THETITEd # ¥ 9 N 1 T 3@ 2122
01. s 02. M
03. R 04. p
05. None of these
TAH HHE Tol
Q-28 Who among the following is facing N?
e da s N AT Ig wr?
01. s 02. M
03. R 04. p
05. None of these
TAH HHE Tol
Solution for Question 28 Ans Key: 1
o Q M
N S
» | : "k
R L P
eng hin
o, - ? M
N———» < — 8
4
‘,.- | : ik
R L. P

Q-29 If 1 is added to all even digits and 1 is subtracted from all odd digits of the number '462378945' then what will be the sum of those digits in the number

eng/eng obtained, which is fifth from the left end and fourth from the right end?

T HEAT 462378945"  TAY TH T § 1 ST ST 2 ST F9fy ooy sisht ® 1 srer= Srar &, a7 YT ST | S st 7 AT 47 g, ST 970
T T ai=at ST IO B F =J AT 2



Q-29

eng hin

01. 12 02. 15
03. 11 04. 10
05. None of these
i AT
If 1 is added to all even digits and 1 is subtracted from all odd digits of the number '462378945' then what will be the sum of those digits in the number
obtained, which is fifth from the left end and fourth from the right end?
TS FEAT *462378945'  FHT 7 Rl H 1 SIS ST € AT AT 30 AFT H 1 =27 ST &, 7 SAH HEAT § ST A7 7 T F4A7 g, ST AT
I A qi=at T a0 e T =9 82

01. 12 02. 15
03. 11 04. 10
05. None of these

T ATE TE

Solution for Question 29 Ans Key: 2

eng/eng 462378945

573269854
Thus, 39 TR
6+9=15
462378945
573269854

Thus, 39 JehT
6+9=15

Q-30 In the given word ‘SPLENDID’, in which consonant changed into its previous letter and the vowel into its next letter (according to the alphabetical order)
and then all letters are arranged in alphabetical order from left to right then which of the following letter is fifth from the left end?
T 0 953 'SPLENDID!' ®, fSre# =St o719+ foegel 37617 | i< ¥a¥ S 31Ter STeq¥ § (AVTHTAT 1 o6 ATETY) Ta&el [T Srar g i o aedt
AT T TUHTAT o6 FH | AT0 | G0 Aateed 6T Srar g, a1 8 § & Fi9-97 ste7 a1d G2 § qi=ai g m?
01. R 02. O
03. K 04. M
05. C
Q-30 In the given word ‘SPLENDID?, in which consonant changed into its previous letter and the vowel into its next letter (according to the alphabetical order)
and then all letters are arranged in alphabetical order from left to right then which of the following letter is fifth from the left end?
3w a7 ors 'SPLENDID' ®, fSe# =37 sta+ foreer stere ® i T Ta¢ 3709 37T 3747 § (FVTHTAT 7 F SIqETY) 8o (23T a7 8 3 foe a+dy
ST T AUTHATAT o 68 § 10 F &0 ateqq ThaT Srar 2, a7 9 § & F19-97 31e1% a70 91 8 Tr=ei gi?
01. R 02. O
03. K 04. M
05. C
Solution for Question 30 Ans Key: 3
eng/eng  SPLENDID
ROKFMCIC
CCFJKMOR

Fifth from left end after arranging in alphabetical order is K.

TUTHTCAT ShH H ST ST o &1 oIT¢ B Y qi=ai K 2l

eng hin

SPLENDID

ROKFMCIC

CCFJKMOR

Fifth from left end after arranging in alphabetical order is K.

TUIHTAT sh H ST i o SI1E o0 SR 8 giera K 8l

Passage for Question 31, 32, 33, 34, 35 (ST-2062RRBPOMAINS(31-35R)2020-NP)
eng/eng Passage

Study the following information carefully and answer the questions given below in a certain code language:

“Never talk between others” is coded as “sm tn or if”
“Others should be helpful” is coded as “or le ca qj”
“Never be time specific” is coded as “if gd le ap”




“Focus between specific hours” is coded as “yh gd tn sk”
et TTaFTd F 1 amydF sAegga FL AT g Fre arar § = frg g st F 39

“Never talk between others” &T “sm tn or if” % &7 & FIfed 3T 12T B
“Others should be helpful” #T “or le ca qj” F &7 H Frfeq T T %’I
“Never be time specific” &7 “if gd le ap” F &9 # =hifeq T 7T 2

“Focus between specific hours” #T “yh gd tn sk” % &9 § e & w7 %I

eng hin Passage
Study the following information carefully and answer the questions given below in a certain code language:

“Never talk between others” is coded as “sm tn or if”
“Others should be helpful” is coded as “or le ca qj”
“Never be time specific” is coded as “if gd le ap”

“Focus between specific hours” is coded as “yh gd tn sk”

rafafag STasTd F 1 5qmgd T Tegaa w AT TH fAfdrg Fre arar # 9 frg ot F s9:

“Never talk between others” #T “sm tn or if” 3 =7 H Fifed ForaT 127 8
“Others should be helpful” &7 “or le ca qj” &7 & Fifed fhaT 14T %’I
“Never be time specific” FT “if gd le ap” 3 &9 H Fifeq AT TAT 21

“Focus between specific hours” T “yh gd tn sk” 3 &9 § #rfeq frar a7 3

Q-31 What is the code for “Never together” in the given code language?
o 1T e 9THT # " Never together "  foTT e 47 872

01. tnor 02. orif
03. ifyu 04. gjtn
05. ifgd
Q-31 What is the code for “Never together” in the given code language?

o 77 e 9T § " Never together " 3 o710 e #7471 82

01. tn or 02. or lf
03. ifyu 04. gjtn
05. ifgd

Solution for Question 31
sol.“Never talk (between|others”) is coded as “m tnorif]

‘{Others should /be helpful” is coded as forde'ca qj»

“Never|be'time specific” is coded as 'if|gddeap”

“Focus between specific hours” is coded as “yh gd tn @"

Ans Key: 3

eng hin

sol.“Never ftalk bem*eené@;rgﬁ is coded as “@11 tn(orfif’}
#Others should /bé helpful” is coded as a qi”

e

“Never|be fime specific” is coded as fiflgdle'ap”

“Focus between specific hours™ is coded as “yh gd tnsk”

Q-32 What is the code for “specific” in the given code language?
eng/eng LR E e HATHT H “specific” T FTE FAT %?

01. od 02. ca
03. g 04,

05. None of these TH & FIE Tl



Q-32

eng hin

What is the code for “specific” in the given code language?

& T T AT H “specific” FT FIS FIT 82

01. gd 02. ca
03. gj 04. i
05. None of these IAH H FIs A5l
Solution for Question 32 Ans Key: 1
eng/eng
XX XX
Never talk between sm if
should helpful a g
) 5 3 XX
Never time if ap
Focus | between hours yh tn| sk
XX XX
Never talk between ||| others sm if
Others || should helpful ca q
K ; XX
Never time if ap
Focus | between hours vh tn | sk
Q-33 What is the code for “Others” in the given code language?
& T F ATIT H “Others” FT FHI< FIT 872
01. ms 02. or
03. Ie 04. ap
05. None of these
TAH HATS AL
Q-33 What is the code for “Others” in the given code language?
& TS Tz ATIT F “Others” T FTS T 82
01. ms 02. or
03. I 04. ap
05. None of these
TAH F ATE TAl
Solution for Question 33 Ans Key: 2
eng/eng
XX 5756
Never talk between sm if
should helpful ca g
XX XX
Never time if ap
Focus | between hours vh @ | sk
eng hin

N}eifer talk between ||| others

XX
sm |t ] lﬁ' if



—F —F

should helpful a g
Nﬁm‘ time ffx ap
Focus | between hours vh @ tn| sk

Q-34

eng/eng

Q-34

eng hin

The code “le” is coded as which of the following word?

“le" Fre F1 Feferfed § 7 e o= & =7 7 Ffsq BT g2

01. never 02. time
03. focus 04. be
05. None of these

TAH (S ARl

The code “le” is coded as which of the following word?

“le" Fre F1 e § 7 e o= & =7 7 wifsq P &2

01. never 02.  time
03. focus 04. be
05. None of these

T q AT AL

Solution for Question 34

XX XX
Never  talk between ||| others s ik

should helpful ca g
XX . XX

Never time if ap
Focus | between hours vh tn | sk

XX XX
Never - talk between ||| others sm if

should helpful or ca (qj
N{c{-iger time ffx ap
Focus | between vh tn| sk

;

=2
S
E
e

Q-35

eng/eng

Q-35

eng hin

What may be the possible code for “focus real” in the given code language?

F TS FIT ATIT H " focus real " F orT HATRET FIe FAT BT HFAT B2

01. skez 02. oryh

03. yhrt 04. either (1) or (3)
AT AT (1) 74T (3)

05. them

What may be the possible code for “focus real” in the given code language?

& TS FTT ATIT H " focus real " F forT FATHET FIe FAT FT HFAT B2

01. skez 02. oryh
03. vyhrt 04. cither (1) or (3)



FTAT (1) AT AT (3)
05. them
Solution for Question 35 Ans Key: 4

sol.“Neverltalk @@;@ is coded as “Smh tn(otif?
‘@ should /e, helpful” is coded as a q”
“Never]8e time specific* is coded as {iflgd eap”

“Focus @@eciﬁc_ hours™ is coded as “yh gd tn @"

eng/eng

eng hin

sol.“Neverltalk @@;@ is coded as “@1 tn(O:
‘@ should /b helpful” 1s coded as a q”
‘ime specific” is coded as {if] gggfe\_ap”

“Focus @sgeciﬁc_ hours” is coded as “yh gd tn(sk”

Passage for Question 36, 37, 38, 39, 40 (ST-2062RRBPOMAINS(36-40R)2020-NP)
eng/eng Passage

Study the following information carefully and answer the questions:

et Tt F 1 a\IEF Ae7TTFL A TTAT FTITLR:

Ten persons are sitting in 2 parallel rows containing 5 persons in each row. In Ist row A, B, C, D and E are seated and are facing south. In 2nd row, U, V, X, Y
and Z are seated and are facing north. Therefore in the given seating arrangement, each member seated in a row faces another member of the other row. They like
different colours Red, Orange, Blue, Brown, Black, White, Yellow, Pink, Green, and Grey (not necessarily in same order).

A doesn’t like brown and D likes black. Y sits third to the left of U, who likes yellow. A faces immediate neighbour of Y, who likes orange. The one who likes
Green sits at extreme end. C sits second to the right of A. The one who likes red faces the one who likes pink but A doesn’t like pink. Only one person sits
between B and D. V and Z are immediate neighbours. Z does not face A and B, who doesn’t like grey. The one who faces U likes white. The one who faces an
immediate neighbour of Y likes brown.

T Ufeh § 5 SATRAT aTer 2 FHETAY il § 36 A 95 1 g Uke H A, B, C, D ST E 9% g T aferoy Y s 3@ vy 81 @ Ut #, U, V, X, Y
T Z 95 8 3T I AT AT I T &1 TAY &1 TS T T AGEAT §, UH Ul<h | S3T T AF TG TAL UTeh 6 95 77 HIT il A7 79 LT g Ire, AT
ST 33T AT, AT, AT, G, FTAT, TS, TTAT, AT, FIT ST I (THT 21 7 | 31 Tg TR Aal) T3 &

AT ST 7 T6E 81 @ 1T D &1 AT WM 969E gl Y, U 70 6L 419 92 F37 2, T 191 397 968 81 A, Y % TohTel TSI & 976 g, ST AT 4397 994
FLAT g BT TN THE FIA ATAT ATAH BT IT 3T gl C, A F &0 TALT F3T g1 T ST ATA W7 THE FXAT & T AT T THE F2 ATl o AT g, ATheT A
T AT WM THE Aal g1 B 3T D & &1+ el U ARE 95T g1 V 3T Z T T2 21 Z, A 3T B % ATH el 8, ST I 7 THE 75l H2dr gl a8 It U
T g HT T W1 T98 g1 T8 ST Y o TRl TTHT 6 G g, SH 97 [ 09T gl

eng hin Passage

Study the following information carefully and answer the questions:

frafafaT ITTHTE8 7T LAY F HETTTHF ATTATHTIAIR:

Ten persons are sitting in 2 parallel rows containing 5 persons in each row. In 1st row A, B, C, D and E are seated and are facing south. In 2nd row, U, V, X, Y
and Z are seated and are facing north. Therefore in the given seating arrangement, each member seated in a row faces another member of the other row. They like
different colours Red, Orange, Blue, Brown, Black, White, Yellow, Pink, Green, and Grey (not necessarily in same order).

A doesn’t like brown and D likes black. Y sits third to the left of U, who likes yellow. A faces immediate neighbour of Y, who likes orange. The one who likes
Green sits at extreme end. C sits second to the right of A. The one who likes red faces the one who likes pink but A doesn’t like pink. Only one person sits
between B and D. V and Z are immediate neighbours. Z does not face A and B, who doesn’t like grey. The one who faces U likes white. The one who faces an
immediate neighbour of Y likes brown.

e IR # 5 PRI AT 2 AT TR 2 SR 3 2 mee tRE F A, B, C, D 9 B3 # e 2R i e 3w w3 8 g iR R UV, X Y
T Z 9 ¢ 3T 3T AT MY 7@ T 81 THNT & T S5 1 a1 |, U ufh § 927 ToIF gae7 ol Ufth & 95 o7 937 il AT 39 W27 3| Ivg T-
ST 33T AT, AT, AT, G, FIAT, THE, TTAT, AT, T 32 A (SHT ET HF | g g =41 Aal) THE 2

AT T T I8 Tl ¢ 3T D T FAT I THT g1 Y, U F a0 dr6y w19 92 Fo7 &, o I1er [1 0612 81 A, Y 3 TohTe TSI6T 6 910 8, ST ATt 47 969
FIAT 1 G WM THE F7A 1T AT B a2 F3T 81 C, A F U FHIT 43T | G ST ATA T TS FIAT 8 qg AT T[T THE FZeA FTel o6 qTHA g, ATRT A
FT [ATET 7 THE A51 81 B 3T D % 1= Fae U oATh 987 g1 V 37T Z T TSI6T 5l Z, A 37T B F |THA A5l &, ST I T 68 Tl Fxar gl ag S UF
ATAA § T T 47 THE g1 98 ST Y 5 qehrel TSI 5 T 8, 9 927 37 761 31

Q-36 How many persons are seated between B and the one who likes white?

eng/eng B #iTY Othe THE FL a1l SH1<F a9 {h - SATh 95 g?



Q-36

eng hin

01.

03.

0s.

How many persons are seated between B and the one who likes white?

None
EIEE K
Two

T

None of these

ZTH & ATE T

02. One
r\]"q?

04. Three
LIGH

B 31T @3 THE FT AT AT<h & A1 [ 1<k 95 82

01. None 02. One
FTE TRl oE
03. Two 04. Three
ar =
05. None of these
TAH F ATE TRl
Solution for Question 36 Ans Key: 3
eng/eng
BROWN BLUE RED BLACK  WHITE T TRTAT k- ord
C B A D E B D E
¥ Y Z U Y Z
GREEN ORANGE PINK GREY YELLOW T I TteAT
BROWN BLUE RED BLACK  WHITE HteAT AT TR
( B o D E B D E
X Y Z L Y Z |
GREEN ORANGE PINK GREY  YELLOW AT b T
Q-37 ‘Who among the following faces D?
eng/eng ﬁ'ﬂﬁf@ﬁﬁ@rﬁﬁD%W%‘?
01. U 02. The one who likes pink
03. X 04. B
0S. The one who likes grey.
TR T Ee g
Q-37 Who among the following faces D?
eng hin feferfea & & 19 D % a7 22
01. U 02. The one who likes pink
g S @ TroEe g
03. X 04. B
05. The one who likes grey
TR I IET g
Solution for Question 37 Ans Key: 5




eng/eng

BROWN BLUE RED BLACK  WHITE ‘ﬁi T T i TRIAT lﬁﬁ
2 B A D E C B A D E
- I o | l
| ! ' | v . v v
v v v v
n 4 L A i7 A $
L & F & & 4 b b b )
X Y v & u X Y v Z U
GREEN ORANGE PINK GREY YELLOW Eiu AWt TETET T =T

-

eng hin
BROWN BLUE RED BLACK  WHITE T e i WAl R
C B A D E C B A D E
- I da | | l
4|r l I | v v ¥ v
¥ ¥ ¥
X Y Vv z U X Y Y z U
GREEN ORANGE PINK GREY  YELLOW FLl AT AT I T

Q-38  Which of the following is true regarding A?
engleng A Hag # Mufriad # 9 Fi @1 7@1 22

01. B and X are immediate neighbours of A 02. A sits at one of the extreme ends of the line

B 3f¥ X, A % TETHT & AR F Sifaw el # 7 U 9¥ J3a1 2
03. A likes black. 04. D sits immediate left of A

A FT FTAT T6E g D, A% qXd T8 J3aT 2
05. None of these

TAH HHE Tol

Q-38  Which of the following is true regarding A?
eng hin A% &g # Fofrad & § %7 @1 781 22

01. Band X are immediate neighbours of A~ 02. A sits at one of the extreme ends of the line

BT X, AF USHT & AUTRF F 9w B § 9 UF 9T JodT 2
03. A likes black. 04. D sits immediate left of A
AT AT T6T 2 D, A % T 0 a1 &
05. None of these
it 37 A7E A
Solution for Question 38 Ans Key: 4
eng/eng
BROWN BLUE RED BLACK  WHITE TT =T e TRIAT ﬂaﬁ
C B A D E C B A D E
} — | | |
'y & & A A
t 1 | ! .t 1 R
X Y v Z U X Y v Z u
GREEN ORANGE PINK GREY YELLOW T AT Eﬁ'ﬁ} T =T
eng hin
BROWN BLUE RED BLACK  WHITE TT =T =TT THIAT k= s
C B A D E C B A D E



¥ v v ¥ A\

4 " 4 s 4 4 A A A 4

X Y v Z u X X ‘Iv Z U
GREEN ORANGE PINK GREY YELLOW e AT TS T =T

Q-39  Who amongst the following pair sits exactly in the middle of the rows?
engleng THETCIEra STTET # 7 1 dfvrai 6 St o= # 271 82

01. AZ 02. DY

03. None of these 04. U,B
TAH qFIS Tl

05. A,V

Q-39 ‘Who amongst the following pair sits exactly in the middle of the rows?

eng hin  AEferferd STt & & 1 dfvwat % 21 o= § 971 22

01. A Z 02. DY
03. None of these 04. U, B
TAH A FIS Tl
05. A,V
Solution for Question 39 Ans Key: 5

Q-40  V likes which of the following colour?

V &1 95 8 & #9739 96 22
01. Brown 02. Pink
G LSIE]
03. Black 04. White
FTAT THhe
05. None of these
TAY A FTE A8l
Q-40 V likes which of the following colour?
V & 95 8 " i | 9 I 22
01. Brown 02. Pink
LT T
03. Black 04. White
AT qThe
05. None of these
i S
Solution for Question 40 Ans Key: 2
eng/eng
eng hin

Q-41 In the following number series, a term is wrong. Find the wrong term.
eng/eng AT HEAT f@ATH TH AT TAT ]| TAT TIATT HI{S0R |

1256 976 1116 1046 1081 1036.5
01. 1036.5 02. 976
03. 1081 04. 1116
05. 1256

Q-41  In the following number series, a term is wrong. Find the wrong term.
enghin ERTATISTEATH TF T 79T 81 TAT T qTT FIAR |



1256 976 1116 1046 1081 1036.5

01. 1036.5 02. 976
03. 1081 04. 1116
05. 1256
Solution for Question 41 Ans Key: 1
eng/eng — 280, + 140, — 70, +35,-17.5
eng hin - 280, + 140, - 70, + 35, - 17.5
Q-42 In the following number series, a term is wrong. Find the wrong term.
engleng MEMTAT AT HEATH TH 7T TAQ g1 TAT T AT HITor )
200 221 2883 6192 29840 239325
01. 221 02. 2883
03. 6192 04. 239325
05. 200
Q-42  In the following number series, a term is wrong. Find the wrong term.
Rafafag dear faar § vs vz 9a 81 797 77 779 FI™03)
200 221 2883 6192 29840 239325
01. 221 02. 2883
03. 6192 04. 239325
05. 200
Solution for Question 42 Ans Key: 2
x05+1x 112, x1+2x 113, x2+3x 112, x4+4x 113, x 845 x 112
x05+1x 112, x1+2x 113, x2+43 x 112, x4+4x 113, x 8 +5 x 112
Q-43 In the following number series, a term is wrong. Find the wrong term.
£ TEATHEATH THAITAD ¢ | TAT IS ATT |
Aty " Fra
125 248 790 3285 17050 105425
01. 105425 02. 17050
03. 790 04. 125
05. 248
Q-43 In the following number series, a term is wrong. Find the wrong term.
enghin AT e fE@aTd ¢F 92 T9q 31 TAT 7T qTT HIR™AR
125 248 790 3285 17050 105425
01. 105425 02. 17050
03. 790 04. 125
05. 248
Solution for Question 43 Ans Key: 5

eng/eng

2450 x3+5% x4+55, x5+5% x6+5

eng hin

2+50 x3+52, x4+5, x5+5% x6+5

Q-44

eng/eng

In the following number series, a term is wrong. Find the wrong term.
Freafafadearfaard ts 7797 g1 TAT ITATT FITAT 1

2 13 27 113 561 3369



Q-44

eng hin

01. 561 02. 13
03. 2 04. 113
05. 27

In the following number series, a term is wrong. Find the wrong term.

fafrfaa deaT @@ # TF T3 7T 1 TAT 4T FTT I 1.

2 13 27 113 561 3369

01. 561 02. 13
03. 2 04. 113
05. 27

Solution for Question 44

eng/eng 2x2+7

Q-45

eng/e

Q-45

eng hin

11x3-6

27x4+5

113x5-4

561%6+3

So 11 should come at place of 13.
2x2+7

11x3-6

27%x4+5

113x5-4

561x6+3
Tq:13 F TATH 9 11 AT

2x2+7

11x3-6

27%4+5

113x5-4

561%x6+3

So 11 should come at place of 13.
2x2+7

11x3-6

27%x4+5

113x5-4

561x6+3

213 % T 92 11 0T

In the following number series, a term is wrong. Find the wrong term.

AafafEgaeaT AT ® TH I T 8| TAT T ATT 10T |

32 B0 il 253 467

01. 467 02. 65
03. 253 04. 39
05. 32

In the following number series, a term is wrong. Find the wrong term.

afrfaa deaT @@ # TF I 7T &1 TAT 4T J7T I |

32 39 65 128 253 467

01. 467 02. 65
03. 253 04. 39
05. 32

Solution for Question 45

eng/eng

32 39 65 128 252 467

I I
71 2f Bf 114 ZTf

251 31 41 5-1 61

Ans Key: 4

Ans Key: 3



eng hin

32 39 65 128 252 467

R O O
?i 216 Gf 114 215

251 3%1 41 5.1 -1

Q-46  The sum of four consecutive even numbers is greater than sum of three consecutive odd numbers by 69. If the sum of last odd and even number is 59, then
eng/eng  find the product of smallest even and odd number.
FTE FARTT TR HEATHA HT AR AT 0T FARTT HLATH F AR H 69 A8 g i3 sifaw FFroe sire a9 sweam &7 70 59 €, 71 9a9 S foww siv
T HEAT T [UAHA AT ST
01. 690 02. 686
03. 700 04. 305
05. 570
Q-46 The sum of four consecutive even numbers is greater than sum of three consecutive odd numbers by 69. If the sum of last odd and even number is 59, then
eng hin  find the product of smallest even and odd number.
FTY FHNTT T HEATA T TR A (0T FHRIT ST 6 TR 69 e g1 7t sifaw o sfe a9 gt &1 307 59 2, 97 999 @ret fauw i
T TEAT FT O AT I
01. 690 02. 686
03. 700 04. 805
05. 570
Solution for Question 46 AnsKey: 5
Let 4 consecutive even number are x, x+2, x+4, X+6
again let 3 consecutive odd number are y+y+2+y+4
Now,
(xHxH24x+H4+x+6) — (yHy+2-+y+4) = 69
4x+12-3y+6 = 81
4x — 3y =63 -------- (D)
x+6+y+4 =59
Xty = 49------- 00))
from (I)+(II)
7x =210
Xto )
y=19
Required Answer = 30x19= 570
HTAT 4 FHETT ’:F’e_’«l'l'l'f X, Xx1+2, x+4, x+6 g
T HIAT 3 FARIG (G600 §&AT0 y+y+2+y+4 5
(Xtx+2+x+4+x+6) — (y+y+2+y+4) = 69
4x+12-3y+6 = 69
4x — 3y =63 -------- @
x+6+y+4 =59
xty = 49---—--- (€0))
O+ &
7x =210
x =30
y=19
FTE I = 30x19= 570
eng hin  Let 4 consecutive even number are X, x+2, x+4, x+6

again let 3 consecutive odd number are y+y+2+y+4
Now,
(x+x+2+x+4+x+6) — (y+y+2+y+4) = 69
4x+12-3y+6 = 81
4x — 3y =63 ----—--- (D
x+6+y+4 =59
Xty = 49---- D
from (I)+(II)
7x =210
x =30
y=19
Required Answer = 30x19= 570
HTET 4 FHETT HEITU X, x+2, x+4, x+6 T



U WA 3 FARIT G808 H&qT0 y+y+2+y+4 2
A,

(X+x+2+x+4+x+6) — (y+y+2+y+4) = 69
4x+12-3y+6 = 69

4X — 3y = 63 --mmn- )

x+6+y+4 =59

O+ &

7x =210

x =30

y=19

efre 3T = 30%19= 570

Q-47 The average age of a family of four people, 5 years ago, was 40 years. 5 years from now, the ratio of oldest member’s age to the youngest member’s age
eng/eng Wwill be 18:7 and the ratio of present ages of other two member is 7:3. If the youngest member is 40 years younger than second oldest member, what is the
present age of oldest member?
5 TEA AT AN o6 TRATE 67 6 o 40 T =) 373 & 5 a9 I78, Ha9 T2 &7 1 31 FT qa8 FH g F T2 § 91 18 : 7 AT 37T
T I TR hT AAHT ST T A 7 : 3 Bl T T BeT HeT gAY G99 a8 &7 6l a1 § 40 T BT €, AT a9 g2 27 61 TaH
qT FATE?
01. 57 years 02. 62 years
5749 62 a9
03. 67 years 04. 72 years
67 T 72 T
05. 77 years
77 a9
Q-47 The average age of a family of four people, 5 years ago, was 40 years. 5 years from now, the ratio of oldest member’s age to the youngest member’s age
will be 18:7 and the ratio of present ages of other two member is 7:3. If the youngest member is 40 years younger than second oldest member, what is the
present age of oldest member?
5 T qgel FATT AR 6 TIATE AT 9T A7 40 79 1| o1 & 5 9 72, FH oS HET 01 1Y T T8 FH AL F T & AT 18 : 7 T AT
T 3T TEEAT 0T a9 17 HT AT 7 2 3 1 TS A9 el 2w gAY 999 98 9867 i qaqT § 40 a9 PreT g, a1 79 92 g7 il Taaq=
AL FATE?
01. 57 years 02. 62 years
5799 62 a9
03. 67 years 04. 72 years
67 T 7
05. 77 years
77 a9
Solution for Question 47 Ans Key: 3
a-5+b-5+c-5+d-5=40x4
atb+c+d=180.......... 1)
a+5 18
d+5 7
Ta-18d=55...... (i1)
d+40=b......... (iii)
blc=7/3......... (@iv)
Solving the above four equations we can get,
a= 67 years
a-5 + b-5 + c-5 + d-5 =40x4
atb+c+d=180.......... @@
a+5 18
d+5 7
7a-18d=55 ...... (i)
d+40=b......... (iii)
ble=7/3......... (@iv)
Tt Tl T g A T H T HT
a=67aq
enghin  a-5+b-5+c¢-5+d-5=40x4
atb+c+d=180.......... @)
a+5 18
d+5 7
Ta-18d=55 ...... (i1)
d+40=b......... (iii)

ble="7/3......... (iv)



Solving the above four equations we can get,

a= 67 years
a-5+b-5+c-5+d-5=40%x4
a+tb+c+d=180.......... (i)

a+5 18

d+5 7

7a-18d=55 ...... (ii)

d+40=b......... (iii)

ble=7/3......... (iv)
AT FHIFHTOI FT 3 I T H ITH FHT
a=67aq

Q-48 Six coins are tossed simultaneously, find the probability of getting 4 tails or 3 heads.
engleng e (T T TF AT ISTAT ST 2, 4 T A7 3 ofed ST e T Framn st hrford

01. 1/8 02. 1/4
03. 17/64 04. 35/64
05. 12

Q-48 Six coins are tossed simultaneously, find the probability of getting 4 tails or 3 heads.
enghin = (T &1 TF AT IHTAT ST 7, 4 & 47 3 ofed arat ey v Fwvemn sty Frford

01. 1/8 02. 1/4
03. 17/64 04. 35/64
05. 12
Solution for Question 48 Ans Key: 4
. il C ; _f‘ C,_ 3 -
PE)=—"—2=""
2 64
; b¢.+Pe. 35
=T el s
2 64

Q-49 The SI on certain sum of money for 15 months at rate of 7.5% per annum exceeds the SI on same sum at 12.5% per annum for 8 months by Rs. 2437.50.
Find the sum.
Tt 7.5% FT ITH 15 A = for = At Tfer o et sarst awm 70fer 9% 12.5% i o 3 27 & 8 Wgia o |Temeor s 7 2437.50
=TT ST g1 qeAeT ST Rt |

01. 211000 02. 234000
03. 312000 04. 408500
05. None of these

TAH o FIS T

Q-49 The SI on certain sum of money for 15 months at rate of 7.5% per annum exceeds the SI on same sum at 12.5% per annum for 8 months by Rs. 2437.50.
eng hin  Find the sum.

Tt a9 7.5% FT T H 15 7L F forw g Afera rfer aw et sarst a9 Tfer aw 12.5% i) a3 27 & 8 WEiA o ATLTer AT 7 2437.50
=T ST g1 qeAeT 1 Frford |

01. 211000 02. 234000
03. 312000 04. 408500
05. None of these
TAH H IS T
Solution for Question 49 Ans Key: 2

eng/eng (S.1.)4 - (S.1.)2 =2437.5

= 7.5x15 12.5x8
1200 1200
P =234000

eng hin (S.1.)1 - (8.1.)p =2437.5

}=243?.5

FrMe.46 40 5w 0]



F m R TR W N o, - .

P & =2437.5
1200 1200
P = 234000
Q-50 12 men and 16 women together can complete a work in 26 days while 10 women and 18 children together can complete the work in 20 days. Also, 8 men
eng/eng and 16 children can complete the work in 25 days. 1 man, 1 woman and 1 child start the work and from 2nd day onwards every day 1 new man, 1 new
woman and 1 new child join the work. On which day the work shall be completed?
12 T&Y 1T 16 AIZATT U F71F 26 AT § T FT Gl & STt 10 TGO 37T 18 a7g UH 772 20 A7 H F7TH QT FT 99 2| 8 T ¥ 16 a9
25 foT § 19 QT FT T g1 1 ey, 1 AT 3T 1 agt &1 & #:7d o 3o Ra a g faq 1 7o q2w, 1 92 afgen sie 1 /v agrwd &
AT B 3| F14 o e 27 gm?
01. 20th day 02. 21stday
203 fa 213 &
03. 22nd day 04. None of the above
2% fe T & A TE ALY
05. Cannot be determined
Rt 981 T s awar g
Q-50 12 men and 16 women together can complete a work in 26 days while 10 women and 18 children together can complete the work in 20 days. Also, 8 men
eng hin  and 16 children can complete the work in 25 days. 1 man, 1 woman and 1 child start the work and from 2nd day onwards every day 1 new man, 1 new
woman and 1 new child join the work. On which day the work shall be completed?
12 =9 3f¥ 1(WWTW°69ﬁﬁWTTHﬁ§W& 10 AT 3T 18 g wa Ay 20 AT & 19 T F7 9% &1 8 [ET 3fT 16 99
25 o1 & FTH [T FT T gl 1 SEHY, 1 FIEAT 37T | g7 FTF F Fd g 307 gAY 3 F g7 &7 | 797 72w, 1 92 9fgar oiv | /gy agr &g §
AT rd g 1 o6 & 27 g
01. 20th day 02. 21stday
203 fas 219 2w
03. 22nd day 04. None of the above
N FRT TAY A FIE Al
05. Cannot be determined
fratfa 72t T st asar §
Solution for Question 50 Ans Key: 2

LCM of 26, 20 and 25 = 1300
Let the total work be 1300 unit

26(12m + 16w)=1300 ......... (1)
20(10w + 18¢)=1300 ......... (i1)
25(8m + 16¢)=1300 .......... (1if)

On solving equation (i), (ii) and (iii);

We oofSm. =45, w = 2 @idic =%

Work done on day 1 = 1.5+2+2.5 = 6units
Work done on day 2 = 12 units

Work done on day 3 = 18 units

Let the work is completed on nth day
6X1+6X2+ ............. + 6n = 1300
6n(n+1)/2 = 1300

3n(nt+1)= 1300

The smallest integer value of n satisfying the above equation will be the required number of days
Forn>20

So the work wil be finished on 21st day.
26, 20 TAT 25 &1 7.9.9.= 1300

HTAT A F0 1300 THTE 2
26(12m + 16w) =1300 ......... (i)
20(10w + 18¢) = 1300 ......... (ii)
25(8m + 16¢)=1300 .......... (iii)
(i), (i) T (iii) T T FLA TT
FH TH F4

m=1.5 w=2andc=2.5

wger foe FoRaT T T = 1.54242.5 = 6 THTS
ZE & foart s e = 12 2re

e e o o & = 18 T3 Te

AT F714 n 31 § q979 gR 0T

6X1 +6X2+ ..., + 6n = 1300
6n(n+1)/2 = 1300

3n(n+1) = 1300

S FHIHOT T P T AT U n G Blel QUNS Jod aeqa (&1 it sraeaaar i
ST % n > 20

o &1 21 F 3 FHT g



enghin  LCM of 26, 20 and 25 = 1300
Let the total work be 1300 unit

26(12m + 16w) = 1300 ......... 0)
20(10w + 18¢)= 1300 ......... (i)
25(8m + 16¢)= 1300 .......... (iif)

On solving equation (i), (ii) and (iii);

We get, m=1.5,w=2andc=2.5

Work done on day 1 = 1.5+2+2.5 = 6units
Work done on day 2 = 12 units

Work done on day 3 = 18 units

Let the work is completed on nth day

6X1 +6X2+ ...l + 6n = 1300
6n(n+1)/2 = 1300

3n(n+1) = 1300

The smallest integer value of n satisfying the above equation will be the required number of days
Forn>20

So the work wil be finished on 21st day.
26,20 AT 25 1 1.9.9.= 1300

HTAT T 1 1300 THTE 2
26(12m + 16w)=1300 ......... (i)
20(10w + 18¢) = 1300 ......... (ii)
25(8m + 16¢)=1300 .......... (iii)
(i), (i) AT (iii) T T FLA T

m=15 w=2andc=2.5

g fae foha T e = 1.54242.5 = 6 s3TS
Fo< o fo et = 12 TS

T fom BT T 1 = 18 gahTe

[T 19 n &1 § T4 2R

6X1+6X2+ oooiiiii. +6n=1300
6n(n+1)/2 =1300

3n(n+1) = 1300

ST 3 n > 20

oq: 1 21 F f27 a9 R

Passage for Question 51, 52, 53, 54 (ST-2062RRBPOMAINS(11-14M)2020-NP)
eng/eng Passage

In Asian games]st race is between Kapil and Sachin of 800m, Kapil runs with a speed of 50m/sec and Kapil won the race by 40m. While in 2nd race of 600m
between Sachin and Karan, Karan runs with a speed of 45m/sec and Sachin won the race by 60m. 3rd race is 900m between Ranbir and Ranveer, Ranbir runs 1/3
times faster than Karan and Ranveer runs with a speed of 54m/sec.

TITE Tt H 800 HieT FiT Tt aTe HIU ST |= & o1 &, Hiue 50 HeT / T i THA F F12dT & T FHioer 40 Hex F a7 ¥ IIe Shaar 2|
af= siie 37 % fi= 600 Hiew £ gELT I |, T 45 Hiew / T FT TR T =dT 2 ST = 60 Hex F e 7 272 Sfadr g1 e si¥ Tori & i
a“mﬁm%oﬁmaﬁ%w LU, T T GGl T1/3 ‘;F!Tiﬁf? ST AT 54 WY / e i THIT F SrEar 2

eng hin Passage

In Asian games| st race is between Kapil and Sachin of 800m, Kapil runs with a speed of 50m/sec and Kapil won the race by 40m. While in 2nd race of 600m
between Sachin and Karan, Karan runs with a speed of 45m/sec and Sachin won the race by 60m. 3rd race is 900m between Ranbir and Ranveer, Ranbir runs 1/3
times faster than Karan and Ranveer runs with a speed of 54m/sec.

uforTE Gt § 800 Ha¥ T qgelt 2ie iUt iz af~m % = 2, et 50 Hew/ T i T 7 gigar & 3T wfuer 40 Hex 3 a7 ¥ &g sfraar &)
A= & F39 % A= 600 Hie £ T 32 |, T 45 Hiew / qae 6T TR T I2qT 3 AT = 60 He? F iqe 212 Siadr gl F ¥ T F fi=
FEY 12 900 e i | T, FA T AT § 1/3 AT A g ¥ AT 54 Hiaw / Fohe &7 TH F Sr=aT 8

Q-51  Find the speed of Sachin in 2nd race.
eng/eng Hﬁ?sﬁ§ﬂ'&ﬁ3ﬁﬂﬁaﬂ =

01. 50m/sec 02. 30m/sec

50 Hev/Awe 30 HrevAmFe
03. 40m/sec 04. 45m/sec

40 Hrew/mse 45 Hrev/mae
05. None of these

TAH A HIE AL

Q-51  Find the speed of Sachin in 2nd race.
eng hin A= FT ZoT &2 7 Tfq Faqred



Solution for Question 51

01. 50m/sec 02. 30m/sec

50 HevaEe 30 HevmFe
03. 40m/sec 04. 45m/sec

40 Hrev/ATe 45 frev/aae
05. None of these

TAH H (S qel

eng/eng

Q-52

Q-52

eng hin

Solution for Question 52

2" race of 600m between Sachin and Karan, Karan runs with a speed of 45m/sec and Sachin won this race by 50m so = 600- 60=540m

: 540
Time taken by Karan = i = 12sec

% 3 600
Speed of Sachin is = T 50m/sec
af=e i #5737 % = 600 Hiew £ St o 737 45 Hew/Aae it 7f e dear 8 s af== 7 50 #ex 7% 79 <42 &7 Siar a1 = 600-60 Hex

540 i
mﬁmmwwﬁzlzm

g Firfa = —50n°rr&

2" race of 600m between Sachin and Karan, Karan runs with a speed of 45m/sec and Sachin won this race by 50m so = 600- 60=540m
540

Time taken by Karan 2s€ec
T

600

Speed of Sachin is S0m/sec

i ¥ F79 F a9 600 Hiew 1 2rg O 3T 45 Hiew/Ade F¥ Tq o q1 S2dT 2 i< A= 7 50 H1eT T 9 2 1 o{iar ar = 600-60 He

240

T FIT 1o 3T T 90T =

~ e 600 o
g ——=50 H.A.

Find the speed of Sachin in 1st race?

Tt &t agelt 3g ¥ 13 T
01. 40m/sec 02. 25m/sec

40 Yrez/mae 25 frez/mTe
03. 47.5m/sec 04. 20m/sec

47.5 Mezmae 20 fez/mTe
05. None of these

TAH T FIS ARl
Find the speed of Sachin in 1st race?
Tz #T qgeft I 7 7T Farza?
01. 40m/sec 02. 25m/sec

40 Hrew/mse 25 Hiew/mae
03. 47.5m/sec 04. 20m/sec

47.5 dexATE 20 Hre/mae
05. None of these

=73 28

eng/eng

; 800
Kapil speed = 3 =16m/sec

800-40

Sachin speed = e O 47.5m/sec

s afy = 500 e de

qﬁqaﬁwﬁr:w ey dehe

Ans Key: 1

Ans Key: 3



eng hin

800

Kapil speed = Y =16m/sec

800

-40

Sachin speed =———
16

Rt =500 e e

50

afm =994 oy e

16

Q-53

eng/eng

01. 80m

80 fiex

60m
60 Hax

None of these

TAH A T

03.
05.

Q-53

= 47.5m/sec

By how much meter Ranbir won this race?

TSI F AT TS T Bhae Hiex F iae F Sar ?

02.

04.

By how much meter Ranbir won this race?

TOTIT ST AT A1 Foha Hiew & siae | Siar ?

01. 80m

80 Hrex

60m

60 Hiex

None of these
Solution for Question 53

03.

05.

02.

04.

900

Time taken by Ranbir to complete the race = ——

60

Distance travelled by Ranveer = 54x10 = 540m
Ranbir won this race by = 600-540 = 60m

TSI ZTRT EE AT T H% & (o foraT I3 59T =900/60= 15sec
TOTIT GTRT T 1 AT FLT = 54 X 10= 540 Hiex
TSI A 39 &1 0 S(al = 600-540 = 60 H1eZ FTT Sfar

Time taken by Ranbir to complete the race =

900

60

Distance travelled by Ranveer = 54x10 = 540m
Ranbir won this race by = 600-540 = 60m

UL G &IE @l G20 H% @ (0 (4T T41 699 =900/60= 15sec
TUTETT G a7 AT T L = 54 x 10= 540 Hiex
TUTETT F 28 ETE 0 ST = 600-540 = 60 HZT FTT S{iT

144m
144 ez

36m
36 Hiex

144m
144 Hiex

36m
36 Hia¥

Ans Key: 3

15sec

=15sec

In 4th race of Asian games 3 persons are in the games-kapil, Karan and Shailesh. Kapil runs 15% faster than his speed in 1st race. Karan runs 1/5 times
slower than his 2nd race. Ratio of Sachin and Shailesh speed is 19 : 17.The race is of 9775 meter. Find by how much meter winner won the race with

UfSrTE Tert Ay SreAY SE H 3 AT U, FA ST Grorer Bl FwU STt wgeAt e A A FH 15% Jof T AT 8, FIA AT gAY JAE A qeAAT §
1/5 AT fTHT AT & IT=AT 2| A= T rerer &7 i 7 Aqa1d 19:17 ) TS 22 9775 HieT T g1 AT 3T  feorar ua sifaw =4t oae &1 @

Q-54
eng/eng
respect to the last runner?
#1213 A= A T T ST FqrsA?
01. 2650 m 02.
2650 Hiex
03. 2800 m 04.
2800 HTex
05. None of these
e tL i
Q-54
eng hin

respect to the last runner?

TITE Gt T =AY S | 3 T -hT0er, e 3T Sever 1 oot STait Tgetl <1 T 1 | 15% ISt F ST ¢, FET A9+ ol 218 6T gt §

2550 m
2550 {2

2500 m
2500 #iex

In 4th race of Asian games 3 persons are in the games-kapil, Karan and Shailesh. Kapil runs 15% faster than his speed in 1st race. Karan runs 1/5 times
slower than his 2nd race. Ratio of Sachin and Shailesh speed is 19 : 17.The race is of 9775 meter. Find by how much meter winner won the race with



1/5 TAT efreft a1 & grar g1 af= s drerer €1 a1fa o7 srqara 19:17 81 7% 2 9775 diew 1 &1 a1 e F fAsar v sty =rfe S die @

T &1 I = T L T AT aarsa?
01. 2650 m 02. 2550 m
2650 Hiex 2550 Hiex
03. 2800 m 04. 2500 m
2800 Hiex 2500 Hiex
05. None of these
TAH T FIE Aol

Solution for Question 54

eng/eng

Q-55
eng/eng

Kapil speed- 115 % (50) =57.5 m/sec

Karan speed- 80 % (45) = 36m/sec

Shailesh speed-

Ratio of Sachin and Shailesh speed is 19:17

19k=47.5

K=2.5m/sec

Shailesh speed- 17k

-17x2.5

-42.5 m/sec

Time taken by kapil to complete the race-9225/57.5= 170sec
Distance travelled by Shailesh- 42.5x170=7225m

Gap between winner and the last one- 9775-7225=2550m
FOer T TA- 115% (50) = 57.5 HieT / TFhe

FYA - 80% (45) =36m/ TFHE

EREIRIC]

A= T drerer T FT AqaTa-19:17
19k =47.5
k=2.5 #i/a+e

drerer T T -17k

grerer FrAfa -17 x 2.5

grerer T AT -42.5 Hex / FFhe

<TE 1 T F7 F forg et grer fora rm a0 = = 1709+
QIeTST BT T T T T -42.5 x 170 = 7225 Hiex

FerSTAT 3T ST =k & A= 21- 9775-7225 = 2550 Hiex

Kapil speed- 115 % (50) =57.5 m/sec
Karan speed- 80 % (45) = 36m/sec
Shailesh speed-
Ratio of Sachin and Shailesh speed is 19:17
19k=47.5
K=2.5m/sec
Shailesh speed- 17k
-17x2.5
-42.5 m/sec
Time taken by kapil to complete the race-9225/57.5= 170sec
Distance travelled by Shailesh- 42.5x170=7225m
Gap between winner and the last one- 9775-7225=2550m
iU T A= 115% (50) = 57.5 Hiex / &
FLA A= 80% (45) =36m / TFE
MEREIRIT]
Tz ST drerer T T SIITa-19:17

19k =47.5

k=2.5 #I/A%E

greter AT AT -17k
AT HT AR -17 x 2.5
grerer Y AT -42.5 Hew / FFe
TS T T F2A % [0 0o g7 o1 7§97 = = 17084
Srerer T a7 T AT T -42.5 x 170 = 7225 Hiex
farsTaT ¥ s =afr & &= g2- 9775-7225 = 2550 Hiex

Ans Key: 2

Find the value of x and y. If Red bag, Blue bag and White bag have 120, x and y balls with respectively, if Blue bag gives 150 balls to Red bag, he is left

with three and half as many balls as White bag. If together they had 180 more balls, each of them would have had 300 balls on an average.

X AT y T AT §3 | ST AT 9T, ATl o7 T AHT O H FAA: £ R0, x T y 2 2, T AT 90 T 907 150 HS 24T 2, AT I9F T qHE T %

@ T AT I AT ST F=AT g1 AT TR ©F F 9% 91 180 STEF A ZIeAT 7 IH F T4 H7 3ed 300 Tl F7 gra



01. 51 02. 15
03. 34 04. 45

05. None of these
TAH HAE Aol
Q-55 Find the value of x and y. If Red bag, Blue bag and White bag have 120, x and y balls with respectively, if Blue bag gives 150 balls to Red bag, he is left
eng hin  with three and half as many balls as White bag. If together they had 180 more balls, each of them would have had 300 balls on an average.
X 3T y FT A G | ST AT oW, el ST 3T TS /T H FHA: =0, x 3T y T3 &, ATZ AT ST AT W7 150 T IAT &, AT 3HH qTH THS T 6
&1 AT T T AT AT TAAT | TS FIh €T H 374 I 180 A2 A2 ZIeAT qT ITH & T4 7 3fed 300 T &7 gram

01. 5:1 02. 1:5
03. 3:4 04. 4:5

05. None of these
TIH A FIS Tl
Solution for Question 55 Ans Key: 1

eng/eng  (120+x+y+180)/3= 300
x+y= 600 ------- (1)
x - 72y =150
2x-Ty=300 ------ 2)
Solving eq (1) & (2)
x= 500, y=100
Then ratio x:y = 5:1
(120+x+y+180)/3= 300
x+y= 600 ------- (1)
Xx- 72y =150
2x-7y=300 ------ 2)
TH. (1) 377 (2) FT A F4 X
x= 500, y=100
A AT xty = 5:1

(120+x+y+180)/3= 300
X+y= 600 ------- (1)

X - 72y =150
2x-7y=300 ------ 2)
Solving eq (1) & (2)

x= 500, y= 100

Then ratio x:y = 5:1
(120+x+y+180)/3=300
xty= 600 ------- (D)

X - 72y = 150

2x-7y= 300 ------ 2)
HHT. (1) 3T (2) T & FA T
x= 500, y= 100

A AT xiy = 5:1

Q-56 in each of the following question, a question is followed by information given in two statement named as Quantity-i(Q1) and Quantity —ii
eng/eng (Q2). You have to study the information along with the question and compare the value derived from Quantity-I and Quantity-II. Then
answer -
Aafafag v & w3 s v F T gg g9=T 1d 99 7fAT- 1(Q1) it af o 11(Q2) # St it g | smw ww afgg gEAr 1
HETIT FTIRATO- 1 3T aRATO- 11 & 77 ATHT FT TAA1 F1Horad | ST AR -

Find the interest accrued on given sum of money.

30 g0 getee U7 AT AT A1 o)

Q1- If the sum of money 2400 is borrowed at the rate of simple interest 5% for 5 years.
Q2- The compound interest obtained on Rs.1520 for 2 years at the rate of 10 % per anum

Q1- 7TfT 2400 &, i TR 5% TFF T ATRTIOT AT q¥ 5 A forw Feme =t At gn
Q2- 1520 %. 9% 10% S a9 = forw =wsrefag =37t 72 2 a9 3 forg s =4 2

01. If(Q1)>(Q2) 02. If(Q1)<(Q2)
7tz (Q1)>(Q2) afT (Q1) <(Q2)
03. If(Q1)>(Q2) 04. If (QD=(Q2)
7tz (Q1)>(Q2) afx (Q1)<(Q2)
05. If (Q1)=(Q2)
7tz (Q1)=(Q2)

Q-56 In each of the following question, a question is followed by information given in two statement named as Quantity-1(Q1) and Quantity —II



eng hin

(Q2). You have to study the information along with the question and compare the value derived from Quantity-I and Quantity-II. Then

answer -

frreforfaa vt & 7 ® 17 F fg 8§97 09 I FI9 7HCa190- [(Q1) it T iAo 11 (Q2) ® St T § | swa wy afga gaaT #71

HETT FLIIATI- 13 T TFHATO- 1 77 ATAT FT AT Hriord | ST T -

Find the interest accrued on given sum of money.

20 gU geree 97 3uf= = S i)

Q1- If the sum of money 2400 is borrowed at the rate of simple interest 5% for 5 years.
Q2- The compound interest obtained on Rs.1520 for 2 years at the rate of 10 % per anum

Q1- 7T 2400 . ¥ TTFA 5% ST T ATLTIIT AT ¥ 5 A F forw Ieme =fF it g
Q2- 1520 %. 9% 10% i a9  forw =g fag = ww 2 a9 3 forw yrma = 2

01. If(Q1)>(Q2)
7tz (Q1)>(Q2)

03. If(Q1)>(Q2)
7tz (Q1)>(Q2)

05. If(Q1)=(Q2)
afT (Q1)=(Q2)

Solution for Question 56

eng/eng  Q1-25% of 2400= 600

Q-57

eng hin

Q2-21% of 1520=319.2
Q1>Q2

Q1-25% of 2400= 600
Q2-21% of 1520=319.2
Q1>Q2

Q1-25% of 2400= 600
Q2-21% of 1520=319.2
Ql>Q2

Q1-25% of 2400= 600
Q2-21% of 1520=319.2
Ql>Q2

02.

04.

If (Q1)< (Q2)
a2 (Q1) <(Q2)
If (Q1)=(Q2)

7T (Q1)<(Q2)

Ans Key: 1

In each of the following question, a question is followed by information given in two statement named as Quantity-1(Q1) and Quantity —II
(Q2). You have to study the information along with the question and compare the value derived from Quantity-I and Quantity-I1. Then

answer -

a1l & w3 S 99 F fU 8 g991 13 7T S99 TIAT- [(Q1) St T TfRHTor- 11 (Q2) # ST AT E | ST W qfgd GaAT & T

HEATT FTTICATI- [ T ITATU- [/ ITH ATAT HT qAAT HI0F | ST AR

A man sells a mobile at profit of 20%. How much amount he gains in profit?
T ST TF TaT2e 20% FT TH ITH AT ¢ | ATT F =g fohaeir T0fer Ir sear g 2

Q1 - If he sells a mobile for rs.2450 .

Q2 - He purchased a mobile set for Rs.18000 and sold it Rs.18500.

QI - 7f% 98 UF HiaTsd %.2450 § I9aT 2 |
Q2 - 7 U WraATZe 2 FT %.18000 H @HEAT § T %.18500 F I 2T 2 |

0L If (Q1)>(Q2)
7tz (Q1) > (Q2)

03. If(Q1)>(Q2)
7t (Q1) > (Q2)

05. If (Q1)=(Q2)
7t (Q1) = (Q2)

02.

04.

If Q1) <(Q2)
72 (Q1) <(Q2)
If(Q1)=(Q2)
72 (Q1) =(Q2)

In each of the following question, a question is followed by information given in two statement named as Quantity-I(Q1) and Quantity —II
(Q2). You have to study the information along with the question and compare the value derived from Quantity-I and Quantity-II. Then

answer -

fraforfaa w7 § 7@ ® 17 F fT 8§91 0 7 FI9 70q10r- [(Q1) it T afedATor- 11 (Q2) ® St w41 § | o w afga gaar 71

HEIIT HLINAT- 1 3 T TRAT- [ & TTH ATA $1 qAAT o | ST

A man sells a mobile at profit of 20%. How much amount he gains in profit?

T STEHT TF HIETSA 20% T ATH TTH FAT g | A9 § g Fhae Tfer am7 Fear 8 2

Q1 - If he sells a mobile for rs.2450 .

Q2 - He purchased a mobile set for Rs.18000 and sold it Rs.18500.

QI - 7f% a8 UF HraTsa €.2450 § I=AT 2 |
Q2 - 9 UF HIATSH J & %.18000 ¥ TLEAT ¢ 37¥ %.18500 H 5= 3T |



01. 1f(Q1)>(Q2)
7t (Q1) > (Q2)
03. 1f(Q1)=(Q2)
72 (Q1) =2 (Q2)
05. 1f(Q1)=(Q2)
7t (Q1) = (Q2)
Solution for Question 57

02.

04.

If (Q1) < (Q2)
7t (Q1) <(Q2)
If (Q1) < (Q2)
72 (Q1) <(Q2)

Ans Key: 2

eng/eng QI <Q2

enghin Q1<Q2

Q-58 In each of the following question, a question is followed by information given in two statement named as Quantity-I(Q1) and Quantity —II
eng/eng (Q2). You have to study the information along with the question and compare the value derived from Quantity-I and Quantity-II. Then

answer -

fraforfaa w7 § 7 ® 17 F fg 8§97 0 I FI9 70q10r- [(Q1) it T oAt 11 (Q2) ® &t w4t § | anw w afga gaar 71

HETIT HLANAT- 1 3T IRAT- [ & TTH ATA F1 qAAT Hiford | TR

Find the area of a rectangle.

AT T SHA AT o7 |

Q1- The area of rectangle is equal to the area of triangle whose base and height is 25 cm and 20 cm respectively.
Q2- If the length and breadth of a rectangle are in the ratio is 3:5 and its perimeter is 80 cm.
Q1 - ST FT &IARA I8 ST o &TAHA o HHIA ¢ [oTehl ST 37T ZATS HH: 25 FHT 377 20 HHT T |

Q2- TfT UF AT T AFTE 3T ATETS T SATATT 3:5 8 ST THHT TATT 80 HAT & |

01. If(Q1)<(Q2)
7% (Q1) < (Q2)

03. If(Q1)>(Q2)
72 (Q1)>(Q2)

05. If (Q1)=(Q2)
7T (Q1) = (Q2)

02.

04.

If (Q1)>(Q2)
7 (QD > (Q2)

If (Q1) < (Q2)
7T (Q1) =(Q2)

Q-58 In each of the following question, a question is followed by information given in two statement named as Quantity-1(Q1) and Quantity —II
(Q2). You have to study the information along with the question and compare the value derived from Quantity-I and Quantity-I1. Then

answer -

Aafafag v 8 T3S I F T §F G397 1F T FI9 TIAT- [(Q1) it T TRHTO- 11 (Q2) # ST AT E | ST W Afgd AT /T

HEIIT FTIRAT- 1 3T IRATO- [ & 77 AT H7T TAOAT HIord | I

Find the area of a rectangle.
AT T SAHA ST FITAT |

Q1- The area of rectangle is equal to the area of triangle whose base and height is 25 cm and 20 cm respectively.
Q2- If the length and breadth of a rectangle are in the ratio is 3:5 and its perimeter is 80 cm.
Q|- 3TAT FT &TTFA 37 IS F &ATHA % THI g STERT LT T 4TS FHL: 25 FHT 37 20 FH T |

Q2- 7% U s T TS ST ATSTE AT AT 3:5 § ST TERT THATT 80 FHT T |

01. 1f(Q1)<(Q2)
7t (Q1) < (Q2)
03. 1f(QDH=(Q2)
72 (Q1)2(Q2)
05. 1f(Q1)=(Q2)
7t (Q1) =(Q2)
Solution for Question 58

02.

04.

If (Q1) > (Q2)
7z (Q1) > (Q2)
If (Q1) < (Q2)
72 (Q1) < (Q2)

Ans Key: 1

eng/eng QI- 250 sq.cm
Q2- 375 sq.cm
Q1- 250 =7 =HT
Q2- 375 a7 FHT

eng hin  QI-250 sq.cm
Q2- 375 sq.cm
Q1- 250 =7 Tt
Q2- 375 a7 FHT

Q-59 In each of the following question, a question is followed by information given in two statement named as Quantity-I(Q1) and Quantity —II
eng/eng (Q2). You have to study the information along with the question and compare the value derived from Quantity-I and Quantity-II. Then

answer

freferfaa vt & v # v F g ge gaar g ) $a7 771 1(Q1) st T afwmor 11 (Q2) ® St w4t § | s ww afga gaar 71



AT FTIRATI- 1 37 T TRATO- 11 & I77 ATHT HY o Hra | ST AR

What is the age of Aseem at present?

TR T FA AL FATE 2

Q1- His present age is 4 times the present age of Ram and difference between their ages is 24 years.
Q2- Five years ago Aseem's age was 7 times the age of Mukesh .4 year hence this ratio becomes 3:1.
Q|- ITHT T AT T FT FAHTT AT 6T AT AT § AT IThT 1 A7 (AT 24 TH 2 |

Q2- I Y Tl STHIH T AT THer T 3 &7 7 AT § |4 T9 91 T AITT 3:1 T AT 8 |

01. If(Q1)>(Q2) 02. If(Q1)<(Q2)
7tz (Q1) > (Q2) X (Q1) <(Q2)
03. If (Q1)>(Q2) 04. If (Q1)>(Q2)
7f2 (Q1) > (Q2) 7tz (Q1) > (Q2)
05. If(Q1)=(Q2)
7tz (Q1)=(Q2)

Q-39 In each of the following question, a question is followed by information given in two statement named as Quantity-I(Q1) and Quantity —II
eng hin  (Q2). You have to study the information along with the question and compare the value derived from Quantity-I and Quantity-II. Then
answer
fraforfaa w1 § 7 ® I F fT |8 g1 0F 7 FI9 70Cq7100- [(Q1) it T oAt 11 (Q2) & St w4t § | sna w afga gaar 71
HEAIT FLAIHATI- 1 AT TRHATU- I F ITH ATAT H 1T AT H119 | ST LA

What is the age of Aseem at present?

ST T ATHTT L FATE 2

Q1- His present age is 4 times the present age of Ram and difference between their ages is 24 years.
Q2- Five years ago Aseem's age was 7 times the age of Mukesh .4 year hence this ratio becomes 3:1.
Q|- IHHT FAHT 3 TTH AT TAF AT T AT TAT 2 T I A7 F7 (A 24 a9 ¢ |

Q2- 7= Y Tl STEH T AT TAheT il I T 7 AT 2 |4 9 T8 T AT 3:1 T ST |

01. 1f(Q1)>(Q2) 02. If(Q1) <(Q2)
72 (Q1) > (Q2) 72 (Q1) <(Q2)

03. If (Q1)>(Q2) 04. If (Q1) > (Q2)
72 (Q1) > (Q2) 72 (Q1) = (Q2)

05. 1f(Q1)=(Q2)
72 (Q1) = (Q2)
Solution for Question 59 Ans Key: 2

Q1) <(Q2)
hin" (Q1) < (Q2)

Q-60 In each of the following question, a question is followed by information given in two statement named as Quantity-I(Q1) and Quantity —I1
(Q2). You have to study the information along with the question and compare the value derived from Quantity-I and Quantity-I1. Then
answer
ferforfaa vt & v & v % frg e gaeT v ) $97 771 1(Q1) sitT afwmon 11 (Q2) # €t 4t &1 sra wy afga gaar+71
HETTT FTIIATI- 1 3T TRATO- L& ST ATAT F1 AT Hrford | ITH e

What is the length of the train?
o Y TS AT B2

Q1 - The speed of train is 36 km/hr and it crosses a pole in 20 seconds.
Q2 - The length of train is twice of the length of plateform and a person crosses the plateform in 10 sec running at the speed of 10 m/s.

Q1 - 3 &1 =T 36 forei/deT & T I8 UF GFT &7 20 FHve § I FAT 21
Q2 - & T FAHTE WICHIH il TFATS T GIAT & 3T U ATh 10 H/A, AT 1 & AT gU WIEhH AT 10 FFHve § 977 F7aT gl

01. If(Q1)>(Q2) 02. If(Q1)<(Q2)
7tz (Q1) > (Q2) 7t (Q1) <(Q2)
03. If(Q1)>(Q2) 04. If(Q1)<(Q2)
7t (Q1) > (Q2) 7t (Q1) <(Q2)
05. If(Q1)=(Q2)
7tz (Q1) =(Q2)

Q-60 In each of the following question, a question is followed by information given in two statement named as Quantity-I(Q1) and Quantity —II
eng hin  (Q2). You have to study the information along with the question and compare the value derived from Quantity-I and Quantity-II. Then
answer
fraforfaa vt § 7 ® 17 % fg |8 ga7 0F ¥ FI9 70a10r- [(Q1) it T iAo 11 (Q2) ® St T § | sra wy afga gaar #71
HETTA FTIRATI- 1 T aRHATO- 11 & w1 ATAT A1 o H1ford | Sqefiford



What is the length of the train?
o T AT FATE?

Q1 - The speed of train is 36 km/hr and it crosses a pole in 20 seconds.

Q2 - The length of train is twice of the length of plateform and a person crosses the plateform in 10 sec running at the speed of 10 m/s.
QI - 3 & =T 36 TRH1/HeT § TAT T UF GFT &l 20 HH0E § I FdAT B
Q2 - I T FAHTE THEHIH I AFITS T AT § AT TF AT<h 10 HI/A. FT 1 H 318 U “EhH HI 10 FHUS H T F7al g

01. 1f(Q1)>(Q2) 02.
7t (Q1) > (Q2)
03. 1f(Q1)>(Q2) 04.
72 (Q1) =2 (Q2)
05. 1f(Q1)=(Q2)
7t (Q1) =(Q2)
Solution for Question 60

If (Q1) < (Q2)
7T (Q1) <(Q2)
If (Q1) < (Q2)
72 (Q1) < (Q2)

Ans Key: 5

/
engieng Ql- L=36x15—8x20=m m

Q2-7 =2x10x10 =200 m

"
P QI-L=36x15—8x20=2ﬂ'[}m

Q2-7. =2x10x10 =200 ™

Q-61 A playground is in the shape of rectangle. A sum of Rs. 1000 was spent to make the ground useable at the rate of 25 paise per sq.m. The breadth of the

ground is 50m. if the length of the ground is increased by 20m, what will be the expenditure in rupees at the same rate per sq.?

T HSTT ATTATHT F ATHRT | g A T80 25 99 wia #iex 1 32 & 1000 FT @@= BT Srar g 28 ST & & form | iy e i J1=TE 50

e T 3T Ffe TS T 20 Hew e f2g7 Sar 2 97 o 3H 27§ e ==t 26 2

01. 1250 02.
03. 1500 04.
05. 1200

1600
1450

Q-61 A playground is in the shape of rectangle. A sum of Rs. 1000 was spent to make the ground useable at the rate of 25 paise per sq.m. The breadth of the

ground is 50m. if the length of the ground is increased by 20m, what will be the expenditure in rupees at the same rate per sq.?

T BT ATTATH 5 AHT | ¢ TTE 209 25 T390 9fF fiex & 2T 7 1000 F7 @=1 FB7am a1 8 28 ST 34 & forw . 7 fam 6 =12 50

e T < Fte TS 1 20 He a1 f2g7 SIar 8 v o sH 27 7 e g=1 g 2

01. 1250 02.
03. 1500 04.
05. 1200

Solution for Question 61

Spent of 1m? = 25 paise = Y

Spent of 4000m? = 1000

Area of rectangle = 4000 sq m

Ix b = 4000

| x 50 =4000

| =80m

now new length is = 100m and breadth is 50 so
new area will be = 1500m?

so new expenditure = 1250 rs.
Im2ar @at g = 251 = Y%
4000m? Ta@T § = 1000

3T T &F%e = 4000 HeT Iat
Ix b = 4000
| x 50 =4000

1600
1450

Ans Key: 1



| =80 #exT
ar & sFers & =100 #Hrex 3k dles & 50 Aex
ar 73T FhT § = 1500m?

T @AT & = 1250 %.

Spent of 1m? = 25 paise = V4
Spent of 4000m? = 1000

Area of rectangle = 4000 sq m
Ix b = 4000

| x 50 =4000

| =80m

now new length is = 100m and breadth is 50 so
new area will be = 1500m?

so new expenditure = 1250 rs.
Im?&Hm @ar g = 259a1 = Y
4000m? TdT § = 1000

AT HT &T%BT = 4000 HeX T
Ix b = 4000
| x 50 =4000

| =80 HieX
ar o oFes & =100 #Hiex 3R diss § 50 Ae”
ar ST &1F%e & = 1500m?

T AT § = 1250°%.

Spent of 1m? = 25 paise = ¥
Spent of 4000m? = 1000

Area of rectangle = 4000 sq m
ix b =4000

| x 50 =4000

| =80m

now new length is = 100m and breadth is 50 so
new area will be = 1500m?

so new expenditure = 1250 rs.
Im?F @A g =258 = Y
4000m? @ET § = 1000

I HT T = 4000 HeT FaT
Ix b = 4000
| x 50 =4000

| =80 #Hrex
ar o oS & =100 Fex 3R Tles & 50 Aex
ar 3T 9% & = 1500m?



Q-62

Q-62

eng hin

T @AT & = 1250 %.

Spent of 1m? = 25 paise = V4

Spent of 4000m? = 1000

Area of rectangle = 4000 sq m

Ix b = 4000

| x 50 =4000

| =80m

now new length is = 100m and breadth is 50 so
new area will be = 1500m?

so new expenditure = 1250 rs.
m?a& @t g = 25991 = %
4000m? @4t § = 1000

AT FT &FTF = 4000 HeT Far

Ix b =4000
| x 50 =4000

| =80 HeX

ar o oFes & =100 Hiex 3R disg § 50 #Aiex

al FaT 9% & = 1500m?2

T @1 g = 1250 .

Pipe A can fill the tank in 30 hours and pipe B can fill the tank in 15 hours whereas pipe C can empty the tank 10 hours. Pipe Astarts at 6:00 am pipe B
starts at 7:00 am and from 8:00 am all the pipes run alternatively find in how many hours the tank will be filled or empty completely?

aTeT A FoFft 2t &7 30 5T § ST 912 B 15 5 | WY T g dal Ureq C THY 20 &1 10 5 § @At FT Tl g | 2T A g 6:00 STEH 2T Srar
£ 9TET BHEE 7:00 3 9127 C oI 8:00 ST FIAT ST ¢ A< q T2 AT A< 8 @Il ST @ 1 oo S0 § 267 @Teft / 9% STt 2

01. 30 hours tto fill 02.
30 = § Y SOt
03. 30 hours to empty 04.

30 =< § GTAT g1 JATTAT
05. cannot be determine

Fratf 78t w3

25 hours to fill
25 5 H 9 JTUAT

25 hors to empty
25 %2  @reft &1 s

Pipe A can fill the tank in 30 hours and pipe B can fill the tank in 15 hours whereas pipe C can empty the tank 10 hours. Pipe Astarts at 6:00 am pipe B
starts at 7:00 am and from 8:00 am all the pipes run alternatively find in how many hours the tank will be filled or empty completely?

qT=T A FRHT ET 7 30 5 | ST UTST B 15 He H 9 GFhd § Aot 15T C THY AT FT 10 5 F AT F7 Tl g | TT A gag 6:00 I a7 Srar
g UTST BHag 7:00 ¥ 92T C gAg 8:00 FST GIAT ST § TTE 6 TS aT aT F @I ST ¢ T ol G877 H Zhy @TeAT / 9T SAT0AT 2

01. 30 hours tto fill 02. 25 hours to fill

30 = # W SATOIAT 25 5 H AT ST
03. 30 hours to empty 04. 25 hors to empty

30 = H GTeAT g1 SJT0sft 25 = § |TAT g1 JAT0sAT
05. cannot be determine

AT T2t FTaFd &

Solution for Question 62

eng/eng

lem of (30,15,10) is 30
A=30=]

B=15=2

C=10=-3

1+2-3=0

(30,15,10) FT . F.9 & 30

Ans Key: 5



A=30=1
B=15=2
C=10=-3
1+2-3=0

eng hin

lem of (30,15,10) is 30
A=30=1

B=15=2

C=10=-3

1+2-3=0

(30,15,10) FTF . .7 g 30
A=30=1

B=15=2

C=10=-3

1+2-3=0

Q-63

eng/eng

Q-63

A,B and C enter in to a partnership with shares in the ratio

7 i . After 4 months,, A increase his share by 50%. If the total profit at the end of the
3

ra |
L | o

year was Rs. 45900, then the B's share in the profit is -
ABw#vCamfRer .16 F AT H TEHT UF AT § T Zd &1 4 WEIAl 918 A ST AT 50% F@T IaqT g1 TEqHTe, FfS a9 % 3q
273

g

ﬁ@mw459006‘ﬁgwéﬁwﬁBmﬁwW@W?

01. 7400 02. 7700
03. 8200 04. 8350
05. 8500

| o

A,B and C enter in to a partnership with shares in the ratio . After 4 months,, A increase his share by 50%. If the total profit at the end of the

ra |

LF

year was Rs. 45900, then the B's share in the profit is -
A,B 3T C orow 2o T;;;E F AT H TEHT UF AT § T Zd &1 4 WEIAl 918 A STIAT [T 50% F@T <aT | TaqaTe, Jfs a9 % 3fq

I

H A ATH 45900 F. FT AT 21 A1 399 B FT FZeat fohqer g

01. 7400 02. 7700
03. 8200 04. 8350
05. 8500

Solution for Question 63 Ans Key: 5

1.4
A:B.C= 73
sA:B:C
=105:40: 36
Ratio of the profits of ABand C

on | Oy

, 105x4+105xgx31|_‘ 40%12 : 36x12
/

= (420 +1260) . 480 - 432
=210:60: 54
=35:10:9

10
. = —x45900
: share of B 54*

= A:B:C=105:40:36
AB 3R C 3 anf &1 U

3 A
[105x4v105x§x3 | 40%12 ; 36x12
\ ¥

=(420 +1260) : 480 : 432
=210:60:54



=35:10:9
10
- BT HM = axﬂfﬁgﬁﬂ

500 %,

eng hin

Q-64

Q-64

eng hin

=8
46
'35

P3| =

A:B:C=

=A:B:C
=105:40:36
Ratio of the profits of AB and C

, 105x4+105xgx8\|_‘40312135"12
/

= (420 +1260) : 480 : 432
=210:60: 54
=35:10:9

+ share of B= 1,—0>c 45900

24

+sA:B:C=105:40:36
AB dRC 3 aml &1 squa

Mo G

= (420 + 1260) : 480 : 432
=210:60 : 54
=35:10:9

10848

- B&r wr = —x45900

&

= 8500 &,

<8 |: 40x12 ; 36x12

Three typists A,B and C have to type 268 pages, A types one page in 2 minutes, B in 4 minutes and C in 3 minutes. In what time will these pages be typed
if they typed each page alternatively started by B and follwed by A and C respectively ?

T arefiee ABSITC FT268 IS eRT FXA & |THF I HleeT did § A2 fiee , B4 e sim C 3 e o & | A awr d T qmarsw &r
ST IR T g5 USRTdT w7 | 27T F3d g ST B T F Tgel 3T { A 3f¥ C FHor: 22T F3d & |

01. 13 hr 15 min
13 =¢ 15 e

03. 14 hr 10 min
14 =< 10 A=

05. None of these

T ATE TE

02. 13 hr25min

13 "< 25 fame

04. Cannot be determined

it 72t frar s ahar 2 |

Three typists A,B and C have to type 268 pages, A types one page in 2 minutes, B in 4 minutes and C in 3 minutes. In what time will these pages be typed

if they typed each page alternatively started by B and follwed by A and C respectively ?
Farefive ABSHT C FT268 J8eed d¥A 8 |TF T FTeeU ded § A2 fime B4 e siv C 3 Mme o & | ram awr § T gy arzo &t
SITIRT I T I UG FH | (T Fd g STgl B T F Tgel 3T {6 A 3f¥ C FHH9r: 22T F3d & |

01. 13 hr 15 min
13 "< 15 e

03. 14 hr 10 min
14 =< 10 e

05. None of these

BESEIERE

Solution for Question 64

02. 13 hr25 min
13 "< 25 fAme

04. Cannot be determined

Fratha 72t frar ST aar 2 |

Ans Key: 2

eng/eng A =2min



B =4min

C=3min

As they are typing each page alternatively,thus 3 pages will be typed in 9 minutes
s0 267 pages will be typed in 89x9=801min

and last page will be typed by B in 4 min

Total time = 805 min= 13 hour 25 min

A=2ftme

B=4 e

Cc=3fme

g TIF JE AHaL FH H ST I TG &, AT 3vg 3 JE ST ¥ § 9 e e &
qT 267 T AT 22T 4 H 89x9=8017e

ArELT T 22T B FT 37 4 e o
F AT = 805 e = 13 5 25 f\e
eng hin  A=2min
B=4min
C=3min
As they are typing each page alternatively,thus 3 pages will be typed in 9 minutes
s0 267 pages will be typed in 89x9=801min
and last page will be typed by B in 4 min
Total time = 805 min= 13 hour 25 min
A=2ftme
B=4 e
Cc=3fme
T TAF TE AFAC FH H ST HL G 8, A Tvg 3 TR T I § 9 e et 2
qr 267 T FT 229 F4 H 89x9=801He
AMET I8 22T B FHIT 307 4 e aam
F F7T = 805 fee = 13 5 25 faee
Q-6S Men, women and children are employed to do a work in the proportion of 3 : 2 : 1 and their wages as 5 : 3 :2. When 90 men are employed, total daily
wages of all amounts to Rs. 10,350. Find the daily wage of a man?
T AT ST ag et T 3020 1 3 ST | HEd R T et 3 e Ao B AT S 30 2 € | TH FA 9% 90 THY FEALA &, TAT
= gt A9 AT A 10,350 % T SATH A7 TET A Zf4F A FAm g 2
01. 65 02. 75
03. 6750 04. 5850
05. 85
Q-65 Men, women and children are employed to do a work in the proportion of 3 : 2 : 1 and their wages as 5 : 3 :2. When 90 men are employed, total daily
wages of all amounts to Rs. 10,350. Find the daily wage of a man?
T AT ST ay et &1 §3: 20 1 % SIara & Fraea o2 127 Roreht &9 it &7 I aTa 5 : 3 : 2 8 | 36 714 9% 90 T2 FTI7d g, T47
T HaHT (A% AN HA 10,350 % T A AT T&T 1 (4% AT FAT 2 ?
01. 65 02. 75
03. 6750 04. 5850
05. 85
Solution for Question 65 Auns Key: 2
eng/eng  90x5x + 60x3x + 30x2x=10350
- 10350 _i3
690
15x5=75
eng hin  90x5x + 60x3x + 30x2x=10350
. 10350 i3
690
15%5=75

Passage for Question 66, 67, 68, 69, 70 (ST-2062RRBPOMAINS(26-30M)2020-NP)
eng/eng Passage

Study the following table carefully to answer these questions-

s arfee &1 cae @& 3reags wX QU a1T weat & 39 g

Total number of employees of a company and number of employees in different departments (in %) and in given years

Departments | Production | Marketing | Corporate | Accounts | Research | Total

Year

BTat 1}

acos Acl’ o 400 407 ANN



01 = w% e |19%  |9% |50

00 |46k N 1T IS FVTR P

0B | |% | - |15% 1% |10

0 SR PR PR FTTR ISR FT)

Tl Valy 6l (0% [1dx [nix [“0
) r |'uw [u ['h

THh HFUAl & FHol FATRAT HI HEAT T HFI & [AfHee] [GHREN & HHAARAT HT FE&AT (% #)

o |3 (fow (sl | e | e |
i

2010 45% 15% - 18% 10% 400
011 - 14% 16% 19% 9% 500
N0 |46k - Jow ]~ [uw s
03 [aw [ [ - [% [m% [0
2014 - 20% 8 11% - 1500
W | 6o |10 _ ) _ _ L | 8400

eng hin Passage

Study the following table carefully to answer these questions-

fara aifesr &1 eare @« sregga FX e av weat & 3w fifsw)

Total number of employees of a company and number of employees in different departments (in %) and in given years

Departments | Production | Marketing | Corporate | Accounts | Research | Total
2010 45% 15% 18% |10% |40 |
2011 14% 16% 19% 9% 50 |
2012 46% 10% 14% 800
2 40% 17% 15% 17
2014 0% 8% 11% 1500
Total ol 7 e 3, 6, | 4400
TH HFIAT & FHol HAARAT BT TCAT T FFIA! & [AfFfeel FHRT & FoAamdr H F&ar (% )
oo | |Rewe |#iRe | v | g
i
2010 45% 15% - 18% 10% 400
2011 - 14% 16% 19% 9% 500
2012 46% - 10% - 14% 800
2013 40% 17% - 15% 17% 1200
014 - 20% 8% 1% - 1500
1 5
Z‘T'r 441% 16]—% 10=% liﬁ% ISE% wl
2 n i 11 1
Q-66 What is the total number of employees in Production, Corporate and Research in all the years together?
eng/eng FHT AT AT FHATHT IATEA, FIGNE ST ATHATT H FHAATAT 1 FT HAT FIT 22




Q-66

eng hin

01. 3000 02. 3014
03. 3104 04. 3114
05. 3144

What is the total number of employees in Production, Corporate and Research in all the years together?

T} aut 1 e SeaTae, FIAE ST SIqEeT § FHATRAT 6T FHel T3 771 52

01. 3000 02. 3014
03. 3104 04. 3114
05. 3144
Solution for Question 66 Ans Key: 2
eng/eng - :
Year | Praduction | Marketing | Cerporate | Accounts | Research | Tatal
2010 | 180 60 48 72 40 400
2011 | 210 70 80 95 45 500
2012 | 368 104 80 136 112 800
2013 | 481 04 13, Rl 180 1 2(
2014 | 72 300 12( 165 195 150
Total | 1958 738 | 460 648 590 440
Required number of employees = 1958 + 460 + 596 = 3014
010 1810 48 -:.:- T 1)
D11 210 7( 80 5 45 S0
2012 a1 104 a0 13¢ 112 10}
013 AR (14 132 180 18I 1200
014 72 00 120 165 195 1500
w | 1958 460 . 296 4400
FHANRAT & 3r3fivc TEAT= 1958 + 460 + 596 = 3014
Year Pracluction f')'|31'!*.t"t=l'!;' Corporate | Acocounts | Research otal
2010 § 180 318 48 72 A0 Q0
011 216 0 . BO g5 1L S
i1 ! 168 104 80 b RO
2013 | 48R0 04 13, Rl _ 1 20
2014 | 720 300 12 165 195 151
Tata 1958 738 | 460 G483 ROf 440
Required number of employees = 1958 + 460 + 596 = 3014
Ig oG |R9UE | FNRT | THISCH | HEUE | T
2010 180 64 48 12 M 400
2011 210 70 80 95 as 500
2012 368 104 80 136 112 a0
2013 A80 204 132 180 180 1200
2014 720 300 120 165 195 1500
o 1958 /38 460 648 596 4400
HAMRAT Hr 37355 TEAT= 1958 + 460 + 596 = 3014
Q-67 Number of employees in Accounts in 2012 is what % more than the number of employee of Marketing in 2010? (approx.)
eng/eng AW 2012 H UHTSEH H FHATRAT 61 H&AT, a0 2010 H E0 F FHATE ¥ HAT T ToaT # Fhaer % AFaF 22 (FTHT)
01. 114% 02. 121%
03. 126% 04. 132%
05. 135%
Q-67 Number of employees in Accounts in 2012 is what % more than the number of employee of Marketing in 2010? (approx.)

eng hin

T 2012 H THTISH H FHATRAT T 74T, 9 2010 F fFoor & FH=mT it 671 it JoaT J e % Aferes 82 (FErsr)



01. 114% 02. 121%
03. 126% 04. 132%
05. 135%
Solution for Question 67 Ans Key: 3
eng/eng  [Noar | Praduction | Marketing | Corporate | Accaunts | Research | Toral
2010 | 180 60 18 72 40 400
211 | 210 70 &0 g5 45 500
2012 | 368 104 80 136 112 800
2013 | 480 204 132 180 180 1200
2014 | 720 300 120 165 195 1500
Total | 1958 738 4450 648 596 4400
Required %= 139 =60 1650~ 126%
g g |Ruue | FMRT | eHECE | HEuE | B
2010 [ 18O &0 A8 72 a0 400
2011 210 70 &an 95 a5 500
2012 16 104 U 15¢ 112 800
013 A 8i 04 13 1BD 180 0
014 20 0 120 16 195 0
®eT 1958 3 460 G e 1400
39S %= 12090 100 2 126%
60
Y&ar Praduction | Marketing | Corporate | Account Research | Tot
010 180 B0 ] ¥ A0 00
011 | 211 0 A i 5 | 500
12 ) (1] #i 136 11 LH-f'iI:]'
013 | 204 132 | 180 180 [ 1200
2014 | 72 300 | 12C | 165 195 | 1500
otal | 1958 738 446 | Gag 596 4400
Required % = 2% =99 100 ~126%
60
Ty 39E | @AYo | i ISCH | HTHU | Fe
2010 180 48 a0 400
2011 210 Fil a0 95 45 50
2012 163 104 U 136 12 800
2013 480 204 132 180 180 1200
2014 720 300 120 165 195 1500
Loy 1954 738 460 G648 5396 4400
3mfss %= 13690 150~ 126%
60
Q-68 Total number of employees in Production and Research is how much more than the total number of employees in Corporate and Marketing?
engleng  SCTTEHT ST SATHETT § FHATAL 6T FA HEAT A1 AT T H FHATRAT 1 FeT HEAT T ToAqT | Fhear ifersh 82
01. 1300 02. 1324
03. 1340 04. 1356
05. 1360
Q-68 Total number of employees in Production and Research is how much more than the total number of employees in Corporate and Marketing?
enghin  ICTTET ST SATHETT § FHATAT 6T FA HEAT AL AT [T H FHATRAT 1 FeT HAT T ToAq1 # b sifdrsh 82

01. 1300
03. 1340

02.
04.

1324
1356



05. 1360

Solution for Question 68 Ans Key: 4
eng/eng  veor | Praduction | Marketing | Corporate | Accounts | Research | Total
2010 | 180 60 48 72 40 400
2011 | 210 70 80 g5 45 5Q0
2012 | 368 104 80 136 112 200
2013 | 48D 204 132 180 180 12040
2014 | 720 300 120 165 195 1500
Total | 1958 738 460 G448 5906 4400
Required number = 2554 — 1198 = 1356
a¥ |3 |Rve  |SNRT | ewiEcH | dEUE | Fa
2010 180 &0 48 72 40 400
2011 210 70 an 95 45 500
2012 363 104 80 136 112 800
2013 ARL) 204 132 180 180 1200
2014 720 300 120 165 195 1500
w 1958 738 460 48 596 4400
313ISS HEAT= 2554 — 1198 = 1356
year | Production | Marketing | Corporate | Accounts | Research | Total
)10 1 80 B0 - a8 A0 1000
{11 D 70 80 05 5 50
1012 }68 04 8201 13 a0
2013 RO 04 132 18L &l 120
2014 | 720 301 120 165 195 151
fotal | 1954 18 240 48 501 440
Required number = 2554 — 1198 = 1356
L) | e (R [ FRT | oIEed | AEuE | B
D10 180 [ 48 /2 a4 400
20 210 70 a0 35 45 500
2012 363 104 80 136 112 800
2013 180 204 132 180 180 0
D14 720 300 120 LG 195 0
— 1958 738 460 548 96 4400
318715 {E&AT = 2554 — 1198 = 1356
Q-69 Total number of employees in Corporate is how much more/less than the total number of employees in Research?
engleng  FIITLE W HHATILAT T e HEAT, ATHATT H FHATIAT T el TEAT H T[T SATeH/FH 22
01. 136 less 02. 127 less
136 8 127 %9
03. 123 more 04. 136 more
123 Ifa% 136 SttaF
05. 127 more
127 stfa®
Q-69 Total number of employees in Corporate is how much more/less than the total number of employees in Research?
enghin  FIAIE § FHATAT 6T HA HEAT, ATHATT H FHATAT 01 FeA FEAT F Fhaar sAerah/F7 82
01. 136 less 02. 127 less
136 8 127 %9
03. 123 more 04. 136 more
123 =1t 136 st
05. 127 more
127 stta®
Solution for Question 69 Ans Key: 1

eng/eng

[vear rrocuction | marketing | comorate | accaunts | Recoarch | Taral |



2010 180 60 418 72 40 400
2011 | 210 70 80 g5 45 SQ0
2012 | 368 104 20 136 112 Ba0
2013 | 48O 204 132 18D 180 1200
2014 | 720 300 120 165 195 1500
Total | 1958 738 460 G48 596 4400
Required number = 596 — 460 = 136
a¥ oA |Fue | FRE | eSS | dEUE | A
2010 180 &40 48 72 4 400
2011 210 70 a0 o5 a5 500
2012|368 104 80 136 112 800
2013 AR80 204 132 180 180 1200
2014 720 300 120 165 195 1500
FoT 1958 738 460 B4R 5496 4400
37HTSS TEAT =596 — 460 = 136
enghin — I'voar | Production | Marketing | Corporate | Accaunts | Research | Total
2010 1180 R 48 72 40 400
2011 ] 210 70 a0 g5 . S
22 104 80 1 3 20
2013 AB0 204 132 18I 1=0 120
2014 | 720 300 12 165 195 150(
Tota 1958 738 446 048 596 440
Required number = 596 — 460 = 136
% IO |R9ue | FORT | THIEcH | #EEYE | FA
010 150 5 18 J2 q 0 i It
I 1 210 Fi 80 a5 5 SO0
2012 16 104 B0 13 112 400
2013|480 204 132 180 ~ |180  |1200
D14 720 300 120 165 195 1500
el 1954 738 460 648 16 $400
37HISS TEAT=596 — 460 = 136
Q-70 What is the average number of employees in Marketing, Research and Corporate?
TIToT, ATHETA ST I § FHATAT 1 ST HEAT FIT 82
01. 504 02. 520
03. 560 04. 585
05. 598
Q-70 What is the average number of employees in Marketing, Research and Corporate?
eng hin T, SITHETT ST FITE § FHATAT T SET ST 7T 82
01. 504 02. 520
03. 560 04. 585
05. 598
Solution for Question 70
eng/eng  ['yaar | Production | Marketing | Corporate | Accounts | Research | Total
2010 | 180 60 48 72 40 400
2011 | 210 70 80 95 45 500
2012 | 368 104 80 136 112 200
2013 | 480 204 132 180 180 1200
2014 | 720 300 120 165 195 1500
Total | 1958 738 460 648 596 4400
el 738+ 596+460 | 1794 — 508




3 3

af | |Rvm (SRR | wisew | S | 9
2010 180 (=) 48 72 a0 400
2011 210 74 80 95 a5 S00
2012 363 104 80 136 112 800
2013 AR0 204 132 180 180 1200
2014 720 300 120 165 195 1500
— 1958 738 460 [ 596 4400
r9fies T — T38+ 596+ 460 | 1794 _ 508
3 3
enghin  [yoor [Production [ Marketing | Corporate | Accounts | Research | Total
2010 ] 180 b0 48 72 40 490
2011 | 210 70 80 95 45 500
2012 | 363 104 80 136 112 200
2013 | 480 204 132 180D 180 1200
2014 | 720 300 120 165 195 1500
Total | 1958 738 460 G648 596 4400
Required number = 738+556+460 L 1794 — 508
T 396 |R9ue | SlRE | OIS | deEuE | B
2010 1ED B4 48 i2 a0 400
2011 210 70 30 a5 a5 500
012 | 368 104 3 13¢ 1 800
2013 | 480 204 132 180 180 1200
2014 720 300 120 165 195 1500
- 1958 738 460 648 196 4400
s g = 138+ 596+460 1794

-

3 3

Passage for Question 71, 72, 73, 74, 75 (ST-2062RRBPOMAINS(3 1-35M)2020-NP)
eng/eng Passage

| Read the following information carefully to answer the questions asked-

& T ¥ & A< e & fory Aot sraard sargds u@-

Percentage wise distribution of total students (boys and girls together) in seven universities
Distribution of students in seven University

DO Harvard University
O Oxford University
OM.LT.
O Stanford University
@ Cambridge University
@ California University
@ Imperial University

University Ratio of boys and gils

Boys Girls

Harvard University 2 3

Oxford University 3 2

M.LT. 4 1

Stanford University 3 5

Cambridge University 1 2




California University 1 4

Imperial University 5 3

a1 faRafaeareat # Fo el (as& 3R asfrar v @) F1 9fauaar AR ard feafaearedt & ezt &1 oo

Beas frafaares
B 3w s
Buos 38 &
Ocdsws fAufaaem
B Rrafaaea
B¥femiiaa fafkaea
Bsriifma Rafaaes
[Frafaes TSHI T TISTHA T I
e asfrat

TAS g 2 3

siaunts fagfaae | 3 2

Ty, 3. . L

IHIe [aafaared 3 5

EICERECIEDID] 1 2

FIARHAT [aafaaed | 1 4

TS [agfaaea | 5 3

eng hin Passage

Read the following information carefully to answer the questions asked-

TR T Tt ¥ I F fary famfafyg srasrd saragds og-

Percentage wise distribution of total students (boys and girls together) in seven universities
Distribution of students in seven University

B Harvard University
O Oxford University
OMLLT.

O Stanford University

@ Cambridge University
O California University
E Imperial University
University Ratio of boys and gils
Boys Girls
Harvard University 2 3
Oxford University 3 2
M.L.T. 4 1
Stanford University 3 5
Cambridge University 1 2
California University 1 4
Imperial University 5 3

aTd faeafacareat & For Remfis (T 3R asfrar e am) F1 gfdadar Idawor @i fAeafdegmeat & feanfiat & fawor

A ey




BHRAWNIS Wdidererd
Boa 35 &1
Ordsms fpafaaea
B5fs frafaaes
Bifemif Rt
Bzrfiige @afEaea
[Trataares Tl q4T TAglhaT T 31T
GECT EEER

BEEAECIEEIGE] 2 3

e agfaaea | 3 2

T, 31, A, 1 1

IS g 3 5

ECERELIERIRE] 1 2

FHABIHAT AgiEaed | 1 4

SO [ddiaarad | 5 3

Q-71 If 89% of the boys of the Harvard University and 68% of the boys of Imperial college are Scholarship holders then what is the total number of non-
eng/eng  scholarship holder boys from the same two universities? (If 48% Scholarship holder students are there in California university which is equal to 6000)
Tz gras ferafammera % 89% @+ si¥ ST FIorsT % 68% A+ STAFT UTLF & af I4T af ferafe=merdt F d7-BrAgi a1 ASHi i T
et 82 (TT 48% FTAFIT T FT HIARIHAT e fa=mea & g ST 6000 F JXT6 8)

01. 4850 02. 5250
03. 5040 04. 5340
05. None of these

TAH (S ARl

Q-71 1f 89% of the boys of the Harvard University and 68% of the boys of Imperial college are Scholarship holders then what is the total number of non-

eng hin  scholarship holder boys from the same two universities? (If 48% Scholarship holder students are there in California university which is equal to 6000)
Tz gras ferafe=mera F 89% A=+ ¥ ST FIorsl % 68% A+ BTAT UTLF & af I4T a1 ferafe=merdt & d7-Brgi a1ed ASHl T HE&
et 82 (T 48% FTAFMRT aT¥aE ST HARIHAT e @a=med # g ST 6000 F a6 8)

01. 4850 02. 5250
03. 5040 04. 5340
05. None of these
TAH H @05 A5l
Solution for Question 71 Ans Key: 2
eng/eng  Total number of students = 250000
University Total Boys Girls
Harvard University 37500 15000 22500
University of Oxford 27500 16500 11000

Massachusetts Institute of technology |55000 44000 11000

Stanford University 20000 7500 12500

University of Cambridge 67500 22500 | 45000

California Institute of Technology 12500 2500 10000

Imperial College 30000 | 18750 | 11250
T fer=mfarat 1 |@ear =250000

ferafererrera Fel LEC REER]
grere feraferanem 37500 15000 22500
et farafarrer 27500 16500 11000
uy, . A 55000 44000 11000
e faafaeem 20000 7500 12500




EAFENEEIERIGE] 67500 22500 45000
eI gt 12500 2500 10000
sefifer faafaemem 30000 18750 11250
eng hin  Total number of students = 250000
University Total Boys Girls
Harvard University 37500 15000 22500
University of Oxford 27500 16500 11000
Massachusetts Institute of technology |55000 44000 11000
Stanford University 20000 7500 12500
University of Cambridge 67500 22500 | 45000
California Institute of Technology 12500 2500 10000
Imperial College 30000 18750 11250
T fammtaat & H@ear =250000
farafrare F T g
Erae faafarneE 37500 15000 22500
ATFEE frafreres 27500 16500 11000
g, A, AL 55000 44000 11000
wens faafaaem [ 20000 7500 12500
g faafaemem 67500 22500 45000
FHcritia faafrnem 12500 2500 10000
Eofifore falEEE | 30000 18750 11250
Q-72 What is the difference between the number of girls and number of boys from all the universities together? (If 48% Scholarship holder students are there in
eng/eng California university which is equal to 6000)
T Ferafaamer =t 1 U 97 ofq U AT it ST ST A= 1 ST % S+ F47 (q¥ 52 (TS 48% STAIT ITLF BT DRI AT
frata=mer § 2 S 6000 % are¥ 2)
01. 3150 02. 3200
03. 3450 04. 3650
0S. None of these
TAH H IS Tal
Q-72 What is the difference between the number of girls and number of boys from all the universities together? (If 48% Scholarship holder students are there in
eng hin  California university which is equal to 6000)
T it &1 U 91 ofd gU AT it ST S AT AT ST F S FAT AT g2 (TS 48% BIAT LITEF BT DRI AT
Freata=me & 2 S 6000 % a2« 2)
01, 3150 02. 3200
03. 3450 04. 3650
05. None of these
AT F FIE TR1
Solution for Question 72 Ans Key: 5
eng/eng Required answer = 126750-123250=3500
University Total Boys Girls
Harvard University 37500 15000 22500
University of Oxford 27500 16500 11000
Massachusetts Institute of technology [55000 44000 11000
|Stanford University 20000 7500 12500
[University of Cambridge 67500 22500 | 45000
(Califormia Institute of Technology 12500 2500 10000
Imperial College 30000 18750 11250
373fse I = 126750-123250=3500
[EEIERIRE] F HEE] GEERI
eras faafaeney 37500 15000 22500




HIFEEE [FEE=ET
g, A 55000 44000 11000
g frafremes 20000 7500 12500
et farufoener 67500 22500 45000
Hferertan fafaaem 12500 2500 10000
gofiferer faaferane 30000 18750 11250
eng hin  Required answer = 126750-123250=3500
University Total Boys Girls
Harvard University 37500 15000 22500
[University of Oxford 27500 16500 11000
Massachusetts Institute of technology [55000 44000 11000
Stanford University 20000 7500 12500
[University of Cambridge 67500 22500 | 45000
(California Institute of Technology 12500 2500 10000
Tmperial College 30000 18750 11250
3T 3 = 126750-123250=3500
(Farafreem [ == | @z | w=h
-:-f' 75 faafanem [ 37500 15000 22500
l AaaEE Aefea . 27500 - 16500 ‘ 11000
12 qre. 7. 55000 44000 11000
(e fagfaee 20000 7500 12500
(ot farafaemem - 67500 [ 22500 | 45000
et faafraem | 12500 | 2500 [ 10000 |
et fagframer - 30000 J 18750 1 11250 J
Q-73 If there is a selection of a delegation to represent a mathematical conference of 14 members of boys and Girls from two groups consisting (Group —1 :
Harvard, Oxford, M.I.T and Group — II : Stanford, Imperial, California and Cambridge), if from each university a boy and a girl is attending conference.
Find the number of ways. (If 48% Scholarship holder students are there in California university which is equal to 6000)
Hﬁ”%WWW‘JﬁﬁfﬁﬁzﬁﬁﬂTmo%l AT AT F 14 qu EFW%Q‘%‘%@WEFTW?TW(W—I gTae, SAFHhTE,
THATSET 31T THE - [I: TARIE, ST, HIARIAAT ST HHaST) H FIAT 2, TT2 T4 A aaTed | T dSHT 3T UH Aeeh] GFHad § 9N of
TZT g TR hl TEAT AT o1 | (TT 48% STAFT ATLF ST HARIHAT A fa=mera & g ST 6000 F a2TE 8)
01. 120000 02. 240000
03. 250000 04. 144000
05. None of these
TAH TS AR
Q-73 If there is a selection of a delegation to represent a mathematical conference of 14 members of boys and Girls from two groups consisting (Group —1 :
eng hin  Harvard, Oxford, M.L.T and Group — I : Stanford, Imperial, California and Cambridge), if from each university a boy and a girl is attending conference.
Find the number of ways. (If 48% Scholarship holder students are there in California university which is equal to 6000)
TS U TIOT T AT AT F3 % (0 de®l 3T Al & 14 9aE91 % UF T =90 71 999 a1 991 (9T - [ gTas, siaFhre,
THATEET 3T THE - [I: TR, THA, FIARITAT 3T B0 F F347 2, TS T4 e faameas § U a2 ofiT UF gl a89ad § IR o
TET 81 T Y FeAqT 371 Frfora| (TfT 48% wragitr g g fermraar frafammea & & Sir 6000 F awmEaw §)
01. 120000 02. 240000
03. 250000 04. 144000
05. None of these
AW F FIE TR1
Solution for Question 73 Ans Key: 3

eng/eng  Aswe know value of "Ci=n

Hence required answer= 15000+22500+16500+11000+44000+11000+7500+12500+22500+45000+2500+10000+18750 +11250=250000
University Total Boys Girls
Harvard University 37500 15000 | 22500

Ty . A Tov- <l ] RS ey L S SR A GF T



VL SILY O LAALOLU & F U

Massachusetts Institute of technology 55000 44000 11000
Stanford University 20000 7500 12500
University of Cambridge 67500 22500 45000
California Institute of Technology 12500 2500 10000
Tmperial College 30000 18750 11250

ST & g7 e & °Cy=n
3ra: 3rfise 3TX= 15000+22500+16500+11000+44000-+11000+7500+12500+22500+45000+2500+10000+18750 +11250=250000

gre fafeeme 37500 15000 22500
saawE faafmem 27500 16500 11000
T 55000 44000 11000
wehs fagfaemes 20000 7500 12500
ot faafaemem 67500 22500 45000
e fagfanem 12500 2500 10000
sofiferer frafaamer 30000 18750 11250

As we know value of "C=n

Hence required answer= 15000+22500+16500+11000+44000+11000+7500+12500+22500+45000+2500+10000+18750 +11250=250000

ORY

Total

37500

Boys

15000

16500

Grls

224500

University

Harvard University

Univ ersity of ( xtord

Massachusetts Institute of technology
Stanford 1 nversity

Umversity of Cambridge

California Institute of Techno
Imperial College

Sar & g7 S @ I'Cp=n

37d: 373se 3= 15000+22500+16500+11000-+44000+11000+7500+12500+22500+45000+2500+10000+18750 +11250=250000
o —— " e r -._r-;;— Az
ll 37500 | 15000 | 22500
i 27500 16500 11000
1 1T 1 A 55000 14000 11000
-'”-FF'“-’—: afa 20000 7500 12500
ERELIEHEE 67500 22500 15000
Ia-:fﬁrmﬁm EEIEIGE] 12500 2500 10000
Frdiferer frafaramery 30000 18750 11250

Q-74

eng/eng

Q-74

eng hin

What is the ratio of boys from Harvard, Imperial and Oxford universities and the girls from California, M.I.T and Cambridge universities? (If 48%
Scholarship holder students are there in California university which is equal to 6000)

grae, TR ST stFanre ferafaemerat & el fil 6T SiiT BIerRI=aT, THATSET o< &itasy erafaamaat § it it gear & F7 S
22 (7t 48% gragfRy ameer gra Aforwifar Rrafmme & & S 6000 F svm@Ew 8)

01. 201:264 02. 233:412
03. 341:513 04. 189:258
05. None of these

TAH (S ARl

What is the ratio of boys from Harvard, Imperial and Oxford universities and the girls from California, M.I.T and Cambridge universities? (If 48%
Scholarship holder students are there in California university which is equal to 6000)

graE, T ST stFanre ferafaamerat & el fil 6T ST BIeTRI=AT, THIATSET o< Hitasy ferafaamaat § gt T €ear & F47 Jqurd
22 (atx 48% gragfay ameer g Aforwifar fRrafeme & & S 6000 F s¥m@w 8)

01. 201:264 02. 233:412



03. 341:513 04. 189:258
05. None of these
TAH A ATE Tol

Solution for Question 74

Ans Key: 1

eng/eng  (15000+18750+16500) : (10000+11000+45000)= 50250 : 66000-=201:264

University Total Boys Girls
Harvard University 37500 15000 | 22500
University of Oxford 27500 16500 | 11000

Massachusetts Institute of technology (55000 44000 11000

Stanford University 20000 7500 12500

University of Cambridge 67500 22500 | 45000

California Institute of Technology 12500 2500 10000

Imperial College 30000 18750 11250
(15000+18750+16500) : (10000+11000+45000)= 50250 : 66000-=201:264
GEEAEEIEHIGE] 37500 15000 22500
s gt 27500 16500 11000
-n_}:_ ST A [ 55000 44000 11000
wewE gy 20000 7500 12500

AEENE PIERIGE 67500 22500 15000

Fewf fagfaaem | 12500 2500 10000
ewfitrer frafaemem ' 30000 | 18750 | 11250

(15000+18750+16500) : (10000+11000+45000)= 50250 : 66000-=201:264

fl niversity _.[u1:|| Boys Girls |
Harvard University 37500 15000 22500
University of Oxford 27500 16500 11000 [
IMassachusetts Institute of technology |55000 44000 11000
Stanford University 20000 | 7500 12500
o : B B N | e
University of Cambnidge 67500 22500 15000
(California Institute of Technology 12500 2500 10000
Imperial College 30000 18750 11250

(15000+18750+16500) : (10000+11000+45000)= 50250 : 66000-=201:264

FEIEEIGE F 2 =i
lerae faafrrem 37500 15000 22500
siigaws faafamen 27500 16500 11000
T, o1, 2. 55000 44000 11000
wewnE fGafrmes 20000 7500 12500
Fo1 At 67500 22500 45000
FHiawn fafamea 12500 2500 10000
Frfifere faafaes 30000 18750 11250

Q-75 Total number of girls from all the universities form approximately what percent less than that of boys from all the universities? (If 48% Scholorship holder

eng/eng  students are there in California university which is equal to 6000)

Tt ferafaemert ft @Rt f g dear ol Reataenet F agi £t qoaT § Tt G widerd 7537 82 (7w 48% graghr o g

=T frata=mea | € S 6000 F s7Ta7 §)

01. 2.44% 02. 3.12%
03. 4.09% 04. 2.76%
05. 3.47%

Q-75 Total number of girls from all the universities form approximately what percent less than that of boys from all the universities? (If 48% Scholorship holder



eng hin

students are there in California university which is equal to 6000)

Tt Frataemaat #7 At it fo gear Gt feafe=mei & TEFl 1 qomT H o hae Jiaerd H7 82 (T 48% Sragi a1 &

Ffermrear fAeatamme & € s 6000 F w7 )

01. 2.44% 02. 3.12%
03. 4.09% 04. 2.76%
05. 3.47%

Solution for Question 75

Ans Key: 4

eng/eng  Total boys=126750

Total girls=123250

Required answer
_126750-1232 50){100%::2.?6%
126750
[University Total Boys Girls
Harvard University 37500 15000 22500
[University of Oxford 27500 16500 11000
Massachusetts Institute of technology 155000 44000 11000
.Hhmlm'd University I::n':-:_ia_'.u 7500 12500 |
.L. miversity of Cambridge 67500 22500 15000
California Institute of Technology 12500 2500 10000
-[ancn';l.] College “,-::lr:t.-u 18750 11250
f«r 5% = 126750
T st = 123250
st 3 = 126750123250 o
126750
T Tl _r asE | ceed _i
[ .i.'ﬂ-)i-'} - [ 1<-.=L}D_ i_ i 2:5_'!';-.;:- ¥
27500 l;ﬁﬁr'ln": 11000
.n_'[!.-_.,j;:__{l :_ L_ <ﬁi; | 44000 11000
2w fgleeed | 20000 | 7500 12500
Fhar fagfaenes 67500 | 22500 150
FRTEIC fagfEe | 12500 | 2500 10000
™ 30000 l 18750 1125(
I l I
eng hin  Total boys=126750
Total girls=123250
Required answer
_126750-1232 SOXIO{}%xE.?G%
126750
[University Total Boys Girls
IHarvard University 37500 15000 22500
[University of Oxford 27500 16500 11000
Massachusetts Institute of technology (55000 44000 11000
iStanford University 20000 7500 12500
[University of Cambridge 67500 22500 | 45000
California Institute of Technology 12500 2500 10000
Imperial College 30000 18750 11250




Bl oI5 = 126750

&l oisfehdi = 123250

e 3T = 126750_123250x100%22.?6%

126750
fagfammem T [NEes wifFar
wrae faufrmes 37500 15000 22500
strawTs faafarems 27500 16500 11000
L A I 55000 44000 11000
wewe Mafaaea 20000 7500 12500
ot faafaemem 67500 22500 45000
Ffemifa faafrmem 12500 2500 10000
zrdifere faafames 30000 18750 11250

Q-76 The following questions are accompaniedly three statement I, II and III. You have to determine which statement (s) is/are
eng/eng necessary/sufficent to answer the question?

faRMrm s rsd fAasaaL I mE =@ g srrFr g rar st g R ard saa v 1S9’ F Rrgaata g?

What is the second number out of three numbers?
T FeATeH § A ST g ?

(I) Sum of the three numbers is 182
(Il) The ratio of first and second number is 3 : 4 and second to third number is 2 : 3.

(1IT) Middle number is 33 %% greater than the first number and lesser by the same percent from third number.
(D) A= AT T T 182 Bl

(IT) TEAT 3T LT HAT FT ATATT 3 : 4 8 TAT THLT ST AL H&AT FT STITT 2 1 3 T

(111) TeT T HeaT, Tgetl 5T 7 33 %00 STer g AT ATET TAT & q9 Tiqerd F9 gl

01. Only IT and III 02. OnlyIl
Faer 11 3 111 et 11
03. OnlyIII 04. Onlyl
Fad 111 Fa
05. None of these
TN F AE T

- e following questions are accompanie ree statement I, IT an . You have to determine which statement (s) is/are
76 The following questi paniedly th tat t I, IT and III. You have to d i hich stat is/
n necessary/sufficent to answer the question?

fAafrfag v s g  ATFITL LRI EE 3 ) ArrFR T T AT FoF FITavd FAT w1399 5 frgaafa d?

What 1s the second number out of three numbers?

A FEATe 6 T ST T 2

(I) Sum of the three numbers is 182

(II) The ratio of first and second number is 3 : 4 and second to third number is 2 : 3.

(1) Middle number is 33 % % greater than the first number and lesser by the same percent from third number.
(I) AT ST T AN 182 2

(IT) TZAT 3T THLT HEAT T ATATT 3 : 4 7 TAT TELT ¥ 6T HAT FT 791 2 2 3 2
(IIT) Wy Y e, TEeft e § 33 %% oTfArF & o et He & wwT afverd w9 )

01. Only IT and 111 02. Only II
Faer 11 T 11 Fae 11
03. OnlyIll 04. OnlyI
Faer [0 Fa
05. None of these
TAH HFS ol
Solution for Question 76 Ans Key: 5

eng/eng [ X+Y+Z=182
ILX:Y=3:4&Y:Z=2:3



MY=2x&y=2=1z
3 3

So either I & II together or I & III together are sufficient.

LX+Y+Z=182
ILX:Y=3:43TY:2=2:3

L y-24 xsiwy2-,
3 3

ZErforT 7T a7 [ 3T 11 Tk | A7 1 3% 11 T |77

enghin [ X+Y+Z=182
LX:Y=3:4&Y:Z=2:3

my= 3xay-2-
3 3

So either I & II together or I & III together are sufficient.

LX+Y+Z=182
ILX:Y=3:43TY:2=2:3

my=24 xsiey2-,
3 3

TEfoTT 97 a7 [ 30 [1 U |1 47 1 37< 11 U are

Q-77 Given below are 3 statements with each question, you have to decide that which of the following statement/statements are necessary to

eng/eng answer the question.

AR FRTATTAFTITF ATA 3 FITRTCATCE, SUITFTIZ AT FATE (6 I FTITCIA & fog fawtafag & @ sy arsa= /w97

AT G

Ram, Ravi and Shyam secured 45%, 50% and 60% marks respectively in Biology. Rani’s marks in Biology is 12.5 more than Ram’s marks and 4 less than
Shyam’s marks. Find out the individual marks of four students in biology?
T, T ST AT F SIS | FHAq: 45%, 50% T 60% 315 T R Shrafasme § T, T 3 it 7 qaT | 12.5 STfere o ¥ oam9 &
ST/ 4 FH S1F 2| AT BTAT 5 AT A AT BT |

Statement A- For the students total marks obtained for Biology is 311.5.
Statement B- Total of Rani’s and Ram’s marks in Biology is 147.5.

Statement C- Shyam has obtained 84 marks.

FAT A - BT % SOt 7 ITH H/eF i 311.5 )

FA B - STATASAT | T 3/¥ 79 % ofF H/A 147.5 B

FIT C- 93TH 7 84 37 e Fh 21

01. Statement A and Statement B together
FAT A T FI9 B UF 70

03. Statement A and either Statement B or
Statement C
FAT A ST FI7T B AT FI9 C

05. None of the above
ITIE B T AT TS

02.

04.

Only Statement C
Fad FI9 C

All together

asft U ATy

Q-77 Given below are 3 statements with each question, you have to decide that which of the following statement/statements are necessary to

answer the question.

T3 AT TTCTAFITF qTA 3 FITRCATE, AMIFT IZTTFLATE (6 TIFTITCIA ¥ o wfafaa &  staarvaq/ w99

ATLTF 2

Ram, Ravi and Shyam secured 45%, 50% and 60% marks respectively in Biology. Rani’s marks in Biology is 12.5 more than Ram’s marks and 4 less than
Shyam’s marks. Find out the individual marks of four students in biology?

T, T ST o F STafas ™ § FHE: 45%, 50% 3T 60% 7 ITH ) Stafasm & T+, T F sihi ¥ qorr § 12.5 oTf2F ofF sfv eama %
ST 4 FH 3T §| AT STAT % AR 3 AT i |

Statement A- For the students total marks obtained for Biology is 311.5.
Statement B- Total of Rani’s and Ram’s marks in Biology is 147.5.

Statement C- Shyam has obtained 84 marks.

FAT A - AT ST H I8 HA 5% 31155

FAT B - STAfasT & T 3% T % 30 7oA 147.5 %)

FIT C- $FTH 7 84 37 17 Fhu g

01. Statement A and Statement B together
FIT A AT FAT B UF AT

03. Statement A and either Statement B or
Statement C
FIT A 3T FI B AT HI C

05. None of the above
ITAE H HFIS Tl

Solution for Question 77

02.

04.

Only Statement C
Fa FI7 C

All together
¥y T Ty

Ans Key: 5



eng/eng  According to the question,

(60-45)%=12.5+4

15%=16.5

100%=110

Ram =49.5, Ravi = 55, Shyam = 66 and Rani = 62
TITHTY,

(60-45)%=12.5+4

15%=16.5

100%=110

T =49.5, T =55, 99TH = 66 3T T = 62

eng hin

According to the question,

(60-45)%=12.5+4

15%=16.5

100%=110

Ram =49.5, Ravi = 55, Shyam = 66 and Rani = 62
TATETY,

(60-45)%=12.5+4

15%=16.5

100%=110

TH =49.5, T = 55, ¥ATH = 66 3T I+ = 62

Q-78

Q-78

Given below are 3 statements with each question, you have to decide that which of the following statement/statements are necessary to
answer the question.

T3 fATTTTRAFTTH GTA 3 FITRCACE, AIRT IZTTFATE (B TA FTITIA ¥ e Fwfafaa &  staar a7/ w97
EIEER L]

What is the value of a two—digit number?
T 37T T FEAT T AT AT o102

Statement A- The sum of the digits is 7.

Statement B- The difference of the squares of the digits is 7.
Statement C- The difference of their digits is 1.
FAT A — TS T 3T T ST 92 7 IT9 27|

T B — 3T % A 1 HqL 7 I 2|

FAT C — 3! T AT 1 TTH &

01. Statement A and Statement B together are 02. Statement B and Statement C together are sufficient
sufficient FAF B AT FAF C TF qTF 797 g
FIT A AT FIT B U 91 AT g

03. Statement C and Statement A together are  04. Any one pair of Statement A and Statement B, Statement B and Statement C or Statement C and
sufficient Statement A are sufficient
FAT A ST FIT C TS 9719 II79 g TS AT STTET FT A 3T F99 B, FIT A 3T F99 C, FIT C T FI B TF AT TATH g

0S. Data inadequate
RS ATATH 2

Given below are 3 statements with each question, you have to decide that which of the following statement/statements are necessary to

answer the question.

= frg %rf{ TAF TS G193 799 (RTATE, ATFT AT TTFATE IF IFFTITCRA ¥ o Awfafya & @ staqarvaq/ w99

SIERE

What is the value of a two—digit number?
T ST T HEAT T AT G 119742

Statement A- The sum of the digits is 7.

Statement B- The difference of the squares of the digits is 7.

Statement C- The difference of their digits is 1.

FAT A — TT T 3T FT ST 9 7 919 2|

FAT B — 3T o a1 T 37q< 7 ITH 21|

FAA C — 310 T 3(a¥ 1 99 |

01. Statement A and Statement B together are  02. Statement B and Statement C together are sufficient

sufficient FIF B T FAF C TF 9T TI7H g
FAT A ST FA9 B UF 91 TI79 ¢

03. Statement C and Statement A together are  04.  Any one pair of Statement A and Statement B, Statement B and Statement C or Statement C and
sufficient Statement A are sufficient
FIT A ST FIT C TF 971 II7H g TS AT ST F99 A ST F99 B, FI9 A 3T 99 C, F99 C 3T FI9 B UF 97 T4 ¢

05. Data inadequate

AFS AT |

Solution for Question 78 Ans Key: 5

eng/eng  From statement A:

x+ty=7



From statement B:
x2-y2=17

From statement C:
x—y=1

So number can be 34 or 43.
Data inadequate.

FAT AT,

x+ty=7

FIT B,

x2-y2=T7

FI9 C 7,

x—y=1

TAT AT AT 43 =T 34 Z00]
AFS ATATH g

eng hin  From statement A:
xt+ty=7
From statement B:
x2-y2 =17
From statement C:
x—y=1
So number can be 34 or 43.
Data inadequate.
FAT A,
xty=7
FIT B,
x2-y2=T7
FI9 C 7,
x—y=1
TEAT AT AT 43 I7 34 20|

- siven below are 3 statements with each question, you have to decide that which of the following statement/statements are necessary to
79 Gi bel 3 ith each q ion, you h decide th hich of the following / y
answer the question.
T3 fATTTCTAFITF QA3 FITRCACE, AMIFTIZTIFLATE (6 TAFTITCIA & fog wfafaa & @ staarwaq/ w97
EIEERE A

At what time will a train reach Kanpur from Patna?

AT H FEE o R THE agenit?

Statement A- The train crosses another train of equal length of 97.5 m and running in opposite direction in 9 sec.
Statement B- The train leaves Patna at 11:15 am for Kanpur, which is at a distance of 567 km.

Statement C- The 97.50-m-long train crosses a signal pole in 5 sec.

FAT A- JT 24 97.5 WX it avTa 4T 6T g oY o e § serehe Us — g8y &7 9 & § I 7t 2
FAAB- T HAYL % 1T 11:15 F97 TeAT | e’ g, S 567 TRt &t @ a7 2l

FAF C - 97.50 HIZT T &1 5 e # Frorr-fadorss wqes 1 912 #7712

01. Only Statement A 02. Statement B and Statement C together
FAT HAT A FIT B 3T C TH a1

03. Statement A and Statement C together 04. All statements are required
FAT A 3T C T T Tt AT T ATTITFAT S

0S. Only Statement B
FAA FIT B AR 8

Q-79 Given below are 3 statements with each question, you have to decide that which of the following statement/statements are necessary to
eng hin  answer the question.
19 fRRTTTTAFITF 7 3 FI7 XCACE, ATH IZITFATR FF TFFTITCRA ¥ fog Awfafaa & & sraqarsaa/ a7
AT G

At what time will a train reach Kanpur from Patna?

TEAT & FIAYE 2 (o T Tg=i1?

Statement A- The train crosses another train of equal length of 97.5 m and running in opposite direction in 9 sec.
Statement B- The train leaves Patna at 11:15 am for Kanpur, which is at a distance of 567 km.

Statement C- The 97.50-m-long train crosses a signal pole in 5 sec.

FAT A- 3T 24 97.5 Hie T aTa FaTs &l § 3T [Aqdq e § 9% UF — gaL &1 9 e | 97 Fdt 2
FAAB- 3 FIAL % o7 11:15 597 92471 & fAehercdt 8, 51 567 Rt fy g aw &)

FIT C - 97.50 Hex Tl 27 5 Fohe § fFor-fAers waed &1 I F:3dT g

01. Only Statement A 02. Statement B and Statement C together



FeTeT FAT A 9 B &7 C U a1

03. Statement A and Statement C together 04.  All statements are required
FAT A ¥ C TF 919 T FAAT AT ATTITFAT
05. Only Statement B
F9T FI7 B ALl ©

Solution for Question 79 Ans Key: 2

eng/eng From Statement A,

Relative speed of train= 195 mysec =78 km/h
9
From Statement B,

Distance = 567 km
From Statement C,

Speed of train = 27.5 = 19.5 m/s

5
The speed of other train is not known so only statement B and statement C are the required statement.
FAT A T,
Ter Y arier 1 = 295 m/sec = 78 km/h

9

FITBH,
I =567 km
FATA H,

AT =%75 —105m/s

T T AT FA AT TE E THIAT FAT B AT FAT C & SAA9TF FA7 ¢

From Statement A,
Relative speed of train= 195 m/sec =78 km/h

From Statement B,
Distance = 567 km
From Statement C,
975 = 19.5 m/s

The speed of other train is not known so only statement B and statement C are the required statement.
FIT A T,
Tor v\ i = 125 mysec =78 km/h

o

Speed of train =

FI9T B ¥,
T =567 km
FATA |,

YAt =272 =19.5m/s

TEL I AT AT AT ALl g SHITAT FHAT B 3T FAF C ¥ AqeTF FIAT 5

Q-80 Given below are 3 statements with each question, you have to decide that which of the following statement/statements are necessary to
answer the question.
i fFETTTTAFTTH QTA 3 FIT FRTACE, AMIRT IZTT FTATE (6 T FTITIR F foru Fwfafaa & F sta v/ sa9
AAITF G

Find the height of an equilateral triangle.
HHATg st & 39S 1 Aitora?

Statement A- Perimeter of the triangle is equal to the perimeter of the rectangle whose length and breadth are in the ratio of 5 :3.
Statement B- Perimeter of a square is known, which is twice the perimeter of the triangle.

Statement C- Area of the triangle is known.

FIT A- ISt &1 IR, AT % IRATT % 76 § AT AT & ddTS T ATSTe FHT A9 5:3 ¢

FAA B- a1 T 91T ST AT 331 47 2, 9 st & afwmT &1 21 IE g

FIT C- Tt &7 e foaT 1 g

01. Any two of them 02.  Any of them
I T FS & I T A oY
03. Only Statement C 04. Either Statement B or Statement C alone
FaeT FI C FaT FAT B AT FaT w99 C
05. Statement A and either Statement B or
Statement C
FAT A TTFAT B AT F97 C

Q-80 Given below are 3 statements with each question, you have to decide that which of the following statement/statements are necessary to
eng hin  answer the question.

A I T T AF ITF A 3 FATRTATCE, ATF T T FATE PR A FTI9LA F forg fawfafaa & & staarsaa/sa+



AALTF B

Find the height of an equilateral triangle.
TqHaTg S 6T IATS AT Hord?

Statement A- Perimeter of the triangle is equal to the perimeter of the rectangle whose length and breadth are in the ratio of 5 :3.
Statement B- Perimeter of a square is known, which is twice the perimeter of the triangle.

Statement C- Area of the triangle is known.

FIT A- Broget 1 afvwT, s 3 9T F See § T AT F 4TS ST FETe B AT 5:3 8

FAT B- a7 &1 GRATT ST 61 33T 797 €, 7 Bt & o &7 21 I 8

FIT C- Tt &7 e foar 1 g

01. Any two of them 02.  Any of them
ITH A AL &l ITH A A off
03. Only Statement C 04. Either Statement B or Statement C alone
FaeT FI C FaT FIF B AT FaT w99 C
05. Statement A and either Statement B or
Statement C
FIT AITHIT BIT I C

Solution for Question 80

eng/eng

eng hin

Let the area of triangle = 163m?
and perimeter of square =48 m
From statement C:

V3a®_i¢3
From here side of the equilateral triangle and height can be calculated.
From statement B:

-Z:_:8

3Ix2

And height of a triangle = ¥ 2 a

Statement A: No conclusion.
So, using either B or C alone can find height.

HHET ﬁﬂoa T TR = 163 m2
ST ot hT IRHTT = 48m
FITCH,

¥3 Jietga

wﬁ,aﬂa@ﬁsﬁﬁgmaﬁtmmm%\
FITBH,

o

—— =8

3x2

B e = Y3,
2

FATA T,

EIESEE
ITA:, AT AN halcd U B IT A C 8 318 fehTed Tohdl |

Let the area of triangle = 163m?
and perimeter of square = 48 m
From statement C:
V34’63
4
From here side of the equilateral triangle and height can be calculated.
From statement B:
48
3x2

And height of a triangle = "_E a
2
Statement A: No conclusion.

So, using either B or C alone can find height.

AT BT T 8kt = 163 m?

Ans Key: 4



S ot o1 9T = 48m
HITCH,
V3a?_63

4
TET U, THATE B[ shT [T 371 =TS Fehret |ohct
FHBH,
i
3x2 -

frqsrarzams = V34

2

FATA T,
EIESE N
I, AT Al haed U B T HH C & IT8 HehTed Tehd 2|

Q-81 10th Defence Technology and Trade Initiative, DTTI Group Meeting was held virtually between India and which country?
eng/eng 10 3 AT WRIRIAT ST ST T2, SIEETSE FTHE 1 A5H WA AT e 297 % A1 g% ofr?

01. ]apan 02. China
ST =
03. Russia 04. US
05. Brazil
TS

-81 10th Defence Technology and Trade Initiative, DTTI Group Meeting was held virtually between India and which country?
! ¢ L echnolog p v gwasl y Iy
10 T TeaT ST 37T SATIE T8, SIEtarens dqg &l do% AT off¥ o 397 % o= g% o

01. Japan 02. China
ST EiE|
03. Russia 04. US
05. Brazil
EIEIES

Solution for Question 81

Ans Key: 4

As part of the Indo-US Bilateral Defence Cooperation, the 10th Defence Technology and Trade Initiative, DTTI Group Meeting was held virtually.
AT - ET TEaefi=r Teim A & B0 & =7 #, 10 31 647 SRR 3T AT 98, SIEETsTs Tqg T 5% Teqd: AT i T2 o)

As part of the Indo-US Bilateral Defence Cooperation, the 10th Defence Technology and Trade Initiative, DTTI Group Meeting was held virtually.
ATE-S T fguefier 747 @22 % f2e % =7 §, 10 9 747 SRy e = g, s aug ¥ 5% aeqd: g i s off

Q-82 Recently Assimi Goita was appointed as the Vice President of which country?

T 2T § ATEHT Tr=ar &7 o 397 3 Iu=rgafa & &9 7 Fgen e 1w

01. Maldives 02. Fiji
ATARE Rt
03. Cuba 04. Singapore
- "

05. Mali
AT

Q-82 Recently Assimi Goita was appointed as the Vice President of which country?
enghin 2T &t # TR Tzt 1 e 291 % Suwrgafa % = § g o

01. Maldives 02. Fiji
ATARE Rt
03. Cuba 04. Singapore
A e
05. Mali

AT

Solution for Question 82

Ans Key: 5

eng/eng  Assimi Goita was appointed as the Vice President of Mali.

ST AT AT /AT STTgAfd % w9 § e B = =m



eng hin

Assimi Goita was appointed as the Vice President of Mali.

ST AT T /AT STTgAfd % w9 § s B = =m

Q-83 Every year the International Red Panda Day is celebrated on to raise public awareness and support for red panda conservation issues.
eng/eng FT AT SaTTET =T fRaw Arer =T 6 qEt O o IR AT aE T A A F o A A S 2
01. Third Tuesday in September 02. Second Saturday in September
v 3 . Rrea & p
03. Third Monday in September 04. Third Saturday in September
e # e JrHam e # deeT afar
05. Second Tuesday in September
e & e #ean
Q-83 Every year the International Red Panda Day is celebrated on to raise public awareness and support for red panda conservation issues.
eng hin 2T AT SaTTET =T faw Arer =T S qEt O o IR AT aE T A A F R T A S 2
01. Third Tuesday in September 02. Second Saturday in September
[GRERE RGN IS [GEERE: RGN IR
03. Third Monday in September 04. Third Saturday in September
e # e JrHam e # e afqar
05. Second Tuesday in September
EECAE R CRLEEI
Solution for Question 83 Ans Key: 4
The International Red Panda Day (IRPD) is celebrated on third Saturday of September every year to raise public awareness and support for red panda
conservation issues.
ST STRTEHAT ARTH 3T AT W % HLE0 & i I THET & 6 (o0 g2 a1 [Hda? & e e &1 siaagid 1€ 971 fdaq (IRPD) J13T Stat
El
The International Red Panda Day (IRPD) is celebrated on third Saturday of September every year to raise public awareness and support for red panda
conservation issues.
ST STTHAT ART ST AT T 6 HLEAT & Tl il THAT 3 % o0 g7 J7e e ey iFame #7 dqeigi 2 97T g (IRPD) JATAT S[Tat
2
Q-84 Fitch Solutions has projected India’s GDP growth for2020-21 (<)
= ategere F 9 & st 9t 202021 (-) aﬁil«rrra—rrmﬁ—cra‘%ﬁn
01. 9.0% 02. 8.0%
03. 9.6% 04. 7.6%
05. 8.6%
Q-84 Fitch Solutions has projected India’s GDP growth for2020-21(-)
= afeei® F 9 aﬁrfﬁ'ﬁﬁzozozl() ?ﬁrnmﬁ?aﬁrm
01. 9.0% 02. 8.0%
03. 9.6% 04. 7.6%
05. 8.6%
Solution for Question 84 Ans Key: 5
eng/eng  Fitch Solutions has revised downward its forecast for Indian economic growth and now estimates that India’s GDP will contract by 8.6% in 2020-21
(FY21).
= 9™ T AT ST e o o oo @it 7 Sertaa T & sfiY o1& sTaT 8 3 A9 &7 gt 73 3ca18 2020-21 (FY21) &
8.6% T g ST
eng hin  Fitch Solutions has revised downward its forecast for Indian economic growth and now estimates that India’s GDP will contract by 8.6% in 2020-21
(FY21).
TR FIeei™ T AT AT e o o7 e @it 7 Sertea R & sfiY o1& STATT & 3 A1ed & gl 93 3ca18 2020-21 (FY21) &
8.6% T g ST
Q-85 Former US President, Barack Obama has announced his first presidential memoir titled “A Promised Land.” Which will be published in November 2020 in
eng/eng how many languages by Penguin Random House?

T TERT % qF TPAfa, ST AETHT T S Tger TP F Henwor v arer fi e of e 8 “A Promised Land.” ST wEE¥ 2020 H WEA =W
BTSH ZTT Tohait STOTst  STaRTrerT T o

01. 15 02. 25
03. 18 04. 30



05. 22
Q-85 Former US President, Barack Obama has announced his first presidential memoir titled “A Promised Land.” Which will be published in November 2020 in
eng hin  how many languages by Penguin Random House?

AT F qF TTPAT, T AETHT 7 ST gl YT F FEAL0T T AT 7 et of e & “A Promised Land.” fSr&r 778@¥ 2020 H W[ =0
TS g fohat AraTelt & sahrtora o stroa?

01. 15 02. 25
03. 18 04. 30
05. 22
Solution for Question 85 Ans Key: 2

eng/eng  Former US President, Barack Obama has announced his first presidential memoir titled “A Promised Land.” The 768-page book will be published in

November 2020 by Penguin Random House and is scheduled to be released on November 17, 2020, in 25 languages.

& STHTVRT TP, ST SHETHT 7 9" gl TP  HEReor it =Jroor T, et oftdw <A Promised Land.” 768 9T #Y foramar 7/9@¥ 2020 #
TS YW EISH ZIT THTI9T ol STUAT 37T T8 17 q94%, 2020 FT 25 ATHTS | ST 63T o

eng hin  Former US President, Barack Obama has announced his first presidential memoir titled “A Promised Land.” The 768-page book will be published in

November 2020 by Penguin Random House and is scheduled to be released on November 17, 2020, in 25 languages.

& STHTYRT TP, ST SHETHT 7 9" Tl TP o HEaeor T =Jroor T, fSreet ofid= <A Promised Land.” 768 9T # foramar 79@¥ 2020 #
TS YW EISH FIT THTIQIT ol SO 37T 39 17 q94%, 2020 FT 25 ATHTS | ST 63T o

0Q-86 In Women’s single, Simona Halep has won her first Italian Open title, she is related to which country?
gigerent = U |, [EET gTerT 7 99T UgdT garerd Arae fodre Stiar g, 98 e 297 7 getad 22

01. France 02. Serbia
E /. C é q
03. Romania 04. Japan
TIATEAT ST
05. Russia
=
Q-86 In Women’s single, Simona Halep has won her first Italian Open title, she is related to which country?

gigeren = Ut |, [EET gTerT F 9ET UgdT garerd Arae fdre Stiar g, 98 e 297 7 getad 22

01. France 02. Serbia
03. Romania 04. Japan
TIATEAT ST
05. Russia
Solution for Question 86 Ans Key: 3

In Women’s single, Simona Halep defeated champion Karolina Pliskova, 6-0, 2-1, to win her first Italian Open title.
TIRATSH 2 Tehet §, TR grer S o= o fSorehiaT T 6-0, 2-1 T ZLIeRT STTAT TgoAT ST ora Ao+ f&rare St

In Women'’s single, Simona Halep defeated champion Karolina Pliskova, 6-0, 2-1, to win her first Italian Open title.

AIZATSH % Ut H, AT gTorT T A4 HLTAT o1 &1 6-0, 2-1 H ZLTHT AUAT TgaAT T S+ feare st

Q-87 India and which country have launched the first-ever direct Cargo Ferry Service on 21 September 2020 to boost trade between the two countries?
eng/eng T ST [ 297 ¥ AT 2901 6 1= SATAT T FTET 2 % o1 21 Fda 2020 FT TEAT AT e F G2 HaT 905 61 52

01. Bangladesh 02. Maldives
CIEIEE B IEEC]
03.  Afghanistan 04. Nepal
A= CRIET
05. Bhutan\
e

Q-87 India and which country have launched the first-ever direct Cargo Ferry Service on 21 September 2020 to boost trade between the two countries?
eng hin AT ST 368 297 7 AT 2901 % &= SATAT T FRTET 27 % o1y 21 e 2020 FT T2t o1 et FI G20 HaT 0% 61 82

01. Bangladesh 02. Maldives
AT T

03.  Afghanistan 04. Nepal
A= T

05. Bhutan\



T

Solution for Question 87 Ans Key: 2

eng/eng

India and the Maldives have launched the first-ever direct Cargo Ferry Service on 21 September 2020 to boost trade between the two countries. The

cargo ferry service will connect the Indian ports of Tuticorin and Cochin ports with Kulhudhuhfushi and Male ports in the Maldives.
AT 3T ATARTE o AT 2977 % 1o ATITL FHT F@Tal & 6 (0 21 FHaaw 2020 FT Tgetl a1 TAET FEI BT 84T F 61 8| ATAaTg A1 qa1

AT H FAeg el T wTer SRt % AT T ST R ST F AT ST AT ST

eng hin  India and the Maldives have launched the first-ever direct Cargo Ferry Service on 21 September 2020 to boost trade between the two countries. The
cargo ferry service will connect the Indian ports of Tuticorin and Cochin ports with Kulhudhuhfushi and Male ports in the Maldives.
AT 3T ATARE o AT 2977 % A1 ATITL HT F@ral & 6 (0 21 FHaaw 2020 FT Tgedt a1 TAET FEI HEL 84T F 61 | ATAATE A6 qa1
AR § HALGRLAT 3T AT AGTATRT o AT TR ST BT GEITRT % AT A& T SIS
Q-88 India was ranked at which position on the Global Economic Freedom Index 2020?
engleng  TAIE THIANAE HISH TS 2020 T WILT T 36 ST 9T 7T T 412
01. 97th 02. 71st
03. g8gth 04. 105th
05. 30th
Q-88 India was ranked at which position on the Global Economic Freedom Index 2020?
enghin TS THIAE HISH TS 2020 T WILT T 36 SITH 92 T@T T 412
01. 97th 02. 71st
03. 8gth 04. 105th
05. 30th
Solution for Question 88 Ans Key: 4
India has fallen 26 spots to rank at the 105th position on the Global Economic Freedom Index 2020, as per an annual report released on September 10,
2020. The country was ranked at the 79th spot in last year's rankings.
Hong Kong topped the Global Economic Freedom Index 2020 yet again, followed by Singapore at the second rank, based on 2018 data. The other
countries ranked in the top 10 include New Zealand, Switzerland, the US, Australia, Mauritius, Georgia, Canada and Ireland.
AT 10 FEdaw, 2020 FT ST UF AT F RIS F SATHE, TATEA S0 IeH 294 2020 9T 105 F T 9% [ & 1w 26 w&mEt a2 {iw @
g1 zor forger arer Y IR § 79 & T a2 Am
2018 % SATHST o SATLTT T, FRTHNT IATIA S HIeH S 2020 F T2 | ot 7% 727, T80+ are FETqe g8y &1 u< wEnl offd 10 7 errfeer
a7 39T H =St e, aeseats, s, siree o, RIKTer, ST, FATET si¥ Aava e o 2|
India has fallen 26 spots to rank at the 105th position on the Global Economic Freedom Index 2020, as per an annual report released on September 10,
2020. The country was ranked at the 79th spot in last year's rankings.
Hong Kong topped the Global Economic Freedom Index 2020 yet again, followed by Singapore at the second rank, based on 2018 data. The other
countries ranked in the top 10 include New Zealand, Switzerland, the US, Australia, Mauritius, Georgia, Canada and Ireland.
ARA 10 [FdaT, 2020 T ST TH AT F IS F SATHE, A ShIATTHE HIed S2a 2020 T2 105 3 &1 92 R & orw 26 =1 92 {iw @
F e et AT it LT | 79 & T 9T 4]
2018 % SAHST = SATETT T, ERIHRT TAGA ShIATTH WIS Sea 2020 H T2 & ofitl o2 T, 30 are [T @< #2019 9% 3201 o 10 # enmfaet
AT I F St e, Raesae, AR, SAieetorgT, A9, ST, FATST ST ArATd S gATHe g
Q-89 Narendra Modi is the second indian Prime Minister to be awarded the 1G Nobel Prize, who was the first Prime Minister to be awarded the iG Nobel
eng/eng Pr@ze? o ) ]
TR HIAT ATSST AT TEERTT & FHATAT g ATl gH AT TETTHAT &, Tgol Tt i o 5eg, Srssit Fraet [TehTT § 1T a1 74T
ar?
01. Atal Bihari Vajpayee 02. Rajeev Gandhi
srea fagrdt arsret REIERIE
03. Indira Gandhi 04. Man Mohan Singh
Ffar areft 7 wred fie
05. Jawaharlal Nehru
Q-89  Narendra Modi is the second Indian Prime Minister to be awarded the IG Nobel Prize, who was the first Prime Minister to be awarded the IG Nobel
eng hin  Prize?

TIE HIET ATSSIT AT TLERTY & TEATHT 21 aTel gAY AT TLTAHAT 3, Tgel TTaaat 1 o g sresit Aiere qLEhTe & g 6 a=w
12

01. Atal Bihari Vajpayee 02. Rajeev Gandhi
e fargreT arsrat REIERIET
03. Indira Gandhi 04. Man Mohan Singh

Fhey ey w Hig fHig



05. Jawaharlal Nehru

Solution for Question 89 Ans Key: 1
eng/eng  Prime Minister of India, Narendra Modi has been awarded the Ig Nobel Prize 2020 for Medical Education. PM Modi is the second Indian Prime Minister
to be honoured with the Ig Nobel Prize. Prior to this, Atal Bihari Vajpayee was awarded in 1998.
AT o T FAT T35 HrEr T oA forear & forg st Freer eeate 2020 & qeariaa B3 2 g1 frow JrE ArSsit aiee [Ees &
FEATHT B ATl THY AT TLTHAT g1 THE Tgo 1998 | 7o fagir arsrody &7 qeqri=a a7 12 =m
eng hin  Prime Minister of India, Narendra Modi has been awarded the Ig Nobel Prize 2020 for Medical Education. PM Modi is the second Indian Prime Minister
to be honoured with the Ig Nobel Prize. Prior to this, Atal Bihari Vajpayee was awarded in 1998.
AT o T FAT 7 HIET T Ffehear forear & forg st Fiee et 2020 & FFariea 36T 72 81 s JrE aresit areae [EesTe &
AT B9 aTel T AT T TETHHAT &1 S99 T8 1998 7 sreet fogrit arsraft st e 36 arm =m
Q-90  Pench National Park is located in-
eng/eng a?z é'q WWW%?
01. Assam 02. Karnataka
ELE] FATH
03. Tamilnadu 04. Odisha
qHATE arfeer
05. None of these
Q-90  Pench National Park is located in-
01. Assam 02. Karnataka
TEH Tl
03. Tamilnadu 04. Odisha
BIEEEIE EIEE
05. None of these
Solution for Question 90 Ans Key: 5
Pench National Park is a national park in India's Madhya Pradesh state, established in 1975 with an area of 257.26 km?.
U= TP IATH T 6 HET TE9T XoF § Uk UPT S 2, o8 1975 T 257.26 =57 T = &7 | =i = w3 om
Pench National Park is a national park in India's Madhya Pradesh state, established in 1975 with an area of 257.26 km?.
U= TET AT AT o HET T TST § Tk TET S 2, TS 1975 § 257.26 =357 Bt 3 &1 & wnfa B = om
Q-91 Prime Minister Narendra Modi dedicated to the nation three key projects related to the Petroleum sector in which state through video conferencing
recently?
TETT FT TYE HIST o T g1 § ATTSIT FISKEAT & ATeAH § 36 T757 | TSI &5 & Haferd o S TRarsrat w1 qufid = g2
01. Bihar 02. Assam
ég T HIH
03. Jharkhand 04. Kerala
ARET FTA
05. Punjab
EEIE]
Q-91 Prime Minister Narendra Modi dedicated to the nation three key projects related to the Petroleum sector in which state through video conferencing
eng hin  recently?
TUTT HAT A3F HIET 7 BT g1 § ATSAT FISHIEAT 6 ATLAH | o 57 § TS| & | Hated i ST Trars=re w1 a9tid Har g2
01. Bihar 02. Assam
ég T HgH
03. Jharkhand 04. Kerala
ARET FTA
0S. Punjab
EEIE]
Solution for Question 91 Ans Key: 1

eng/eng The Prime Minister Narendra Modi dedicated to the nation three key projects related to the Petroleum sector in Bihar through video conferencing.

TETAHAT TLF A4t 7 g § TErorss Fey 4 &1 31 T TRATSAT0 AT FHIphienT & S0 g HT a9id 6|

eng hin

The Prime Minister Narendra Modi dedicated to the nation three key projects related to the Petroleum sector in Bihar through video conferencing.



TETHAT Tz AIET 7 S & Serferaw dsew & ST i s afarser A= S % sfow g #7 aafiq £

Q-92  Recently a Multi-purpose Sports Complex, named after Arun Jaitley is to be built in which state/ UT?
eng/eng BT ol H STEU SEAT % ATH UL UF G354 NT THCH FlFoolar o6 T / Fiex TTHT T2 H FATAT ST 82
01. Delhi 02. Jammu & Kashmir
ot ST ST FEHIT
03. Gujarat 04. Haryana
05. Madhya Pradesh
HET T2
Q-92  Recently a Multi-purpose Sports Complex, named after Arun Jaitley is to be built in which state/ UT?
enghin BTN &l # STH0T SIZAT % ATH UL UF G35 9ANT THCH FlFoolr o6 T / Fiex TTTHT T2 H IATAT ST 82
01. Delhi 02. Jammu & Kashmir
et ST ST FEHIT
03. Gujarat 04. Haryana
05. Madhya Pradesh
HET T2
Solution for Question 92 Ans Key: 2
Giving a major push to sports infrastructure in Jammu and Kashmir, Lieutenant Governor Manoj Sinha along with union ministers Jitendra Singh and Kiren
Rijiju, jointly laid the e-foundation stone of Shri Arun Jaitley Memorial Sports Complex at Hiranagar.
TR 3T FeHIT § T F FIAATET T AT UF T2 IFT 3 gU, Afhede T4 qa1sT (el & a1 dara 74t fordg g =i e R 7 899 =9
T FTTE F =T =T Stecft AT T FIFoors i AT Tl
Giving a major push to sports infrastructure in Jammu and Kashmir, Lieutenant Governor Manoj Sinha along with union ministers Jitendra Singh and Kiren
Rijiju, jointly laid the e-foundation stone of Shri Arun Jaitley Memorial Sports Complex at Hiranagar.
STHY ST FeHIT § T F AT @9 T UF TST G 0 g, AlFerie Ta- TS [8eg1 F a1 dwaia 9341 Sz ffig e e o 7 9 =7
ST | AT 7807 et AHTRAT TACH HIFAaT i AT AT T
Q-93 Recently China has launched successfully how many satellites into orbit from ship stationed in the Yellow Sea?
BT & § AT F TRAATLAH ohad START &l TTel TWL H AT SIGIST o FHeEqT | Afed (hg1?
01. 12 02. 5
03. 9 04. 7
05. 3
Q-93 Recently China has launched successfully how many satellites into orbit from ship stationed in the Yellow Sea?
BT 21 § T 7 TRAATIAF Fohdl el ITURT &l Il TN H AT STETST | FeAT | Afed har?
01. 12 02. 5
03. 9 04. 7
05. 3
Solution for Question 93 Ans Key: 3
eng/eng  China successfully launches nine satellites into orbit from ship stationed in the Yellow Sea.
T T ARAATAF AT STIRT &l dTef AR § TG STt & FedT § Atedt o2
eng hin  China successfully launches nine satellites into orbit from ship stationed in the Yellow Sea.
T T ARAATLAF A1 STURT T T T F JATT STZTS 7 HeT | Ale= TR
L [
Q-94 Recently ICICI Home Finance launched “Apna Ghar Dreamz”, its new home loan scheme for skilled labourers like electricians, mechanics, painters,
eng/eng  grocery store owners etc in the informal sector of .

BT &1 # ICICI g9 Hre+d F AATTATI &7 H TAFAIA, Hohah, Tex, T T T % ATl Arfa S8 R/ TG & (o
AT TS ZTH AT ATSTAT “IUAT T G Al {3627 |

01. Mumbai 02. Delhi
s feett
03. Kolkata 04. Hyderabad
FHTAHRTAT EERELES

0S. Chennai

EEES



Q-94 Recently ICICI Home Finance launched “Apna Ghar Dreamz”, its new home loan scheme for skilled labourers like electricians, mechanics, painters,
eng hin  grocery store owners etc in the informal sector of
TAGHICICIEH ®IZAe S %Wéﬁﬁsﬁﬂﬁﬂaﬁﬁ%ﬁmﬁaﬁ?ﬁﬁgm%mﬁﬁwﬁ@ﬁmmm@%ﬁﬁm
Mﬁ@wﬁﬁzﬁw“mm%ﬁﬂﬁ At 3T |
01. Mumbai 02. Delhi
Hqae il
03. Kolkata 04. Hyderabad
FIARTIT EESAC I
05. Chennai
EEE
Solution for Question 94 Ans Key: 2
eng/eng  The ICICI Home Finance launched “Apna Ghar Dreamz”, its new home loan scheme for skilled laborers like electricians, mechanics, painters, grocery
store owners etc in the informal sector of Delhi.
ATSEATEHTATE ZIH FT2AH 7 fIoeit F ST TTATIE &7 § FH9T TG S8 TAFL AR, Heb i, Wew, FohemT w212 & wrfers st 3 forw sraeft 42
B AT ATSTAT "SI =Y ST 7% il
eng hin  The ICICI Home Finance launched “Apna Ghar Dreamz”, its new home loan scheme for skilled laborers like electricians, mechanics, painters, grocery
store owners etc in the informal sector of Delhi.
ATSETATSHTATE ZIH FTeAH 7 fFoeAT F SAATTATIE &7 § FHITA TG S8 TAFL AR, Heh i, Uew, FohemT w212 & wrfers arfa o forw sraeft 92
BTH A JTSTET "SIHT =T ST % |
Q-95 Recenlly Indian Ayul\eda physlufm PR Krishnakumar has p”med away, he was related to which state?
:'T_’I'Z'TW Hl’dlq uﬂ’{q" l”!l‘h’H‘h ‘Tl'uTlT PTUTHHATL T I"icl"I :'TT[_JT a—”"ﬁ'_qwqg—ﬁﬁ\ﬂ q?
01. Tamil Nadu 02. Assam
03. Karnataka 04. Kerala
FATH A
05. West Bengal
T ST
Q-95 Recently Indian Ayurveda physician, PR Krishnakumar has passed away, he was related to which state?
T &l | w17 siga e rfenca, Treme Feurgar &1 e g1 14w, ag e Trsa & aferd o
01. Tamil Nadu 02. Assam
03. Karnataka 04. Kerala
FATET FTA
05. West Bengal
Solution for Question 95 Ans Key: 1
Tamil Nadu based prominent Indian Ayurveda physician, PR Krishnakumar passed away. He was the Founder and Managing Director of the iconic
Coimbatore Arya Vaidya Pharmacy (AVP) as well as the Chancelior of the renowned Avinashilingam University in Coimbatore.
AT F T AT A e, e Foorgame #7 Feam| ag wfafSa Fraraes F deamas o gy e ard a=r s (vedrdh) %
-8 FIIAFICL 6 THE ATAATNRTA (e F Faard a1
eng hin  Tamil Nadu based prominent Indian Ayurveda physician, PR Krishnakumar passed away. He was the Founder and Managing Director of the iconic
Coimbatore Arya Vaidya Pharmacy (AVP) as well as the Chancellor of the renowned Avinashilingam University in Coimbatore.
FIAFATE F T AT A s = fheas, e Foorgam #7 e ag wfafSq Fraraes F deamas o yee e ard a=r s (wedrdh) %
ATT-HTT FHIAFIEL 5 THG AAATTATTHT Tafaemad & FAdrd o
Q-96 Recently the 4th edition of Global Ayurveda Summit was virtually inaugurated by whom on the theme “Emerging Opportunities for Ayurveda during
eng/eng Pandemic™?
T 1§ TG AR A0S 5 4 3 HEH0T T SHTed "HEHRT % A1 AR % SHLT e foue 9 fmsh g e  om?
01. Narendra Modi 02. Dr Harsh Wardhan
03. Piyush Goyal 04. M Venkaiah Naidu
g T TH 3T qE
0S. Amit Shah
AT T
Q-96 Recently the 4th edition of Global Ayurveda Summit was virtually inaugurated by whom on the theme “Emerging Opportunities for Ayurveda during
eng hin  Pandemic™?

BT &1 | TolTaeT Mg AiHe % 4 F TEhT0T T IFTe "HGTHTIT o I AT o 30 sraee” faroer uw s grer foar =



01. Narendra Modi 02. Dr Harsh Wardhan

03. Piyush Goyal 04. M Venkaiah Naidu
RURIEE ECEERIKIRES
0S. Amit Shah
AT T
Solution for Question 96 Ans Key: 4
eng/eng  The 4th edition of Global Ayurveda Summit was virtually inaugurated by Vice-President Muppavarapu Venkaiah Naidu on the theme “Emerging
Opportunities for Ayurveda during Pandemic”.
e sa e fOraT qF e ¥ 4 3 SERT0T T ITe qEqd: SULTZATT qUITawTy AT AT4g. 7 "HTHTLT % IITH AAE % (o7 39T e oo
EEERIRI
eng hin  The 4th edition of Global Ayurveda Summit was virtually inaugurated by Vice-President Muppavarapu Venkaiah Naidu on the theme “Emerging
Opportunities for Ayurveda during Pandemic”.
e AT FAET A & 4 3 HERTOT T 3T qEqd: SULTZITT qUITawTy AT AT4g. ° "HTHTLT % I AR % (o7 IATT e oo
oz T am
Q-97 Recently the bilateral 2+2 Inter-sessional meet was held between India and which country?
engleng BTN &l § WA 1T Fohar T 3 ot fewefiar 2 + 2 sfaz-=araanas a2+ g2 o
01. Japan 02. Russia
03. Finland 04. China
0S. United States
Q-97 Recently the bilateral 2+2 Inter-sessional meet was held between India and which country?
T &1 F 9T e ey Zor 3 ot fgwefier 2 + 2 siaw-=amamntas do& g2 o2
01. Japan 02. Russia
03. Finland 04. China
0S. United States
Solution for Question 97 Ans Key: 5
India and the United States held a bilateral 2+2 Inter-sessional meeting in virtual mode.
T Y T TS STHTLHT o STATE /e § Foefi 2 + 2 siav-aAmaartas a6 i i
India and the United States held a bilateral 2+2 Inter-sessional meeting in virtual mode.
VT 1Y T 117 STHTLHT F AT A7IE § 30efi 2 + 2 siav-aAmaaras 956 A i
Q-98 Recently the Indian Navy has commenced a Passage Exercise with which country’s Royal Navy in the East Indian Ocean Region?
eng/eng BT ol H WILATH FATEAT F TAT 28 WETHNIT &r= § fohey 297 1 Tt 1 6 |1 U om0 Foham 22
01. UK 02. USA
o T ST AHTET
03. Indonesia 04. China
ST 1
05. Australia
i A
Q-98  Recently the Indian Navy has commenced a Passage Exercise with which country’s Royal Navy in the East Indian Ocean Region?
eng hin BTN &1 § WA AEAT F TAT (23 HETHNIT &0 H o 397 T LA 4T % |1 U ST 0% 0T 87

01. UK 02. USA

o T T THITHT
03. Indonesia 04. China

ESIGIRRI =
05. Australia

areaforaT

=

Solution for Question 98 Ans Key: 5



eng/eng  The Indian Navy (IN) has commenced a Passage Exercise (PASSEX) with Royal Australian Navy (RAN) in the East Indian Ocean Region.
AT AT (IN) T T (&7 AR & § T sfieeforars AremT (RAN) F |72 UF AR 7+ (PASSEX) 7% a7 8

eng hin  The Indian Navy (IN) has commenced a Passage Exercise (PASSEX) with Royal Australian Navy (RAN) in the East Indian Ocean Region.
AT AT (IN) T T (&7 AR & § T sfieeforars A8t (RAN) 3 |72 UF AR 119 (PASSEX) 7% a7 21

Q-99 Recently the Thomas Cup and the Uber Cup, which were scheduled to be held from 3 to 11 October 2020 in Denmark, has been postponed for 2021,
eng/eng  these cups are related to which sport?

BT &1 | 0T FT 37T I 9, ST AW | 3 F 11 s1Fa< 2020 TH g1 a1t o, &1 2021 F forw zrer feam o 8, 7 0 o oo & gafam 82

01. Cricket 02. Football
e Heatd
03. Badminton 04. Chess
Fefda TSt
05. Hockey

Q-99 Recently the Thomas Cup and the Uber Cup, which were scheduled to be held from 3 to 11 October 2020 in Denmark, has been postponed for 2021,
eng hin  these cups are related to which sport?

BT 1 § IT0H FT ST I F9, ST SAATE | 3 11 3TFa 2020 TF 1 ATl 2, FT 2021 F o1 =1t {23 T g, T 9 o6 g & gaterd 82

01. Cricket 02. Football
e R
03. Badminton 04. Chess
05. Hockey
Solution for Question 99 Ans Key: 3

The Badminton World Federation (BWF) has announced that the Thomas Cup and the Uber Cup, which were scheduled to be held from 3 to 11 October
2020 in Denmark, has been postponed for 2021.
Fefiied ao< wevae (BWF) T =9t i1 & T3 SHATE § 3 7 11 @< 2020 T g4 a1l STHE F9 i< 39 &7 2021 F forg arer fgm = g

The Badminton World Federation (BWF) has announced that the Thomas Cup and the Uber Cup, which were scheduled to be held from 3 to 11 October

2020 in Denmark, has been postponed for 2021.
Fefied a2 Hevee (BWF) 7 =9or i1 & & S0 § 3 9 11 saea¥ 2020 TF gi9 aTa1 F99 F9 3T 397 F9 2021 F forw a1t g7 @ g

Q-100 Recently Titan Company has partnered with which bank to launch India’s first contactless payment watches named “Titan Pay”?

BT &1 | 2T2ed HOAT 7 WA & qgol e Tgd ST JiSAl &l "aTged T 9 & o 9 % arer e 1 g2

01. Axis Bank 02. ICICI Bank
03. HDFC Bank 04. YesBank
TS U] S I §F
05. State Bank of India
WA T §%

Q-100 Recently Titan Company has partnered with which bank to launch India’s first contactless payment watches named “Titan Pay”?
enghin &1 &l H ZTEEH FT 7 AT & Tgel HI Lrad AT qISAT H1 "2TEe O T & 36 9 F 719 Areem 6 22

01. Axis Bank 02. ICICI Bank
03. HDFC Bank 04. YesBank
TSI o REEED
05. State Bank of India
WA a2 5%
Solution for Question 100 Ans Key: 5

eng/eng Titan Company has partnered with the State Bank of India (SBI) to launch India’s first contactless payment watches named “Titan Pay”.
TTEEd FAAT 7 AILA T € 99 (SBI) F AT IO 61 2, S 9 67 qgeft 80 Tad ST Ji=di H1 "eTged 9" 9 3T 2

eng hin  Titan Company has partnered with the State Bank of India (SBI) to launch India’s first contactless payment watches named “Titan Pay”.
TTZEd FAAT 7 AILA T € d9 (SBI) F AT IO 1 2, e a1 67 qgeft 8 Tad SoarT Ji=d1 H1 "eTged 9" 9 3T 8

Q-101 Recently which bank has launched video KYC (Know Your Customer) facility for its customers?
engleng BT ol | [# &% 7 SO YTgahi 6 fory AT FATSHT (A7 AT FFaww) Hiaem 4= #1282



01. State Bank of India 02.

AT T2 I

03. HDFC Bank 04.

TAETURHT &
05. ICICI Bank
AEHTASHISATE oF

Canara Bank
FAT A

Q-101  Recently which bank has launched video KYC (Know Your Customer) facility for its customers?
eng hin BT &l § T3 & 7 ST UTeHT F (70 ATSAT FATSHT (AT T FFA) e F H1 52

01. State Bank of India 02. Canara Bank
AT w22 FALT AT
03. HDFC Bank 04. YesBank
THSTUFRHT FF I §F
05. ICICI Bank
B ELIE e
Solution for Question 101 Ans Key: 3
eng/eng HDFC Bank has launched video KYC (Know Your Customer) facility for its customers.
THSTUFRHT & F 59 ATgeht & fory AfRAT FATSHT (AT T1T Feew ) gl & i1 21
eng hin  HDFC Bank has launched video KYC (Know Your Customer) facility for its customers.
TRy 7 F a wrEat F o ffRe FArEt (7 e wEwe) gfer os £ &)
Q-102 Recently which state government has announced ‘My Family-My Responsibility’ campaign to fight Covid-19?
T 2t #§ forg T A F Fifag -19 & a2 & o <wwy afiam-wd Sreery sfsam 1 oo & 82
01. Uttar Pradesh 02. Tamil Nadu
ERES LN AfHeTg
03. Maharashtra 04. Jharkhand
H o) T g HATL J\Q‘ S
0S. Karnataka
FATEH
Q-102 Recently which state government has announced ‘My Family-My Responsibility’ campaign to fight Covid-19?
T 21 | T T a¥aTe 7 FifaE -19 F A4 F o By qRame-84 e srfsmm v =oom £ 22
01. Uttar Pradesh 02. Tamil Nadu
3T ?‘Jl—\:*ST C ﬁ‘;; N
03. Maharashtra 04. Jharkhand
0S. Karnataka
FAlEh
Solution for Question 102 Ans Key: 3

Maharashtra CM announced ‘My Family-My Responsibility’ campaign to fight Covid-19.

AEITY HIUH T A -19 T A4 F oI “H=7 aREme-337 e st S = i
eng hin  Maharashtra CM announced ‘My Family-My Responsibility” campaign to fight Covid-19.
AEITY HIUH 7 AT -19 F A4 F oIy “H=7 aREme-a37 e srfem i = i
Q-103  Recently Yoshihide Suga was elected as the new Prime Minister of which country?
eng/eng BT ol H ATTATER FT T Ty F9r T AT TETAHAT AT 1AT?
01. Myanmar 02. Japan
FIHTL ST
03. Singapore 04. Germany
i E
0S. South Korea
aferor HrfaT
Q-103  Recently Yoshihide Suga was elected as the new Prime Minister of which country?
enghin 2T &t # FTFATER T T Ty F9r T TAT TETAHAT FAT TAT?

01. Myanmar 02. Japan
L IR I EIRIGH

03. Singapore 04. Germany



05. South Korea
Fferor ST

Solution for Question 103 Ans Key: 2

eng/eng  Yoshihide Suga was formally elected as Japan's new Prime Minister in a Parliamentary vote.

TrefigTes | &1 SAT=AT & H STI % GO ale § 90 T G519 § F47 747 27|

eng hin  Yoshihide Suga was formally elected as Japan's new Prime Minister in a Parliamentary vote.

TrefigTeS |0 &1 SAT=AT & H ST % GO ale § 79U T 1 6 &9 § F47 747 27|

Q-104  The 10th Meeting of the BRICS High Representatives on National Security was held virtually, the meet was hosted by which country?
eng/eng BT qXeAT U faerr & 37 wiafafeat & 10 & s aeqa: fha 2o grer sranfra i g «f?

01. Brazl 02. Russia
EINIE q
03. India 04. China
R =
05. South Afiica
REREEIES

Q-104 The 10th Meeting of the BRICS High Representatives on National Security was held virtually, the meet was hosted by which country?
eno hin TSP gEeT U7 e =g wfAfAfeer £ 10 #F S awaT: B Tor g wrnfSE Ay e ofro

01. Brazil 02. Russia
EINIC] =g
03. India 04. China
1T =
05. South Africa
Zferor enfierT
Solution for Question 104 Ans Key: 2

10th Meeting of the BRICS High Representatives on National Security was held virtually. The 10th meeting of the NSAs was hosted by the current chair of

BRICS i.e. Russia.

T AT 9T T3 o 3g T aat &1 10 9T 5755 aeqa: ARSI o1 A1 TAUET 65 10 dT S5 1 [0 7 aqqT HET AT EF G s
=T AT T

10th Meeting of the BRICS High Representatives on National Security was held virtually. The 10th meeting of the NSAs was hosted by the current chair of

BRICS i.e. Russia.
LT AT 9 3 % Ig I AE=T 6t 10 A 5% qeqa: AT 61 T5| TATHT T 10 9 I35 i {50 T aqw1 Fo 1 A1 SF g0 Ao

T AT 4TI
Q-105 The Asian Development Bank has estimated that the GDP of India is expected to contract by in fiscal 2020-21.
uforaTs s S 7 sET oA g 5 A ad 2020-21 F g £ i & # gtz g Y FHTEAT
01. 9% 02. 8%
03. 7% 04. 6%
05. 5%
Q-105 The Asian Development Bank has estimated that the GDP of India is expected to contract by in fiscal 2020-21.
enghin  TRATE fome &9 = T e & B faer af 2020-21 # wea &1 sferdt & T g B 6T FATAAT B
01. 92 02. 8%
03. 7% 04. 6%
05. 5%
Solution for Question 105 Ans Key: 1

eng/eng The Asian Development Bank (ADB) has estimated that the GDP of India is expected to contract by 9% in fiscal 2020-21 (FY21).
ufaraTs o S (ADB) 7 AT avmar € FF fa=r ad 2020-21 (FY21) 7 wmea it st 7 9% it gf g it dwmamr 2

eng hin  The Asian Development Bank (ADB) has estimated that the GDP of India is expected to contract by 9% in fiscal 2020-21 (FY21).
TS fasTE S (ADB) 7 SIATH a9 & 6 far a9 2020-21 (FY21) § A1 T SHETAT H 9% T FTeg Fe T ST 2

Q-106 The Oil and Natural Gas Corporation of India has recently exited the oil fields of which country recently?
eng/eng ST TT THLA I FITTTLAT AT AT 7 21 21 | o6 291 % T &0 ¥ are? oot 027 22

01. Sudan 02. Saudi Arabia



GElL LELIEEC)

03. UAE 04. Iran
qus =
05. Iraq
ENED

Q-106 The Oil and Natural Gas Corporatlon of India has recently exited the oil fields of which country recently?
enghin ST T THLA I FITTRAT AT AT T 2T of H T8 297 % I &1 & aTe? (e 147 82

01. Sudan 02. Saudi Arabia
== TqFaT 9T
03. UAE 04. Tran
0 =
05. Iraq
TE
Solution for Question 106 Ans Key: 1

eng/eng India’s Oil and Natural Gas Corporation (ONGC) recently exited from Sudan oilfields. This step was taken by ONGC after the African nation refused to
pay for oil it lifted from the fields.
TR T A 37T T 9 A (ONGC) 277 &1 § gt F 97 &t & 912 (oot 77| AUASE 31T 78 F29 nfrhl g g &df § 32717
T T o AT | SHHTL FHIA 5 918 ISTAT AT 27|

eng hin  India’s Oil and Natural Gas Corporation (ONGC) recently exited from Sudan oilfields. This step was taken by ONGC after the African nation refused to
pay for oil it lifted from the fields.
AT FT d 37T T A T A0 (ONGC) 71 &1 | G219 F I &= F a1g? (Hhef 37| AUASHT FTT g FaH AhehT TP 5T @i 8§ 3810
T G o AT & ZARTL FLA % AT ISTAT 4T 47)

Q-107  The shortest-serving Governor of the Reserve Bank of India, Amitabha Ghosh has passed away, he had served as the Governor of the Reserve
Bank.
T ST &9 o Har8 F9 0T TF FTH FLA GT] T2 ATHATH 57T 7 e 21737 8, Seaid (ord o F M4 F =9 | 47 FFar
o
01. 16th 02. 10th
163 105
03. 20th 04. 18th
20 185
05. 12th
125
Q-107 The shortest-serving Governor of the Reserve Bank of India, Amitabha Ghosh has passed away, he had served as the Governor of the Reserve
eng Bank.
AT STF 9 F FaH HH TAT T HIH FI AT TAL AHATH HIT T (& 21 TAT &, Ira o (51d 9% % LERRE R R CIRE R
gl
01. 16th 02. 10th
163 105
03. 20th 04. 18th
209 189
05. 12th
123
Solution for Question 107 Ans Key: 1

eng/eng  The shortest-serving Governor of the Reserve Bank of India, Amitabha Ghosh passed away. He had served as the 16th Governor of the Reserve Bank of
India for 21 days between January 15, 1985, to February 4, 1985.
T ST 4 o Tae 7 T0T T FTH HLA qTel T AHATT =TT HT [Hew ST T Sl 15 ST9ay 1985 7 4 Ba<r 1985 % <= 21 faai
forw s ST 5 % 16 5 997 & ®9 8§ F1d AT 9|

eng hin  The shortest-serving Governor of the Reserve Bank of India, Amitabha Ghosh passed away. He had served as the 16th Governor of the Reserve Bank of
India for 21 days between January 15, 1985, to February 4, 1985.
TN T & o Tae 7 T0T T FTH HLF qTe] T AHATT =T HT [Hew ST T SeiA 15 T9ay 1985 7 4 Ba<t 1985 % = 21 faai
oro Wit Ra 9% % 16 9 a7 & &9 § w7 6 om

Q-108  The theme of International Coastal Cleanup Day 2020 is “Achieving a trash-free Coastline”, it is celebrated on .
eng/eng HAL ST TET T2 f&a® 2020 7 39T “Achieving a trash-free Coastline"s, 8 [ FATAT ST &1

01. Third Tuesday in September 02. Second Saturday in September
e & ey Tear forda # geer afqae



Q-108

eng hin

03. Third Monday in September 04. Third Saturday in September
foda # deeT FHar Frdaw # derT aar

05. Second Tuesday in September
forde § g wea

The theme of International Coastal Cleanup Day 2020 is “Achieving a trash-free Coastline”, it is celebrated on
FATTET T T=zaT f2a® 2020 FT 397 “Achieving a trash-free Coastline'"s, 78

01. Third Tuesday in September 02. Second Saturday in September
fordar # frewT TeEr e & g arfa

03. Third Monday in September 04. Third Saturday in September
forda # e FHar fordaw # T aar

05. Second Tuesday in September
fode § g wea

Solution for Question 108

T ATAT SATT Bl '

Ans Key: 4

eng/eng  The International Coastal Cleanup Day is traditionally held on the third Saturday in September. This year theme for International Coastal Cleanup Day
2020: “Achieving a trash-free Coastline”.
HATET T Twagat faae aiaivs &9 7 fdae & diay offame v smafSra B Smar 81 sisaeigia adT ssgar e 2020 £ o
“Achieving a trash-free Coastline"g
eng hin  The International Coastal Cleanup Day is traditionally held on the third Saturday in September. This year theme for International Coastal Cleanup Day
2020: “Achieving a trash-free Coastline”.
SIS TET T=adT faae TR &7 F e § ey af{ame it At BT STar g1 seiaerga a8 sasgar faaw 2020 F o
“Achieving a trash-free Coastline"Z|
Q-109 The World Water Monitoring Day is observed globally on
[ECEEREUREIRECE] TT%PJW‘TITWTJTW?IT?I
01. 12th September 02. 14th September
12 e 14 Frda
03. 15th September 04. 16th September
15 fodax 16 fordax
05. 18th September
18 e
Q-109 The World Water Monitoring Day is observed globally on
[ECEEREUREIRECE:] aﬁ%&rwvww%n
01. 12th September 02. 14th September
12 fdax 14 Fda
03. 15th September 04. 16th September
15 fodae 16 fordax
05. 18th September
18 Frqa

Solution for Question 109

Ans Key: 5

eng/eng The World Water Monitoring Day is observed globally on 18th September since 2003.
s Ster fRere it faer 18 fordae & forsy =9 9% 2003 & 7AT2T S7aT 2
eng hin  The World Water Monitoring Day is observed globally on 18th September since 2003.
e ster fRmereit faer 18 fordae & forsr =9 9% 2003 & 7AT2T S7aT 21
Q-110  What is the currency of Afghanistan?
engleng  SFATHEAT T qT F4T &2
01. Rupees 02. Birr
LDl EIRS
03. Ang()la_r 04. Afgham
AT AT
05. None of these
e
Q-110  What s the currency of Afghanistan?
eng hin  SFATIEAT T T F4T 82

01. Rupees 02. Birr



LRl A

03. Angolar 04.  Afghani
EHICIS EEIE
05. None of these
e
Solution for Question 110 Ans Key: 4
eng/eng  Afghanistan officially the Islamic Republic of Afghanistan, is a landlocked country at the crossroads of Central and South Asia. Afghanistan is bordered by
Pakistan to the east and south; Iran to the west; Turkmenistan, Uzbekistan, and Tajikistan to the north; and China to the northeast. Occupying 652,000
square kilometers (252,000 sq mi), it is a mountainous country with plains in the north and southwest. Kabul is the capital and largest city.
STFATTIIEAT SATTErRTIE TIT TY STHATHEAT T SEATTHE TUTST, HET ¥ ZFer0r TIAAT 3 FXTe ¥ 2IT U 97 1 SAFAEqe T4 ¥ greror
H e g HiATag §; T # S0, ST § qRAEE, SsathedT, ¥ arfrfhedT; siY 39 9@ # 1 652,000 3R fFeArteT (252,000
T HI) T FooT e, A ST AT ITAT-T(EIH H HITAT SATHI % AT TF TIST 297 2| FIEA ST ¥ Hae a7 27 2
eng hin  Afghanistan officially the Islamic Republic of Afghanistan, is a landlocked country at the crossroads of Central and South Asia. Afghanistan is bordered by
Pakistan to the east and south; Iran to the west; Turkmenistan, Uzbekistan, and Tajikistan to the north; and China to the northeast. Occupying 652,000
square kilometers (252,000 sq mi), it is a mountainous country with plains in the north and southwest. Kabul is the capital and largest city.
STRATTIIEAT STTErRTIE T TY STRATHEAT T SEATTHE TUTST, HET ST ZTET0T TIAAT F FXTe ¥ f2AT U 97 1 AR T ¥ reror
H qTferea T T HIATaE §; T # $30; ST § qHATEA, IS Tehed T, Si¥ qTfetished ; ¥ 3T 9@ § F1 652,000 3 fFHerHie? (252,000
T HIeT) TT FoolT &¥eh, Tg L 3T Z(Lr0T-TF20T § AT TATHI 6 AT U TZTST 39T | FTA TSTLTHT ¥ Tae =T 9787 2l
Q-111  What s the full form of "MCLR"?
eng/eng "MCLR" T w ESEEERIN %r}
01. Marginal Commodity of Funds based 02. Marginal Cost of Lending Rate
Lending Rate qTietaer Fiva 3 A TS 3
03. Multiple Commodity Lending Rate 04. Marginal Cost of Funds based Lending Rate
e Tl FHITSET AT 1 AT e A FIH J€€ AT 2
05. None of these
TAH q AT AL
Q-111  What is the full form of "MICLR"?
"MCLR" &T 0T &7 FT §?
01. Marginal Commodity of Funds based 02. Marginal Cost of Lending Rate
Lending Rate TSI it AF AT ¥
03. Multiple Commodity Lending Rate 04. Marginal Cost of Funds based Lending Rate
HEAad FHITSE! A fed 12 AT Fiee AT FIT d€€ AT e
05. None of these
TAH J FIS A2l
Solution for Question 111 Ans Key: 4
Marginal Cost of Funds based Lending Rate is the full form of "MCLR".
AT e A1 Fgq J€€ AT ¥ "MCLR" FT 07 €7 2|
eng hin  Marginal Cost of Funds based Lending Rate is the full form of "MCLR".
AT FIee A Fgd oF€ AT e "MCLR" FT 07 &7 &l
Q-112  When was the Asia-Pacific Group formed?
eng/eng  UTTAT-ATATHF I T T3 iy T 127 272
01. 1991 02. 1995
03. 1997 04. 1989
05. None of these
TAH T ATE Aol
Q-112  When was the Asia-Pacific Group formed?
eng hin  TTAT-ATATHF I 1 T3 iy T 727 212
01. 1991 02. 1995
03. 1997 04. 1989
05. None of these
TAH A FIS Tl

Solution for Question 112 Ans Key: 4



eng/eng

The Asia/Pacific Group on Money Laundering is a FATF style regional inter-governmental body, the members of which are committed to implement
international standards against money laundering, the financing of terrorism and financing the proliferation of weapons of mass destruction. APG was
founded in 1997 in Bangkok, Thailand, and currently consists of 41 member jurisdictions in the Asia-Pacific region and a number of observer jurisdictions
and international/regional observer organisations.

AT ATET O TIAAT / TMTT TH T THUETUT QAT ST SqAL-TLH 1T &, o Taeq AT AT o6 (eATs SIaig i ATa! &l AR
T, ATAFATE h A7 3T a2 S o7 f&3mmer 3 2ot 3 e 3 Ao 3 for sfaas €1 APG Y 1ot 1997 # e, améete # g
off, ST a9 § UTrAT-Torid & § 41 FEeT SATIFTT T FS THAEAT SFTIEHT AT FATEIT / &7 Thersh 9ree it 21

eng hin  The Asia/Pacific Group on Money Laundering is a FATF style regional inter-governmental body, the members of which are committed to implement
international standards against money laundering, the financing of terrorism and financing the proliferation of weapons of mass destruction. APG was
founded in 1997 in Bangkok, Thailand, and currently consists of 41 member jurisdictions in the Asia-Pacific region and a number of observer jurisdictions
and international/regional observer organisations.
HAT ATET T2 TIAAT / TMTT TH T THUETUTE AT ST SqA-FLH T &, o Taeq AAT AT o6 (AT SIqeig i ATa! &l AR[
FIA, ATTHATE 6 (AT T T T 9 Famrer F P & y| % fAaaqara & o afdas 81 APG FT #4197 1997 | §7e, g1de § g5
off, ST 9T § UIAAT-TTT & § 41 TG LAATIRTL T F THAEAT AR AT AL / & THAeqh HIe T gl
Q-113  Where Kanger Valley National Park is is located?
engleng  FNIT ATEN THA AT Faf (7 82
01. Chhattisgarh 02. Bihar
ERlGRES fereT
03. Arunachal Pradesh 04. Goa
ERMIEE R el
05. None of these
TAH F AS Aol
Q-113  Where Kanger Valley National Park is is located?

Solution for Question 113

FAT AT TP AT Fgl 2aa 82

01. Chhattisgarh 02. Bihar
% \r\ LSRIE a e} T

03. Arunachal Pradesh 04. Goa
FEUTHA T2 T

05. None of these
TAH T FIE Ao
Ans Key: 1

Among the various protected areas in the country, the Kanger Valley National Park near Jagdalpur, in the Bastar region of Chhattisgarh is one of the
densest national parks, well known for its biodiversity, landscape, waterfalls, subterranean geomorphologic limestone caves, and home for the Bastar hill
myna, the state bird of Chhattisgarh.

Zer o AT S2ferT &=l §, Seve & aea? &5 H§ SEEAT? % T HAL ol A9\ T, 7 TR ST 8 U5 &, ST A7 o & faem,
afged, T, TIARTT -7 FAT Tea? T THIeA ¥ =2 3 oI ST ST g1 €02 RISt {47, SEE 1 157 Tei|

Among the various protected areas in the country, the Kanger Valley National Park near Jagdalpur, in the Bastar region of Chhattisgarh is one of the
densest national parks, well known for its biodiversity, landscape, waterfalls, subterranean geomorphologic limestone caves, and home for the Bastar hill
myna, the state bird of Chhattisgarh.

2o % fafsrer Sxfera &= o, SxaeTe % a€a< &9 § SNEAqL % 916 HRIT Jofl T9\ T, 7 TR AT § F TF &, S 941 o faferera,
TG, AL, GIHTA G-THIE TAT TAL Dl ThISA S T @ (10 STAT ST gl Seq€ Tgisl e, G0 €¥E i <iod Tl

Q-114

eng/eng

Q-114

eng hin

Which country was hosting the 47th G7 Summit 2020 which has been postponed due to the Covid-19 epidemic?
47 3 Sft -7 e FFes 2020 FT ASTETHT R AT 397 FY LT AT S Aifae -19 AgmmT F wreor =R w7 fgr w2

01. Ttaly 02. Russia
3 = =q
03. Canada 04. United States
FATST I T
05. None of these
TAH A IS AL

Which country was hosting the 47th G7 Summit 2020 which has been postponed due to the Covid-19 epidemic?
47 3 Sft -7 foraT FFes 2020 FF ASTETHT R AT 397 FY LT AT S Aifae -19 g™t F Freor =g w7 f3r w2

01. Ttaly 02. Russia
ECEil =

03. Canada 04. United States
FATST G ST

05. None of these

=H T F IS A8l



Solution for Question 114 Ans Key: 4

eng/eng (7 is an association of seven of the largest economies namely the US, UK, France, Germany, Italy, Canada and Japan. Previously it included Russia and
was called the G-8.
G7 STHIHT, T3, HiH, AT, TS, FATST ST ST AT 10 Fay aS1 AAATEATA HT 69 g TEol 3qH T T AT 37T 6 S -8 FgT rar
ITI

eng hin  G7 is an association of seven of the largest economies namely the US, UK, France, Germany, Italy, Canada and Japan. Previously it included Russia and
was called the G-8.
G7 STRTHT, T3, i, STHHAT, TSAT, FATST ST ST ST 10 Had aS1 AAATEATA HT 69 g TS 34 T T AT 37T TH S -8 Fgr 1av
ITI

Q-115  Which global alliance hosted the Corona virus Global Response International Pleasing Conference through which funds could be raised for the covid-19
eng/eng response?

o T Toae T F FIRATE T T Ed (ETH ST WA ST SFHE 1 HSTaTHT 1 e ATeH § Fifae -19 Fiafwar F o & Jerm

ST 2

01. The European Union 02. BRICS
PRUERE R CE o

03. ASEAN 04. SAARC
EIERIG] qrh

05. None of these
TAH FATS TAl

Q-115  Which global alliance hosted the Corona virus Global Response International Pleasing Conference through which funds could be raised for the covid-19
response?
o AT Todem F AT e NI SaaeTdd ol GFad il TSt i S ATeqs & wifae -19 Jfafwar % o o= seran

ST | 2
01. The European Union 02. BRICS
03. ASEAN 04. SAARC
05. None of these

TAH FATS Tal

Q-116  Which private sector bank has set up a new vertical called “Emerging Entrepreneurs Business?
T TSMT 213 3 S 9 U 797 aidser =qriua FBram 2, o a9 8 “Svea S=ret sraHqTa?

01. HDFC Bank 02. Bandhan Bank
TASIUHHT 9 ECECED

03. Axis Bank 04. ICICI Bank

05. Yes Bank

Q-116  Which private sector bank has set up a new vertical called “Emerging Entrepreneurs Business?

eng hin T st &= 3 & 7 wa 7o afdwer wofoa o 2, e 7 2 “Iwd Il sqa|ma?

01. HDFC Bank 02. Bandhan Bank
03. Axis Bank 04. ICICI Bank
UEGLECED AEHTATSHIAE dF
05. YesBank
T9 %
Solution for Question 116 Ans Key: 2

eng/eng  Bandhan Bank has set up a new vertical called “Emerging Entrepreneurs Business (EEB)”. The new vertical has been launched to support the emerging
needs of the unbanked and underbanked segment of customers.
FYA T 7 "IALT ITHT ATETT (S ATHSE TF 7% SHLaATe? T T g1 TS ATewhe il ATZHT 6 AT ST ST TAHE T IHLAT STl HT
AT A o fory o T 1w 81

eng hin  Bandhan Bank has set up a new vertical called “Emerging Entrepreneurs Business (EEB)”. The new vertical has been launched to support the emerging
needs of the unbanked and underbanked segment of customers.
T o T "I TAHT AAATH (S2T)" ATHE U 7S SHLATE T il g1 TS ATeher T TTZhT 6 AT AT ASTAh TTHE T ITLAT A=Al T
AT A % oIy afves T 1 81



Q-117  Which Public sector lender bank has launched lead management system — i-Lead 2.0 (Inspiring Leads System version 2.0)?
engleng  THE HTASIA &1 & FIETAT 3 o A1 AASTHE HEH - (-7 2.0 (FFTARIT AGH [HEad HERa0 2.0) Aled 57 82

01. State Bank of India 02. Indian Bank
AT wT §F AT %
03. Indian Overseas Bank 04. Canara Bank
05. Punjab National Bank
EEICENEECED

Q-117  Which Public sector lender bank has launched lead management system — i-Lead 2.0 (Inspiring Leads System version 2.0)?
enghin T HTESIA &1 & FORTAT 3% 7 A< AASTHE [HEH - (-1 2.0 (SFTARIT AT [Bead SERa0 2.0) Aied 71 82

01. State Bank of India 02. Indian Bank
AT ¥ §F AT I
03. Indian Overseas Bank 04. Canara Bank
05. Punjab National Bank
EEIEENEECED
Solution for Question 117 Ans Key: 4

Public sector lender Canara Bank has launched lead management system (LMS) —i-Lead 2.0 (Inspiring Leads System version 2.0). The system has been

launched to provide its services to customers irrespective of where they reside.
TSI &1 o FUTETAT He<T doh o e HstHe Beed (LMS) - i-of12 2.0 (GEITaiiaT iew fBeen Seeor 2.0) At 363 81 78 JorTett ATEeht 6
orT 7ot FaTelt &7 TaTH FA % (70 0% 6T TS §, AT F Tt A )

Public sector lender Canara Bank has launched lead management system (LMS) — i-Lead 2.0 (Inspiring Leads System version 2.0). The system has been
launched to provide its services to customers irrespective of where they reside.
TSI &1 o FEUTRTAT LT deh o e HstHe Beed (LMS) - i-o12 2.0 (SEITaTiaT iew Bees §eTor 2.0) At 363 81 78 TorTett qT8eht

Q-118  Which two Arab countries have signed the historic Abraham Accords along with Israel to normalise ties recently?
T g1 | TRt T o 39Tt F Faell il ATHT=T T & (o7 T2 & |72 UTdgTiereh AaTed TR 9% gedqrere fhu 292

01. Bahrain, UAE 02. UAE, Qatar
TR, 0L TUE, F<

03. Kuwait, Qatar 04. Saudi Arabia, UAE
FAT, FAL qZal 93, UL

05. Oman, Yemen
AT, T

Q-118 Which two Arab countries have signed the historic Abraham Accords along with Israel to normalise ties recently?
TTeT ot § ToheT T 312 90T o Haell a7 |THT=T ¥ o o1 SHYTEe & |79 UfdgTierd STaTgd 9Heid I¥ gearay fohu g2

01. Bahrain, UAE 02. UAE, Qatar
T, I0E UL, FAT
03. Kuwait, Qatar 04. Saudi Arabia, UAE
F{Ad, FAL qIaT 37T, US
05. Oman, Yemen
AT, THT
Solution for Question 118 Ans Key: 1

eng/eng  President Donald Trump and Israeli Prime Minister Benjamin Netanyahu joined the foreign ministers of the United Arab Emirates and Bahrain at the White
House to mark historic normalization agreements between Israel and the two Arab countries.

TPIT SATeE 287 3T TSI 6 THTTHAT S THA Ad7ITg TR ST &I LT LT 6 A= VAT AT w0 GHATAN il (e d H &
o1 =Tz BTSH H &9<h 9 STHTT ST Tgdie & fager T # ot gu

eng hin  President Donald Trump and Israeli Prime Minister Benjamin Netanyahu joined the foreign ministers of the United Arab Emirates and Bahrain at the White
House to mark historic normalization agreements between Israel and the two Arab countries.

Tgaft SHTeE 28T 3T TSI F TATAHAT SSHT TAATE TTTA 37T AT T 29T % A= UAgTiad Arareahor FHaTal & f==d e &
forT =Tz BTS® H E9<h o STHITT ST Tgdie & faaer T # ot gu)

Q-119  Who is the youngest writer to win the International Booker Prize?
eng/eng  HATLEIT AFHL TEERTL S(TAA AT HH FH 39 T ATEFT FI 2 2

01. Paul betty 02. Marike Lucas Rijneveld
qieT aEt qTi T e



03.  Alice perry 04.  Shalini Sharma

ufere T QrTfereT eret
05. None of these
N
Q-119  Who is the youngest writer to win the International Booker Prize?
enghin  SIATITEIT THT TEEARTL S{AA AT HaH FiH IF il AT F 2 2
01. Paul betty 02. Marike Lucas Rijneveld
RIECE qRE T Remaes
03.  Alice perry 04.  Shalini Sharma
ufere o QTTfereT eret
05. None of these
e
Solution for Question 119 Ans Key: 2

eng/eng  29-year-old Dutch writer Marieke Lucas Rijneveld wrote history by becoming the youngest winner of the International Booker Prize in 2020. Marieke

Lucas Rijneveld won the prestigious award for the first novel. Restlessness of the evening. 'The book was originally published in Dutch in 2018 and became
a busseller in the Netherlands. 'The Discomf of Evanning' is written in English by Michelle Hutchison.

29 Tt == g &0 T Roaee 72020 § SfaTg Fa7 e & 999 &0 39 & faear a9+ stagm = fRam #8@ g e ¥
TE 3T % T Sfafeq Redre Stian o & S=e| | 5 59 €9 8 2018 H =9 § TH1iara g2 off 37 77 favde § aeeaqay a1 12 o T
ot st zafe &1 3Rl § srqare o gea 7 e g

29-year-old Dutch writer Marieke Lucas Rijneveld wrote history by becoming the youngest winner of the International Booker Prize in 2020. Marieke
Lucas Rijneveld won the prestigious award for the first novel. Restlessness of the evening. 'The book was originally published in Dutch in 2018 and became
a busseller in the Netherlands. 'The Discomf of Evanning' is written in English by Michelle Hutchison.

29 FHTT S AGF AL THH (LS(4aes F 2020 H FALEIT GHY TEERTT 6 T8 FH IH 6 (o1l aah 1dard 3 41| 7 T Reraes 7
TE TR & Torw FfafSa qeeaTe Sfar ame it =T ' g5 4o &7 9 2018 H == | THAT g off 37 77 fevde § Jeedaw a9 T 41 T
FEEaITE S TafaT T RIS # sqaTs (oo g 7 & 2

Q-120 World Bank released the report titled “The Human Capital Index 2020, what is the rank of India among 174 countries in the Human Capital Index 2020?
FTE SF 7 “TAF Hided T 20207 ofiF F NOrE ST A, T Fhed TTHT 2020 H 174 2900 % F = AT I IF FT 2?2
01. 86th 02. 123rd
86 aT 123 =T
03. 147th 04. 116th
147 =t 116 =t
05. 103rd
103 AT
Q-120 World Bank released the report titled “The Human Capital Index 2020, what is the rank of India among 174 countries in the Human Capital Index 2020?
hin ~ d%€ 9% 7 “TIAT Hided sead 20207 ofteie & RATE S 61, AT Hfted T2 2020 F 174 900 5 S+ AT 6l 319 FAT 52
01. 86th 02. 123rd
86 aT 123 =T
03. 147th 04. 116th
147 =1 116 =T
05. 103rd
103 =7
Solution for Question 120 Ans Key: 4
eng/eng  World Bank released the report titled “The Human Capital Index 2020, India has been ranked at the 116th position among 174 countries in the Human
Capital Index 2020.
o & F AT Ioft FgEawt 2020" ofid= & FarE ST Y, AT GiiETer 2020 F 174 F97 F &= ATCT H1 116 5 #1992 TG 4T 3
eng hin ~ World Bank released the report titled “The Human Capital Index 2020, India has been ranked at the 116th position among 174 countries in the Human
Capital Index 2020.
o J9 T "ATHE ISt FEEwTE 2020" o F TS ST Y, AT GSIH0r 2020 F 174 T F S AT H 116 3 T 9 @7 T4 2
Q-121 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
eng/eng partis the answer. If there is no error, mark your answer as (5).

Chemicals in ‘paan masala’ (1)/ affect adverse body’s mechanism (2)/ to absorb iron and folic acid (3)/ which causes anaemia (4)/ No error (5)

01. | 02. 2
03. 3 04. 4
05. 5



Q-121 = fRATTITERF 17T AT AT A qier 74T § B (1), 2),3) 4T (@) FATF FRw 2 &1 srowwy agd@ar g P arar & frdt v |
eng hin  SATHI, AT, TIAT, U531 H TAT TIITITTHT TG HT F1E T AT AV am%Fa F FFeT TF w10 & 1 R0 ST ATTFTHFATF BT
IR AT ATHT ATy & ¥ 9T (5) Fatq w18 i 7€ g« ffvrm

AT T el T HTAT IR Teed gl 1S A9fg T2l &

01. = 02. =& et T
03. HTAT IATHT 04. TEq 2l
05. sz A 2
Solution for Question 121 Ans Key: 2

eng/eng  ‘Adversely’ should be used- an adverb is required.

Q-122 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
eng/eng partis the answer. If there is no error, mark your answer as (5).

Textile traders purchase grey fabrics (1)/ from weavers on credit of two to three months (2)/ and send the material (3)/ to textile processors for final

finishing (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5

Q-122 = fEATTIATERF ATFA AT AT | FTTTAT 8 BIg (1), (2), 3) T (@) FHISF e § | sMaFr g I@ar g o area et W &
STHI, ATHT, FAAT, ASET H TAT TN ATSHT ALG F 1 F1S AT TTT 0N 7 917 F Fret s Arr & g 19 ST ATT FTFATH &V
IR AT ATHT A TR § ¥ 9T (5) Fatq wrs i agf g« ffsrm

H=e & Feqtaat g-931 21 ATl g1 Fs qYfa 7ol &

01. =¥ 02. Feqta=t
03. TH-9T9Y 04. FrATA
05. =< srqrfs et @
Solution for Question 122 Ans Key: 5
No Error.

- ead each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of tha
123 Read each part of th t to find out if there is an) in it. Th if any, will be i part of th t Th ber of that
part is the answer. If there is no error, mark your answer as (5).

The part of the structure (1)/ lying on the edge of the hill was barricaded (2)/ so that the bricks do not fall (3)/ on the houses or people living below (4)/ No

error (5)
01. | 02. 2
03. 3 04. 4
0s. 5

Q-123 = fRATTITERF ATFT AT AT | FTTTAT 8 BIg (1), (2), 3) T (@) FHTF FEg 2 &1 swaFr g 3@ar g o avaa et 9w &
enghin  SATHIW, ATHT, TAAT, AT F TAT TAITITEHT AL T HTE ATE FATFIN TTATHT & FHET TF AT M| SHATTHTHFATH 21
IR AT a1 Ffetfga & ar 3T (5) sratq w1 srgfg adi & Hfvrm

T T AT BT AT AT H ereaa CRT T e aefE T8 e

01. &=y 02. A=t =t
03. T ATOT § 04. srgaTs T
05. ré wafsTE
Solution for Question 123 Ans Key: 3

eng/eng  ‘Did’ should replace ‘do’- the verb is to be used in past form

Q-124 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
eng/eng partis the answer. If there is no error, mark your answer as (5).



The state government has discovered (1)/ that if a child get a bicycle (2)/ he can go to nearby school (3)/ and continue his education. (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5

Q-124 = fXATTIATERF ATFA AT AT | FTT7ATE BFg (1), (2), 3) ST (@) wHTH FEqa § | smaFr ¥gI@ar g P area  Fret wrr &
eng hin  SATHT, ATYT, AAAT, ASET 6 TAT TAITITTHT ALG HT BT LI AT AV ATHT F FFET TF ITH g ERATI ST ATTFTHATH @I
I AT qTHT A Fe<fRa & ¥ 39X (5) Fatq wrs s fE agi g« fifsrm

AT AT T % HeT o= 69 £1 1% A9 781 2

01. |qq 3T 02. YT *H
03. 727 3=y 04. ey Bl
05. ré wafs T
Solution for Question 124 Ans Key: 2

eng/eng  ‘Gets’ should replace ‘get’- ‘child’ is third person singular.

Passage for Question 125, 126, 127, 128, 129, 130, 131, 132, 133, 134 (ST-2062RRBPOMAINS(12-21EH)2020NP)
eng/eng Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.

Don’t we often find ourselves complaining about how we need more than 24 hours in a day? Or how we are too overburdened with work? Many people will often
advice you that hard work is ideal path to success, but what many forget to tell us is that time plays a major role in achieving success. It is a known fact that time
never waits for anybody, so we must either come up with ways to manage time in a responsible way or just give up on the idea of completing a task altogether. This
is where the concept of time management comes into play. We have been hearing of this concept probably since our school days, but have all of us really
implemented it in our lives? It is obviously easier said than done, but time management is definitely not one of the impossible tasks.

Time management by definition, means to use one’s time effectively or efficiently, especially at the workplace. And yes, it can be as easy as it sounds. Starting from
the moment when we are students, we usually face many deadlines related to our studies, right from the reports, vacation projects to tasks in the office. We are
required to achieve certain goals within a specified time limit because it is an efficient way of completing these tasks. In this competitive world, we need to get as
much done in as much little time available.

Time management can be integrated in one’s life by following a few simple rules. First, we must prioritise in life. If you know that there is a report to be submitted
next week, then get working now. Dedicating a couple of hours per day to that one report will minimise the workload to a great extent. It not only helps us to
complete the task before time in an organised manner but also leaves us with time do many other things that we wish to. If you think it is important that you watch
that favourite show on television or go meet a friend then go ahead, but first complete your tasks for the day. And how can we forget technology. Keep that phone
away for a while, don’t answer any unnecessary calls or messages, take a break from social media, and don’t divert your mind till you finish that task. Staying up till
late isn’t always as fun as it sounds, so we should make sure that we get minimum six to seven hours of sleep each night. It not only rejuvenates our system but also
helps us remain alert and aware the next day.

Time management does not mean that we do several things in one day, it is not a competition. We just need to identify and set aside two to three important tasks
and complete those. That itself would leave us with a feeling of sheer satisfaction and we would feel utilising the day to the fullest.

You should identify our strengths, think about what we can achieve easily or concentrate on challenges we’re most motivated to take up. You will instantly notice a
greater level of motivation, which then shows in the end results. Any and everything that is forced will feel like a burden and you will try to delay as much as you can.
It is important to be in a field of our choice or surround ourselves with those things that we genuinely have an interest in. If we look forward to doing something then
we will never keep it till the end or do it in a hasty or half-hearted manner. Procrastination has become a way of life for many of us.

Just because we manage to accomplish our goals at the last minute does not mean that we always have to do that. Putting off a task till the end might allow us to
enjoy or sleep and laze around for time being, but the pressure build up we face later is something that we end up regretting thereafter.

One must also realise that work-life balance is must. In a global survey, top corporates revealed that by making deliberate choices about which opportunities
they’ll pursue and which they’ll decline, rather than simply reacting to emergencies, leaders can and do engage meaningfully with work, family and community. They
discovered through hard experience that prospering in the senior ranks is a matter of carefully combining work and home so as not to lose themselves, their loved

ones or their foothold on success. Those who do this most effectively involve their families in work decisions and activities.

In retrospection, we must tell ourselves, that it is important to do those important tasks right now and that movie or nap time can wait for later.

eng hin Passage

#19 frg I i F1 saraga & afE g ot T 38 T swathea vt & ST Q) 7 asai w1 3@iiFg aa<i | qgiea Grarwar §, Srag swosr
FFE AT F ITLIA § ggraar wAswf) frgag Fwea & & a8 Iugw sTIaga fIiw

TH AT T H Fg SAT<h @F 2127 219 &, ST T 74T 3T (=07 F3 F7 AT T2 d 21 AT Giers 2137 29 8, ST & g, Tal 7,99 g8




FTAFATT TG TEd 31 FETAT & HTE,TG ST T ATART F IS AT AT TALNA o1ae F Feheft T 7 oft Fe o=t fFeprer 3 &) a1t 1 @rer
AT aTelt &7 STaere TRTae g1 TTHTA AT FA7 g o FEreToor F o7 FAEEmHt 97 7 97 Tl (<47 =w 7 91 3= 5 &1 qeam o7, o o
ST o Ire TAPATEETd &1 T HIAT =92 T W&t AT 270 6 Hra? F 4TI Fed: 9 % 22are # fadfroor £ qfT 92t ferdh e 7 a9 w7 @ar %
AT GEIAF THT FT T T A T UF AT T FLATAT o6 & a1 SeHSA1d Iia grav & 99 U I &7 6 T2 TGl ST G ## g1 Fahdt g2 36 9T
AT 1 STIAT THAAT TAT T - AT BT TST| THT T3g HSTARA 2T & (o0 o7 7 ZATE  THeT e T Td o T =19 @7 T,
AT g T2 T A1 F ara GiH a7 7 off A F7 femm) far #7 d3er T67 oo 7 o7 F7 g A7 77 ARG BFFam o0 F T Fga g F s
T ET AETATIA GAT| ST FTel § HTHT T HT IIAW o AT I TEZ-ATEAT THAT & T GHIF | TH & 98 Tald ST Ul AThT Jg AT
Ty oY E, 57 dear ¥ forw 3= & e g 2

TSIt % forT o 3% v q=r are, 6 9 @ O gag T S 38 dISd-AEd T8d &l § gag-gag Ae-ara fiaT g1 Td 1 97 9 a1, qh0
GTAT g oY AE TEal gl THAT o, 3 IR aTa<e 7 FHTX07 T AT Tl aqTaT| T2 ATd AT & 19 ST Al Irg TATHATT T 2T 9 TIT| UH AR 97T
aaT # g eTaT 1,ar SHET AT T &, 37T g7 21, 91 319 gAY (67 9 39 {1 927 991 2,41 et a2 & e w2

Q-125 Why do people have a tendency to delay tasks that they are compelled to do?
eng/eng

01. They give up the hope to make progressin  02. They have other priorities and they fail to give time to the assigned tasks.
life.

03. They consider such tasks to be aburden ~ 04. They do not consider themselves accountable for the assigned tasks.
and don’t feel like finishing them in time.

05. Not mentioned in the passage
Q-125 =T =N H A@F % ATHE @ 67 THT & 2 82

01. 9= FT1e1 71 3fae™ foraa 2a 2 02. ST @ AT forT wafa § ek w2d 2
03. = TAT 3T =T FIA & (0 AqE 7@ 04, I+ TTH & FT T T8l &

2l

)

05. Fg g€ awy o=l # =1 ¥Ed 8l
Solution for Question 125 Ans Key: 3

The answer lies in the fifth paragraph.

Q-126 Which of the following is/are FALSE, in the context of the passage?

A. Staying up till late is not a great fun.

B. Doing a lot of things is not what is meant by time management.

C. Keeping the phone away for sometime helps one finish one’s task.
D. One cannot manage time by merely working hard.

01. OnlyD 02. Only AandC
03. Only Cand D 04. All except B

05. All of the above are true
Q-126 AGHAATIAH! BT THIT HT TELT T=TA A FFq TR AT HIATR?

cug

01. STeTr=re gEY T fAvaT F:3d T&d & 02. AT G& I (HAeaT F:d T2d &l
03. o= gAY AT TET Fd T2d 2l 04. 3 T qHTEAT F¥h FTeT § TATIT AT 4 2
05. 3 T3 iz Tl FLd atoh AL il THEAT

Fd 5T Bl

Solution for Question 126 Ans Key: 5

eng/eng The answer can be inferred after reading the passage carefully.

Q-127 How can one utilize one’s day to the fullest, from the perspective of time management?
eng/eng

01. One should do the maximum tasks on that 02. Identify a few important tasks and complete them on that day.
particular day.

03.  One should leave the most difficult tasks for 04. Do some tasks partially and complete them on the following day
the next day

05. BY resorting to any of the above ways
Q-127 FEF F THATHI % ALATL (AT F TR FHT q0 6T TH1E =657 82

eng hin

01. T 9=Ri T q TR geraT Fr iz 02, Traor I FAsamaremdt Fgar «m



AT Y
03. Tk 39 T Fgd 04. wrysht 7 farefyoror 3 =i i wermr £ 21
05. TTHTAOT & T SFAITE AT /AT AT

Solution for Question 127 Ans Key: 3

eng/eng

The answer lies in the fourth paragraph.

Q-128
eng/eng

Q-128

eng hin

Why should one strike a balance between work life and personal life, to get ahead in one’s career?

01. By doing this the person manages to keep  02. It helps one manage one’s expenses and afford luxuries in life.
himself calm and can concentrate more on
his work.

03. Itbrings in positivity which in turn results in 04. By doing this one manages to give tough competition to others
increased income.

05. Not mentioned in the passage

EE T ST AT & AT FT ATHA (58 TR AT S 2

01. =T qT AT T 21d & Toeq & a7 02. 918 72T Y 938 g9a it g
F AT TEA UL UF (& | qfa= g1 Fahct
2
03. q&y wiZaral g1 § Sath A Iaret 04, e afa= gt § TR i g f)
2T 21
05. q&Y Y TAAT § AT o A7a< ATIF
FTEHTHF 9 2 &l

Solution for Question 128 Ans Key: 1

Q-129

Q-129

The answer lies in the seventh paragraph.

Which of the following challenges has the competitive world put before individuals, in order to succeed in life?

01. One has to decide whether to continue 02. People have to find ways to leave others behind to ensure their own progress.
working or find the new work which offers
better pay.

03. One needs to do as much possibleinas ~ 04. Either 1 or 3
much little time possible

05. Not mentioned in the passage

TT3C0T F AT o T Al 91 TEd19 T@T 972

01. =2 ¥ AT F TTaY A a7 &1 02. FIeT T FTET0T T FA HT
03. i i & FTAT S[H I FT 04. AT F AHTATAAT TEA FT
05. =fyour § gATEA F g ARt FgT AT

Solution for Question 129 Ans Key: 3

eng/eng

The answer lies in the end of second paragraph.

Q-130

eng/eng

Q-130

eng hin

Which of the following factors works as a deterrent in letting one complete one’s work, according to the passage?

01. Promotion 02. Fatigue

03. Competition 04. Procrastination
05. Creativity

ACATY & IHFAR STeAc T faur &= ar 2

01. FATe STATAT M| 02. 3[S[H UF HETH ALARTST 2TI

03.  SIS[ ¥ =T F IRl FT AT (ATl 04 FOT F FT E ALTHTIA T

05. fATET 7 U H FITET T FTEHT T
o =m

Solution for Question 130 Ans Key: 4

eng/eng

The answer lies in the fifth paragraph.




Q-131

Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.

eng/eng
Deliberate
01. Grand 02. Risky
03. Known 04. Past
05. Recommended
Q-131 FF AT A1 AT ¥ fog &va e awag €2
eng hin
01. SRS HT 02. f2eg wEra«r &l
03. FETHT el &7 04. =T
05. qfEers T &
Solution for Question 131 Ans Key: 3
eng/eng Known
For other options:
Grand (adj)- big
eng hin
Q-132 Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.
Decline
01. Submit 02. Follow
03. Reduce 04. Utilize
0S. TIgnore
Q-132 FfTAGTAIAATE TN FATHFATATIRT?
01. sr=g =< areT g ATy 02. HF AT ATRT
03.  eraeAT T FETIAT FHLAT AT 04. O T F@T T TFATT FEAT ATRT
05. T a2 T et e FTfew
Solution for Question 132 Ans Key: 5
Decline (v)- politely refuse (an invitation or offer).
Q-133 Choose the word which is most nearly the OPPOSITE in meaning as the word given in bold as used in the passage.
Procrastination
01. Delay 02. Aggression
03. Luxmy 04. Hunymg
05. Holidaying
Q-133 Juw & S afFadt & fawg & Far Far & 2
eng hin
01. 3 27 a0y 947 F74 7 & 02. 3 7geT H TTeH
03. 32 7T Foeasfl &1 1< UaTe 7el arar 04, TS 37=2T 21 al SHET AT TaF &l AT I I Al 1T goL & ML AT Id &
2
05. i S Y
Solution for Question 133 Ans Key: 4
eng/eng  Hurrying
For other options:
Aggression (n)- anger
Q-134 Choose the word which is most nearly the OPPOSITE in meaning as the word given in bold as used in the passage.
eng/eng
Regretting
01. Enjoying 02. Lamenting

03. Calculating 04. Threatening



05. Facing
Q-134 el St Rres yaer THSF & 2

eng hin
01. f2vg qieery war 02. = ¥ g ¥
03. ear B w 04. 3 srfaT = fAwredt o
05. <T¥d % AT &7 T T FET & 6
Solution for Question 134 Ans Key: 1

eng/eng  Enjoying
For other options:
Lamenting (v)- feeling bad about
Facing (v)- confronting

Passage for Question 135, 136, 137, 138, 139 (ST-2062RRBPOMAINS(22-26H)2020)
eng/eng Passage
N/A

eng hin Passage

= frg I g #1 saraqa s aiE g ol T 38 T swatiea vt & ST e g7 asai w1 3@iiFg aa< | giea Frarwar g, Srag swosr
FYIF! F ITLIA F ggraar fwA+) fegag Fraeai # & qo@ Sugw F1a77 Hifsrg

TH AT B § T AR @ 2129 219 &, 57 w9 77 AT =97 F &1 AT T2 2| 07 qefierss 2120 219 2, S ©97 % T2 F0d a9 TAv 5
FTHAFATT TG T8 8| FEIAd & FTE,TT 3T T ATART F Gl AT AT TSATLETSAT A1 & et ST # o ¢ F77 e 3 &) 3 1 @
AT arert &1 Sfagm rad g1 TrHTer it FAT g T Ao F o FEnRET 9w Ay A8t @A o 9 91 37 e w1 ave T, St aw
STt o Svg (APATErETd T e HIAT 5T T Aol T @0 o HTa & TATIT| Feord: T % eare # faeroor £f it 921 et T&or 7 9 7 Jar &
T GEIET TH T T8 I A1 T TF A1 F BLATET T T 1 ST T+ 2T § 93q U HIE 907 & 57 Tl &l 967 4" a1 Tl 22 39 T
ST T S T T AT A TR ST TET 26 A9 HETATed 2T ¥ o AT T TATYA F THE FaAA T T < FT TEATT TET 4T,
AT IRi G2 Al qleh o FLaT 7 & | AT SR H [QAT| AT T HL9T SFHT HTFOT 7 39 AT TZ 1 o7 I 63T o174 a1 Fgd & 6 7o %
T ST AETHATLA GAT| ST HTel § HSTHT T FT IIGL o AT T k%’-WW?WW%QIW%@WQ@EﬁﬁIW@W
T Y 2,57 dear F forw 3= 2 e g 2

THSTTSTET % oI o #¥ U 92T ard, 3 772 O U g T #3038 ASd-AUEd T8d 2l § ag-9ag Rie-=1a FiaT g1 Ta &l 92 9 ITF, T
GTaT g ¥ 7Eq Tgal gl I off, 7 3= qmmEFTehwuaﬁvﬁaﬁwwgmw?%mﬁnﬁﬁwwmﬂﬂwnwmaﬁvw
TRATT | 4 A= &1,aT SHET AT T Fl, 37T T 31, Al 219 TA & T8 78 I gl TET T4 &, qT et a2 #f =ar Fl

Q-135 In the following question, four words are given. Two of these are either most nearly the same or opposite in meaning to each other. Find the
words which are most nearly the same or opposite in meaning and indicate the number of the correct word combination, and mark your
answer.

A. Preceded B. unbridled C. checked D. overhaul

01. AandC 02. BandD
03. CandD 04. AandB
05. BandC
Q-135 ‘fe=Em@ STRATFATFAT?
eng hin
01. gy 02. faeame g9
03. srfaeam & 04. TETIF
05. fEeamerETa
Solution for Question 135 Ans Key: 5

eng/eng  ‘Unbridled (adj)- uncontrolled; unrestrained’ and ‘checked (adj.)- controlled” are opposite meaning words.
For other options:
Overhaul (v)- improve

Q-136 In the following question, four words are given. Two of these are either most nearly the same or opposite in meaning to each other. Find the
eng/eng words which are most nearly the same or opposite in meaning and indicate the number of the correct word combination, and mark your
answer.

A. Apropos B. solely C. chant D. germane

01. AandB 02. AandD
03. BandC 04. AandC
05. CandD



Q-136 awd®w =71 Awrw fafag ?

eng hin
01. e 02. faret
03. FuYA 04. srfavry
05. =% FFTS T
Solution for Question 136 Ans Key: 2

eng/eng  ‘Apropos (adj.)- very appropriate to a particular situation” and ‘germane’ are similar meaning words.
For other options:
Solely (adv)- only
Chant (v)- sing song

Q-137 In the following question, four words are given. Two of these are either most nearly the same or opposite in meaning to each other. Find the
eng/eng Wwords which are most nearly the same or opposite in meaning and indicate the number of the correct word combination, and mark your

answer.

A. Compliant B. dismal C. submissive D. trauma
01. AandD 02. BandD
03. BandC 04. AandC
05. AandB

Q-137 = =71 e fafa

01. syfeeT 02. Se==T
03. ygi¥EH 04. wordT
05. wHter
Solution for Question 137 Ans Key: 4

‘Compliant (adj.)- ready to conform to the authority or will of others; meekly obedient or passive” and ‘submissive’ are similar meaning words.
For other options:
Dismal (adj)- gloomy

Q-138 In the following question, four words are given. Two of these are either most nearly the same or opposite in meaning to each other. Find the
words which are most nearly the same or opposite in meaning and indicate the number of the correct word combination, and mark your

answer.
A. Irrespective B. trenchant C. venal D. sarcastic
01. AandD 02. BandD
03. AandB 04. AandC
05. BandC
Q-138 FHITAT AT FTIATIATATALI§ ?
eng hin
01. 3erT 02. gﬁ?ﬁ
03. g 04. 797
05. a9
Solution for Question 138 Ans Key: 5

eng/eng  “Trenchant’ and ‘sarcastic (adj.)- marked by or given to using irony in order to mock or convey contempt’ are similar meaning words.
For other options:
Venal (adj)- corrupt

Q-139 In the following question, four words are given. Two of these are either most nearly the same or opposite in meaning to each other. Find the
eng/eng words which are most nearly the same or opposite in meaning and indicate the number of the correct word combination, and mark your

answer.
A. Lackluster B. vested C. unanimous D. spirited
01. CandD 02. AandD

03. AandB 04. BandC



05. AandC
Q-139 [T FTHITATIITIATATI TG & ?

eng hin

01. 39 02. 9
03. st 04. e
05. forrerg
Solution for Question 139 Ans Key: 2

eng/eng  ‘Lackluster (adj.)- lacking in vitality, force, or conviction; uninspired or uninspiring” and ‘spirited (adj.)- full of energy, enthusiasm, and determination’ are
opposite meaning words.
For other options:
Vested (adj)- settled

Passage for Question 140, 141, 142, 143, 144 (ST-2062RRBPOMAINS(27-31EH)2020NP)
eng/eng Passage

Rearrange the following sentences (A), (B), (C), (D), (E), and (F) in the proper sequence to form a meaningful paragraph, then answer the questions
given below them.

. Not only the passengers’ lives have been put at risk but aircrafts too have suffered

. Though the recent incidents of bird-hit were due to insects in the grass along the runway,

. Birds have always been a severe threat to flights operating out of the city airport.

. Due to monsoon season, the lights on the runway attract a lot of insects which in turn attract birds

Damage resulting in the grounding of the flights by the airlines.

Birds continue to flock at the airport because of the garbage being dumped in open in areas around the airport.

N cl=oN--I 2

eng hin Passage

= 33 7T FA9T (A), (B), (C), (D) T (E) FT IH LG AARAT FIXY I3 q1=1 FATT HTTH A4 TR=8 I 99 A3

(A) 9 TF F 90 AZTAA FT WA T Faw o T 2

(B) TH Y =T AUT & SATF AZTASN il W T G S g

(C) SFTATT ATAT F I FATATE AFTAA o FIA ol HeATU FTHA 3 Tl 2l

(D) FarT IaqT & T I srafer e it astg F w9 g80A |/ &7 AterT & Ater AT Iiast [T F F909 F7AT 918 ol

(E) 9aTg =TT 7 Taa: HAT et &1 G519 od g0 FETqA 01 e AT ST HILUN T ST 6 (o707 g TLRTE, ST T FEHIT HLRTT TAT SFHIATH
AT 1S &I Arfeq ST B

Q-140  Which of the following would be the LAST statement after rearrangement?

01. C 02. F
03. A 04.
05. D
Q-140 T2 AT FIA AT A2
eng hin
01. A 02. B
03. D 04. E
05. C
Solution for Question 140 Ans Key: 5
eng/eng  The arrangement would be CAEBFD. The paragraph discusses the problem of birdy flying around the airport area causing serious threat to safety
arrangements.
CBADE

Q-141  Which of the following would be the THIRD statement after rearrangement?

eng/eng
01. D 02. A
03. E 04. B
05. C

Q-141 &gy arerr ®la @1 g M

eng hin



01. D 02. C
03. B 04. E
05. A
Solution for Question 141 Ans Key: 3

eng/eng  The arrangement would be CAEBFD. The paragraph discusses the problem of birdy flying around the airport area causing serious threat to safety
arrangements.
CBADE

Q-142  Which of the following would be the FOURTH statement after rearrangement

eng/eng
01. B 02. C
03. D 04. F
05. A
Q-142 =T AT & |1 82
eng hin
01. A 02. D
03. C 04. B
05. E
Solution for Question 142 Ans Key: 1
The arrangement would be CAEBFD. The paragraph discusses the problem of birdy flying around the airport area causing serious threat to safety
arrangements.
CBADE

Q-143  Which of the following would be the FIRST statement after rearrangement?

01. E 02. F
03. C 04.
05. D

Q-143 92T ATET FIA AT ZET?

01. E 02. B
03. C 04. D
05. A
Solution for Question 143 Ans Key: 3
CBADE

Q-144  Which of the following would be the FIFTH statement after rearrangement?

01. A 02. C
03. F 04. D
05. B
Q-144  giar arery i @ g m
eng hin
01. C 02. D
03. E 04. A
05. B
Solution for Question 144 Ans Key: 3
eng/eng  The arrangement would be CAEBFD. The paragraph discusses the problem of birdy flying around the airport area causing serious threat to safety
arrangements.
CBADE

Passage for Question 145, 146, 147, 148, 149, 150, 151, 152, 153, 154 (ST-2062RRBPOMAINS(32-41EH)2020NP)
eng/eng Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.



The online shopping industry, the e-retailing sector, in India is booming. Virtually every day I find myself hooked to one of those many (A) that boast of clothes,
shoes, accessories, books, electronics and furniture.

Our online shopping industry has a huge market — what with us Internet whizkids-cum-shopaholics always waiting for a good (B). Can we, in whatever small way
we can, possibly bother to execute, (C) the amount of waste we create in terms of packaging?

Sometimes I think: why can’t the delivery boy take back the (D) material? I don’t do anything with it. If they did that everywhere they (E) a courier, won’t it be so
much easier for courier companies to (F) and reuse packing material? It could go straight back to them, in an organised way, and make things easier for everyone.
In India, too, much of the plastics and paper-based packaging material that manufacturers use are, in fact, recycled material. However, that is an organisational
response to the sustainable packaging issue. What I am arguing for, instead, is societal and/or individual response to (G) waste from packaging. Returning packaging
material to courier companies is just one part of the process; perhaps these could be channelled to recycling plants? Wouldn’t the channels of distribution become
clearer by doing this? Maximising the amount of recyclable packaging material that reaches the possibility of being recycled should be the target of our efforts at
controlling the mounting heaps of waste that we (H) while online shopping. Maybe we could think a step ahead have policy interventions that actually enable such a
network by making it mandatory for companies to (I) with courier companies and make “returning” possible, and even viable?

Let us gauge if we are not being a bit too negligent about this issue before things go out of hand? It is only through an (J) discussion that the topic can be resolved.

eng hin Passage

= o o ai=ar # g R v @ o 8 g S e de & gertar A 81 ¥ geard ai=eE F A gied 8, $f woE F ame (1), (2), 3).4)
317 (5) FarereT fRw 10 €)1 =7 i1 § § #1E UF 38 R 2 &l [ TR=87 & 939 § ST &1 F T FT a7 ¢ AT 9 FFwed A1d FAT 2, 3T ST
FHE gl IAL 6 & H FTAT g1 ATTHT (&0 T et § F T8 STIH HT F4T FAT 2

FITATT TT ST A ST ATHRITA T TATAAT o Fo70 T97 92 H 1@ (A) AT ST AT T AT 6T (B) T FATLT FX 72 3| FTAT a8 g3 25 AT 7
FUA AEATRIIT o AT ST ATRITH o 70 ST U A8l o3 A Tohed Sraiv shg I¥apTY &l =araT g T 7f =12 =97 3 (C) 37eht /T 981 /it 1% 7 29
SATE & g T A9 H oo g1 STU| T8 (D) 7l T ATHRIT T TATIAT ST AR, AR STeaHaH FTAT AT T Tl Afe Feg TLRTE AT AT ar
g ATHITA ol TATIAT & Haq § AT (&7 F 337 Fg Tl w¢ qahal| AT TR FIA T47q (E) F9 HT F1H 68 1 g T 9 IH g1 HAT 21| §HE T
FTH TTIHHAT F AT T FL, THF (o107 380 ATL-A71 (F) TAT AT 99 7 F 758 a7 I¥ T479 QT a7 ST TR g, AT 15 G0 Aate <67 (G)
ST &3 T 1S AAAd Tl AT AT I T IT 1 AT T ST ATATH 21 ST AT 0 T FIA T T FTH IH T2 & Tal ol Ghdl oH 9 918 7o
21 TET 7T 2 o e Fgmw aRa g g g e A e T (H) FE e g st e agi e g T ag s s s R we e g S aw
R 3 15 WAt oft w2 €1 E sra 7 == WOt fr =i #§ (1) % e g9 o e qstt i off onfae w57 v g1 S s i S qwe 7§ oy 8, st
3 7g off gt 2 O werE Y () TR e e ST SEe Rar 3 for SR Ter 1 URHT SUTH % BY H G97 FA F G7T a9 ATl dal 2l

Q-145 Choose the correct option for (A)

01. offer 02. choose
03. ijtems 04. discounts
05. sites

Q-145 (A) ¥ foro =gt faeeT &1 999 F:2

01. ST 02. i
03. Iz 04. SR
05. ST
Solution for Question 145 Ans Key: 5

Site (n)- a website.

Q-146 Choose the correct option for (B)

eng/eng
01. transaction 02. bargain
03. promise 04. services
Q-146 (B) ¥ forw @&t fashed #7 =37 2|
eng hin
01. FIrRE 02. 39T
03. rHgTe 04. Z=aTer
05. =% T FIS Al
Solution for Question 146 Ans Key: 2

eng/eng  Bargain (n)- a thing bought or offered for sale much more cheaply than is usual or expected.

Q-147 Choose the correct option for (C)
eng/eng

01. reduce 02. defeat



03. weaken 04. arrange
05. sold
Q-147 ()3 Rw a8 fAFew & o
eng hin
01. sz 02. sre¥far
03. =ITET 04. <fiqT
05. 997
Solution for Question 147 Ans Key: |
eng/eng Reduce (v)- lessen; decrease.
(Q-148 Choose the correct option for (D)
eng/eng
01. new 02. wastage
03. finished 04. packaging
05. empty
Q-148 (D) forw g2t faeheT &1 =9+ F7
eng hin
01. Tgwfa 02. z=hTT
03. =i 04. srrEafd
0s5. ELUE
Solution for Question 148 Ans Key: 4
eng/eng  Packaging material (material used to pack things) is the correct compound noun.
Q-149  Choose the correct option for (E)
eng/eng
01. arrived 02. booked
03. delivered 04. rejected
05. delayed
Q-149 ()3 v ¥ RAFeT &1 TIT FXI
eng hin
01. syaer 02. oy
03. FLA 04. Fa==
05. Feher
Solution for Question 149 Ans Key: 3
eng/eng  For other options-
Book (v)- make an official note of the personal details of (a person who has broken a law or rule).
Q-150 Choose the correct option for (F)
eng/eng
01. tear 02. recycle
03. bumn 04. process
05. cover
Q-150 (F) = forw @&t faaed 7 937 #:7
eng hin
01. srf= 02. <ot
03. Frwaitr® 04. =TSt
05. FTATRE
Solution for Question 150 Ans Key: 2
eng/eng Recycle
For other options:
Tear (v)- pull apart
Q-151 Choose the correct option for (G)

eng/eng



Q-151

eng hin

01. marking

03.  classifying
05. enabling

(G) P AT T RAFreT &1 TIT R

01. =y
03. =T

05. i

Solution for Question 151

02.
04.

02.
04.

ordering

curbing

Ans Key: 4

eng/eng

Curbing
For other options:
Enabling (adj)- making possible

Q-152

eng/eng

Q-152

Choose the correct option for (H)

01. generate

03. shun

05. yield

H) & T T8 [Fhed a1 T R

01. 9=+
03. wereTt
05. =% ¥ FIE 721

Solution for Question 152

Q-153

Q-153

Generate
For other options:
Shun (v)- avoid
Yield (v)- receive

Choose the correct option for (I)

01. conspire
03. collaborate

0S. disintegrate

() = forg =2t oo =1 === 3

01, e
03. wrgufa

05. =qramefyer

Solution for Question 153

02.
04.

02.
04.

02.
04.

02.
04.

adopt
defend

outwit

argue

Ans Key: 1

Ans Key: 3

eng/eng

Collaborate

For other options:

Conspire (v)- to plan something wicked
Outwit (v)- deceive

Q-154

eng/eng

Q-154

eng hin

Choose the correct option for (J)

01. averted

03. absolutely

05. quick

(1) % forT =gt faseT &1 =7 21)

01. w+fix
03. geRTdT

02.
04.

02.
04.

informed

verbal



05. srefiar

Solution for Question 154 Ans Key: 2
eng/eng Informed
For other options:

Averted (v)- thwarted
Verbal (adj)- not written

Q-155 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that
eng/eng partis the answer. If there is no error, mark your answer as (5).
The workshop was organized for officials (1)/ so that they can understand the banking process (2)/ and how criminals (3)/ can take advantage of the same
(4)/ No error (5)
01. | 02. 2
03. 3 04. 4
05. 5
Q-155 = fXATTIATERF ATFA AT AT | FTTT7ATE Beg (1), (2), 3) T (@) wHiTH Faqa § | smuFTr ¥gI@ar g P area F ret W &
enghin  SATHIW, ATHT, TAAT, AT H TAT TAITITFHT ALG 1 H1S AT AATZIN AT AT F FHelt ¢ wrr & €1 Q| ST ATTHTHFATH GV
IR AT qTHT A fexfya § ¥ 9% (5) Fatq wrs wrgfa agi g« fifsrm
e qgEar FragEmaT T FET IO I s AgfE T g
01 el 02. s oy
03. HFIATT 04. F¥AT T 2|
05. 1< erfs T2l §
Solution for Question 155 Ans Key: 5
No Error.
Q-156 In the following question, a sentence with a blank is given. Four words (A), (B), (C) and (D) are suggested. Choose the pair of words that fits
in the blank to make the sentence meaningful.
More than 900 people living in low-lying slums were —————— after water gushed into their houses.
A.unprecedented B. rescued C. evacuated D. suspended
01. BandD 02. BandC
03. AandC 04. AandB
05. CandD
Q-156 == foar T3 Wedsh WoT W U 9157 (7 A7 2 39 9158 & o °i= fase (1), (2), (3), (4), (5) T3y 7 31 sroaht wearsh oy # o 1 erem 7 o
farshedi § & qITIaTHT o758 AT HLAT &
01. BandD 02. BandC
03. AandC 04. AandB
05. CandD
Solution for Question 156 Ans Key: 2
eng/eng  Eyacuate (v)- rescue.
For other options:
Unprecedented (adj)- unexpected
eng hin
Q-157 In the following question, a sentence with a blank is given. Four words (A), (B), (C) and (D) are suggested. Choose the pair of words that fits
eng/eng in the blank to make the sentence meaningful.

Despite being warned time and again, people keep throwing plastic water bottles and wraps of eatables wherever they could, ——— our
watchmen

A. evading B. surrounding C. training D. bypassing

01. AandB 02. BandD



03. CandD 04. AandD
05. BandC

Q-157 = a3 T TAFITH TF 053 (FATTATY T9 A7 % fAQ Ot = fasweq (1), (2), 3), @), (5) 722 T 1 MIHT TAF AT H {47 72 57
enghin &7 T2 T fAFeqt # & vafaqr= AT ATTFTATR
£
01. sEea 02. srffar
03. Fqger 04. T
05. 37ef
Solution for Question 157 Ans Key: 4
eng/eng  Bypass (V)- avoid or circumvent (an obstacle or problem); evade.
Q-158 In the following question, a sentence with a blank is given. Four words (A), (B), (C) and (D) are suggested. Choose the pair of words that fits
eng/eng in the blank to make the sentence meaningful.
There should be undelayed initiatives to ————those affected by closure of textile industries.
A. resolve B.rehabilitate C. reinstate D. reinvent
01. AandD 02. CandD
03. BandC 04. BandD
05. AandC
Q-158 = fa3 T TAF AT | UF 53 fAATUATY 27 57 % fAw ai= faweq (1), 2), 3), @), (5) T&F T {1 AIFHT TAFTTH {47 T ar5%
FT 3 7 faaeql & & vafaart asTATT FTAT RN
01. =orq 02. Fqc
03. zfm 04. e
05. wwrer
Solution for Question 158 Ans Key: 3
Rehabilitate (v)- restore (someone) to health or normal life by training and therapy after imprisonment, addiction, or illness; reinstate.
For other options:
Reinvent (v)- recreate
Q-159 In the following question, a sentence with a blank is given. Four words (A), (B), (C) and (D) are suggested. Choose the pair of words that fits
in the blank to make the sentence meaningful.
With parents increasingly giving importance to providing learning in early childhood, the number of preschools in Mysore has
A. increased B.mushroomed C. dilapidated D.rusticated
01. AandB 02. BandC
03. CandD 04. BandD
05. AandC
Q-159 = {33 T TAF IT | TF 053 (FATTAT] T9 w57 % fw at= faweq (1), 2), 3), @), (5) 723 T &1 AMTHT TAF AT H {43 72 1857
enghin  FTTT ¥ fasweat & & wafaar= s ATT FIATR
g2
01. %ﬂ'eh—{ 02. =
03. g 04. @ga‘r
05. ¥4T
Solution for Question 159 Ans Key: 1

eng/eng  Mushroom (v)- increase.

For other options:
Dilapidate (v)- cause (something) to fall into disrepair or ruin.
Rusticated (v)- banished




Q-160 In the following question, a sentence with a blank is given. Four words (A), (B), (C) and (D) are suggested. Choose the pair of words that fits

eng/eng in the blank to make the sentence meaningful.

As smart phones today are ———— part of life, they are capable of aiding safety and security at home, at office and during travel.
A. indispensable B. focus C. integral D. expensive

01. CandD 02. BandC

03. AandC 04. AandD

05. BandD

Q-160 = a2 77 wAF I UF 53 f¥AT w471 § 79 w87 F fog at= faswew (1), 2), 3), @), (G5) f23 1A 21 swwFT AT WA & 23 17 ar5w

enghin  FT T T2 fAFeai # & vafaaT= T ATT FTATR

RS

01. 9T 02. fifg

03. 37 04. Ty

05. sReor
Solution for Question 160 Ans Key: 3
eng/eng Indispensable (adj.)- absolutely necessary.

Integral (adj.)- necessary to make a whole complete; essential or fundamental.

For other options-

Expensive (adj.)- costing a lot of money.
Q-161  The circuit used to store one bit of data is known as

01. Register 02. Encoder

03. Decoder 04. Flip Flop

05. None of these

T ATE TEL

Q-161  The circuit used to store one bit of data is known as

01. Register 02. Encoder

03. Decoder 04. Flip Flop

05. None of these

TAH S qel

Solution for Question 161 Ans Key: 4

The circuit used to store one bit of data is known as flip flop

T ol 221 1 SR i 3 ToTT ST fohT ST aTed Hihe ohi feTd A Ta shet ST &

eng hin  The circuit used to store one bit of data is known as flip flop

T, folg ST o1 TR i o ToTT ST o ST ATt @ik 3 ot Wt shT STl &

Q-162  Alerts are mostly appear in ?

eng/eng TS SATATAL HftErE aae?

01. Check box 02. Combo box
03. Dialog box 04.  All of the above
I HHAT
05. None of the above
IYLIE | FIS off T84
Q-162  Alerts are mostly appear in ?

eng hin EEEARICANES ﬁﬁ'@'l’%‘é%rg?

01. Check box 02. Combo box
03. Dialog box 04.  All of the above
IUAE T

05. None of the above
I | s AT TR



Solution for Question 162

eng/eng

eng hin

Q-163

eng/eng

Q-163

eng hin

A dialog box is a small area on a screen through which the user interacts with the computer. The alerts also appear in this.

TS TS S Uk S T U BT A1 & & e wreerm & SuiiTeha shefed o |y s shear 8 368 s1ere «ff fow 39 2

A dialog box is a small area on a screen through which the user interacts with the computer. The alerts also appear in this.

T TG ST U T5hi T T BIeT 61 & & ek ATesm & SORinTehd sheged o |1 ST T ol 36 s1are +ft faams 39 2

‘Which among the following is not a payment card technology?
et & & Fi9 G 1S ahiT Tei 82

01. Magnetic Stripe Card 02. Smart Card
03. Fleet Card 04.  All of them are payment card technologies
05. None of these

TAH A AL Tl

‘Which among the following is not a payment card technology?
et & & Fi9 I F1E ahdiT Tei 82

01. Magnetic Stripe Card 02. Smart Card
03. Fleet Card 04. All of them are payment card technologies
05. None of these

TAH H TS AL

Solution for Question 163

Q-164

Q-164

All of them are payment card technologies

T el UHE IS hl dhleh &

All of them are payment card technologies
7€ T YHE HIE T Toh1h &

The slogan “Write once, run anywhere” is related to which of the following programming languages?

g slogan " T for@T, el off e " Rwferfaa st arust § & fraer geted g2

01. COBOL 02. Java
03. HTML 04. XML

05. None of these
The slogan “Write once, run anywhere is related to which of the following progr; ammm;: hngmges’
71g slogan "UF a7 foraT, Fg1 off streqr v Merferfera SR wrost & & foreer gefda 82

01. COBOL 02. Java
03. HTML 04. XML
05. None of these

Solution for Question 164

eng/eng

eng hin

Q-165

eng/eng

Q-165

eng hin

Ans Key: 3

Ans Key: 4

Ans Key: 2

Write once, run anywhere (WORA) slogan was given by Sun Microsystems to illustrate the cross-platform benefits of the Java language

TSI STTNT 3 Shid AW iH T 3hl TUF i o foTT T ATSshIfeRay SR {2 T "ueh R fora, shefl oft SITait " (WORA) T f&=m 1 o

Write once, run anywhere (WORA) slogan was given by Sun Microsystems to illustrate the cross-platform benefits of the Java language

STTEIT TS o Shid -l ATHT ShT TIE i o oI T ATgshifereery R o mam "ueh o fora, et off Siei " (WORA ) Tt feam mram o

Core Banking Solutions are developed to perform__?

FIT ST Ao geee F % forw et e o g2

01. recording of transactions 02. passbook maintenance
03. interest calculations 04.  All of the above
EAREK ]

05. None of the above
TAH A FIS Aol

Core Banking Solutions are developed to perform  ?
T ST AlegeT T84 F:3  foru fasfa o o 2



01. recording of transactions 02. passbook maintenance

03. interest calculations 04. All of the above

FUT F AT
05. None of the above

TH TS LY
Solution for Question 165

Ans Key: 4

eng/eng  Core banking is a banking service provided by a group of networked bank branches as a single unit. It is where customers may access their bank

account and perform basic transactions from any of the member branch offices.

S THT Tah ST AT & ST Uk ST 6 & 1 {eaeh 5o @131 o T8 FW TG 31 ST 2| T I8 SIS & STel ATeh 19 sieh WA qeh U5 Hohdl & 3R I3

of ey foreft off s o et & ST Ae TR B

eng hin  Core banking is a banking service provided by a group of networked bank branches as a single unit. It is where customers may access their bank

account and perform basic transactions from any of the member branch offices.

I SR Tk ST Tl 2 ST T $HTS o &9 H A2deh sioh ARITI o GHE SN T&H I STt 2| T T S8 & S8 UTesh 3T sioh WA doh Tg ol Fehd & 31 i3

off wree foreft +ff wmmaT = Hrterlt & Tt e TR ol

Q-166  which of these devices is installed in the computer to plug a network cable coming from the modem?

engleng FISH & S AT A2 HaAe Tl W FA i (010 FAEL § FI AT STHLI ST (6T ST 82

01. USB Drive 02. Network Interface card
03. Data card 04. None of the above
TAH T FIE A2t

05. All of the above
T % THT
Q-166  which of these devices is installed in the computer to plug a network cable coming from the modem?
AISH & AT AT e ol Hl T HIA 6 (T HLEL | I AT STHLIT ST AT ST 82

01. USB Drive 02. Network Interface card
03. Data card 04. None of the above
TAH T FIS ol

05. All of the above
FOT F Ty
Solution for Question 166

A computer must have a network card installed to be able to plug a network cable coming from the modem, router or gateway

Teh ST H T ~eaeh hiS TATUd 21T &SIl HISH § 3T dTel Aeaeh shele i Wil i H HafH BIdT & 36 & "eaeh SeThH FIS Hhad &

A computer must have a network card installed to be able to plug a network cable coming from the modem, router or gateway

T YL H U +2aeh 1S TATUd BIAT 8 SI HISH § ST ATl H2aeh helc ! Tl il H Ha&H BIdT & 36 &1 "2aeh 3eTHH IS Had &

Q-167 Which of these protocols is used to login into a remote computer?

engleng TRHIZ FTITT § T T e & [o1T ZAH H Tl AT TI2rH1er ITAN AT AT 22

01. Telnet 02. IMAP
03. HTTP 04. SMTP
05. None of these

TAH HA(E ARl

Q-167 Which of these protocols is used to login into a remote computer?

enghin  HIE FIET § T 7 FiT * [oIT ZAH H Tl AT TErH1er ITAN 67T AT 82

01. Telnet 02. IMAP
03. HTTP 04. SMTP
05. None of these

TAH H (S ARl

Solution for Question 167

Ans Key: 2

Ans Key: 1

eng/eng  Telnet is a protocol used to log in to remote computers. terminals over the Internet or a TCP/IP computer network. Telnet uses the port 23.

ST U Wbt & STeehT ST gree sheafedt # A1 39 &t o foaw foram STam erie 23 R aret Wi ot 3wl el 2



eng hin  Telnet is a protocol used to log in to remote computers. terminals over the Internet or a TCP/IP computer network. Telnet uses the port 23.

ST U WIRrhie & STeehT ST gree sheafet # 1T 59 et o foaw foram STt e 23 R amet Wi ot 3wl e 2

Q-168 Which of the following is an employment-oriented social media network?

engleng THHTHTET # § &9 &7 TF USRI IFE HIA HSAT F2a 22

01. Viber 02. Pinterest
03. Linkedin 04. Line
05. None of these

TAH A FTE T

Q-168 Which of the following is an employment-oriented social media network?
eng hin  FHETITET # 17 &7 TF TSR I7E T4« H=AT 2a 22

01. Viber 02. Pinterest
03. Linkedin 04. Line
05. None of these
TAH H A TRl
Solution for Question 168 Ans Key: 3

LinkedIn is a business and employment-oriented service which is mainly used for professional networking, including employers posting jobs
and job seekers posting their CVs.
oo S Ueh He@TRieh ST TSHTRIHE HalT & S {Ed &9 § URISR A2afeT o ToTe SANT 31 STl &, TS U= SART SToHT el qiee i @l

LinkedIn is a business and employment-oriented service which is mainly used for professional networking, including employers posting jobs
and job seekers posting their CVs.

fofohfe Teh Sa@Tieh S USTTRE §all & ST e &9 9 UTa Jeafe o folq U2 sht ST 2, Foras =eho=T @i SOt €l 9iee #<d g

Q-169 What do we call the files sent in an email?
EH 7 oMt T AT BT W AT FRd 22

01. Packet 02. Parcel
03. Attachments 04. None of the above
IUIE H T HT 21

05. None of these
TAH TS TR
Q-169 Whatdo we call the files sent in an email?
ng hin ~ SHA | ST TE FISHAT 5l g9 FAT Fgd 87

01. Packet 02. Parcel
03. Attachments 04. None of the above
IYLIE T TS off T21
05. None of these
AT HHIE Tol
Solution for Question 169 Ans Key: 3

eng/eng A computer file that is sent together with an email message is known as attachment. It can be an image, document or any other file.

T ST IS ST U SHCT T o |TeT STl ST 8, ¢ ST o & H ST ST 8] 98 T S, TEqToI A1 i3 3141 HI5a &l §ehdl| ol

eng hin A computer file that is sent together with an email message is known as attachment. It can be an image, document or any other file.

T ST IS ST Uk SHCT HaT o6 | HSlT ST &, 3 ST o &9 H ST ST 2| T8 Toh S, TEATAS AT h13 321 HI5eA & Fehell 2l

Q-170 What was “Mosaic” in the initial history of World Wide Web?
eng/eng ToE qTES a9 F TTLITF gﬁ‘grq TS T A2

01. Operating System 02. 'Web Browser
03. Computer Virus 04.  Server Application
05. None of these

TAH AL Tl

Q-170 What was “Mosaic” in the initial history of World Wide Web?
eng hin S ATZE 49 % WTEIAF TfAETH & "HIS+" F47 212



01. Operating System 02. Web Browser
03. Computer Virus 04. Server Application
05. None of these

TH TS AL
Solution for Question 170 Ans Key: 2

eng/eng  Mosaic was one of the first web browsers and the first “popular” web browser with a graphical user interface that could be operated by an
average person.

HISieh TEel I SISST H ¥ ek 2T 37 WTfhehet ISR STHH STell Teal "eAhii " o SIS o

enghin  Mosaic was one of the first web browsers and the first “popular” web browser with a graphical user interface that could be operated by an

average person.

HISieh TEel e SISST H ¥ ek 2T 37 WTfhehet ISR STTHH STl Tea "eAeh i o SIS o

Q-171 Word processing spreadsheet and photo-editing are examples of
engleng S T w=efie T wEr-uefar % IATEL 2|

01. application software. 02. system software.
03. operating system software. 04. platform software.
05. None of these

TAH F HE LN

Q-171 Word processing spreadsheet and photo-editing are examples of

01. application software. 02. system software.
03. operating system software. 04. platform software.
05. None of these
TAH A TE ALY
Solution for Question 171 Ans Key: 1

Word processing spreadsheet and photo-editing are examples of application software.

TS AT Tefie 3R wiel-ufsfen application software % AR

Word processing spreadsheet and photo-editing are examples of application software.

TS TG Tefie 3T BIEI-ufefaT application software % SaTeXl &

Q-172 Kernelis a central component of

engleng FAA T TF F5T T gl
01. A part of CPU 02. An operating system
03. A hardware 04. A register

05. None of these

Q-172 Kemel is a central component of .
enghin  FAe FT TF F31T 7T 2

01. A part of CPU 02. An operating system

03. A hardware 04. A register

05. None of these
Solution for Question 172 Ans Key: 2
eng/eng  Kernel is a central component of operating system

FHricT ST RIESH T T had = o
eng hin  Kernel is a central component of operating system

it ST e hT Ueh sl e 2
Q-173 A@m) is a small group of computers and peripherals linked together in a small geographic area.
eng/eng TF BIe F RIS &7 § Fqe7 ST aTg] STFHIU FT UF ZreT T9E 2

01. MAN 02. PAN

03. CAN 04. LAN



05. None of these

Ty 7 478 A
Q-173 Am) is a small group of computers and peripherals linked together in a small geographic area.
eng hin T BIE F A &7 § F0L27 37 ATl STHIUT H1 UF Bl q4E 2l
01. MAN 02. PAN
03. CAN 04. LAN
05. None of these
i 4418 AT
Solution for Question 173 Ans Key: 4
eng/eng A LAN is a small group of computers and peripherals linked together in a small geographic area.
N T BIe § TIcTeh & § sheged 3T STel ST o1 U BieT T 2
enghin A LAN is a small group of computers and peripherals linked together in a small geographic area.
A T BIE & TITcTeh & H sheged 3T STel STl ohT U Biel T 2l
Q-174 What s the full form of SIM?
eng/eng SIM &1 T FT FAT 5?2
01. Station Identity Module 02. System Identity Module
03. Subscriber Identity Module 04.  Subscriber Trunk Dialling
05. None of these
Q-174  Whatis the full form of SIM?
SIM =T qUf =7 4T §2
01. Station Identity Module 02. System Identity Module
03. Subscriber Identity Module 04. Subscriber Trunk Dialling
05. None of these
Solution for Question 174 Ans Key: 3
SIM: Subscriber Identity Module
SIM: Subscriber Identity Module
Q-175 A compiler translates a program written in a high-level language into .
eng/eng U FUTZE Ig-EL1T AT [ T aggaarg
01. Machine language 02.  An algorithm
03. A debugged program 04. Java
05. None of these
e 1 s
Q-175 A compiler translates a program written in a high-level language into .
enghin  TF FUT3AL IF-FAL ATIT HT HIgaar g
01. Machine language 02.  Analgorithm
03. A debugged program 04. Java
05. None of these
Sen AT AT
Solution for Question 175 Ans Key: 1

eng/eng A compiler translates a program written in a high-level language into machine level language.

Teh TSR Soa-Ead WIS oht WY weT § sieerdn &

eng hin A compiler translates a program written in a high-level language into machine level language.

Te TSR Ioa-Fa1 {THT <hT A=t 9ToT & Saetar &

Q-176  which of the following is last bar in Microsoft Excel?
eng/eng  Microsoft Excel # &fqw &< 1+ |1 872



01. Status Bar 02. Format Bar
03. Formula Bar 04. Menu Bar

05. None of the above
SUIE | HTS A A5l
Q-176  which of the following is last bar in Microsoft Excel?
eng hin  Microsoft Excel H Sffaw aTe i |71 82

01. Status Bar 02. Format Bar
03. Formula Bar 04. Menu Bar
05. None of the above
g A
Solution for Question 176 Ans Key: 1
eng/eng  Status Bar is the last bar in Microsoft Excel.
Microsoft Excel ¥ 3ifdH oI status bar &1dT &
eng hin  Status Bar is the last bar in Microsoft Excel.
Microsoft Excel ¥ 31fdH &I status bar &1dT 8
Q-177 Restarting a computer that is already 'ON' is referred to as
engleng B B ST Fg T AT FTg2 T T T 9% AT
01. Shut down 02. Cold booting
03. Warm booting 04. TLogging off
Q-177 Restarting a computer that is already 'ON' is referred to as
TE T &V AT g AT AT FTI2L T T T 9L LT
01. Shut down 02. Cold booting
03. Warm booting 04. Logging off
Solution for Question 177 Ans Key: 3
Restarting a computer that is already 'ON' is referred to as warm booting
TET § & ST e STH STt e sh Tt & Y& AT I SIfeT el @
Restarting a computer that is already 'ON' is referred to as warm booting
T & B ST R ST ITed heed b fOhT & ST AT I SIfT et
Q-178  the average time required to reach a storage location in memory and obtain its contents is called the
AT § GUGIT ST T Tgo 3T THT ATHAT TTH FIA [0 AFeTF Sd 9T Figl ST &
01. seek time 02.  turnaround time
03.  Access time 04. transfer time
05. None of these
T q TS AR
Q-178 the average time required to reach a storage location in memory and obtain its contents is called the
enghin ~ FHILT H HALT TATT TF TgA ST ST ATHYT TTH FZA 6 [0 AGLAF AT THT FgT ST &
01. seek time 02. turnaround time
03.  Access time 04. transfer time
05. None of these
T TS AR
Solution for Question 178 Ans Key: 3

eng/eng  The average time required to reach a storage location in memory and obtain its contents is called the access time

HA H |87 T qh U5 ST 6o I 6 i o oY SATawareh STied S el ST € Access time

eng hin  The average time required to reach a storage location in memory and obtain its contents is called the access time

ﬁﬁﬁﬁwwwq@ﬁaﬁtmmmm%ﬁmw ST 9T T ST ® Access time




Q-179  Which of the following is lowest in memory hierarchy?
eng/eng Memory Hierarchy # fRerforfera # & i &1 @a® M=t &qv 12 22

01. Cache memory 02. Secondary storage
03. Registers 04. RAM
05. None of these

TAH H A Tl

Q-179  Which of the following is lowest in memory hierarchy?
eng hin  Memory Hierarchy ® fRsrferfard & & &= &1 #aw fa=ret #q2 ww 82

01. Cache memory 02. Secondary storage
03. Registers 04. RAM
05. None of these
TAH F ATE TRl
Solution for Question 179 Ans Key: 2
eng/eng  Secondary storage is lowest in memory hierarchy
Memory Hierarchy H e fi=rel Tt W Sshell TR 8
eng hin  Secondary storage is lowest in memory hierarchy
Memory Hierarchy H Her8 feiel TaX 9T Hehet] TR ©
Q-180  which button in Excel is used to add up series of numbers?
Excel ¥ Tohe 52 T ST §&ATsT 6T @1 HT ST & forg f7ar Srar 82
01. F7 02. AUTOSUM
03. CALCULATE NOW 04. CONSOLIDATE
05. VLOOKUP
Q-180  which button in Excel is used to add up series of numbers?
Excel ® Tohe 512 &7 SUT ST T S@eT &l SIS o (o0 /AT ST1aT 872
01. F7 02. AUTOSUM
03. CALCULATE NOW 04. CONSOLIDATE
05. VLOOKUP
Solution for Question 180 Ans Key: 2
/eng  Autosum is the button in Excel is used to add up series of numbers
Autosum Excel § 5127 & a1 ST STt sht 2@e i SieH o for foram St &
Autosum is the button in Excel is used to add up series of numbers
Autosum Excel # 92 & foreehT SUART HEATaT 3T e oh e o foTd foham STt &
Q-181 A sequence of actions that can be executed again and again on a document or multiple documents?
eng/eng T TEATAS AT H3 TEATAAT I ATL-ATL Hoarfad T ST Fohe arett o2ttt 7 0 %7 BT g
01. Macros 02. Edit
03. Pivot 04. Charts
05. None of these
Ty 7 747E A
Q-181 A sequence of actions that can be executed again and again on a document or multiple documents?
eng hin Tl TEATAS AT TEATAAT I ATL-ATL Hoariad 1 ST e aret o2l 7 0 %9 gaTE
01. Macros 02. Edit
03. Pivot 04. Charts
05. None of these
Ty 7 418 A
Solution for Question 181 Ans Key: 1

eng/eng A sequence of actions that can be executed again and again on a document or multiple documents that option is Macro

ToRaTaTY T Uk shH TSIl Ueh S&TasT 3T h S&dTasT UT S-SR SqTied foham ST HehdT & ST farshed Hshl ©




eng hin

A sequence of actions that can be executed again and again on a document or multiple documents that option is Macro

ToraTaTY o1 Uk A FST8 Ueh SEdTaIS] A1 s SEdTaisl) 9L STR-R fsarfed foram ST @ehdT & S forshed Bl @

Q-182 Cells involve creating a single cell by combining two or more selected cells.
eng/eng | H ZT AT AT FAT HAT 6 HASH F TF THA HA FT HA7 ST &
01. Formatting 02. Merging
03. Embedding 04. Splitting
05. None of these
TAH S AR
Q-182 Cells involve creating a single cell by combining two or more selected cells.
eng hin | H FT AT ATEF FAT HAT 6 SASIH F TF THSA HA FT WHT ST &l
01. Formatting 02. Merging
03. Embedding 04. Splitting
05. None of these
TAY F FS TR0
Solution for Question 182 Ans Key: 2
Merging Cells involve creating a single cell by combining two or more selected cells.
Merging &t ¥ &1 IT 3Tfoeh ==f3d Tcll % TS O Ueh Uehel Hed T fHH{0T 8T 2
Merging Cells involve creating a single cell by combining two or more selected cells.
Merging 8 H &1 3T 1fereh Trf Tetl o TS ¥ Ush Tehel BT ST (4107 21aT 2
Q-183  Father of ‘C’ programming language
01. Dennis Ritchie 02. Prof Jhon Kemeny
03. Thomas Kurtz 04. Bill Gates
05. None
FIS Tl
Q-183  Father of ‘C’ programming language
'C' TRITFHRT ATUT 3 S g
01. Dennis Ritchie 02. Prof Jhon Kemeny
03. Thomas Kurtz 04. Bill Gates
05. None
FIE TRl
Solution for Question 183 Ans Key: 1
eng/eng  Father of ‘C’ programming language is Dennis Ritchie.
'C" SET{EAT WTHT 3 Sk Dennis Ritchie &
eng hin  Father of ‘C’ programming language is Dennis Ritchie.
'C' STITTHAT 9TST & Sk Dennis Ritchie &
Q-184  Best Quality graphics is produced by
eng/eng ELENEEDI iz Wﬁ'ﬁﬁg
01. Dot Matrix 02. Laser Printer
03. Inkjet Printer 04. Plotter
05. None
Q-184  Best Quality graphics is produced by
eng hin  ¥& FTerET ATihre grrfAfda g
01. Dot Matrix 02. TLaser Printer
03. Inkjet Printer 04. Plotter
05. None
Solution for Question 184 Ans Key: 4



eng/eng

Best Quality graphics is produced by Plotter.
ST FATfAST M plotter gRT HIHd fekam STaT &

eng hin  Best Quality graphics is produced by Plotter.
LS Attt M plotter FRT i foham Srar @

Q-185  Which one of the following converts assembly language into machine language?
engleng THETCIEd # & i &1 frerrererar |rot 7 Hefta wrar § afiafdq F2ar 82
01.  Algorithm 02. Interpreter
03. Compiler 04.  Assembler

05. None of these
N
Q-185  Which one of the following converts assembly language into machine language?
eng hin  Teforfea & & i & e wror 1 7eft st § afafdq Far g2

01. Algorithm 02. Interpreter
03. Compiler 04. Assembler
05. None of these

AN A TS T

Solution for Question 185

Q-186

Q-186

eng hin

Assembler converts assembly language into machine language

STHT STETAT AT ohl A TS | saed T &

Assembler converts assembly language into machine language

STHT STHTAT AT Rl AT e H sTaet 1 &

Inventor of WWW is..........
WWW T iasshe ......... 2

01. Bill Gates 02. LeeN.Feyog
03. N.Resscl 04. Tim Berners lee
05. None of these

=<’_‘|a T Eﬁé '_‘Tﬁ
Inventor of WWW is..........

WWW T AT TF ... 2l

01. Bill Gates 02. LeeN.Feyog
03. N.Resscl 04. Tim Berners lee
05. None of these

TAH H (S AQl

Solution for Question 186

Ans Key: 4

Ans Key: 4

eng/eng  Inventor of WWW is Tim Berners lee
WWW T 3TTfersheh Tim Berners lee 2
eng hin  Inventor of WWW is Tim Berners lee
WWW T 37Tk Tim Berners lee 2
Q-187 Pascal -
eng/eng AT¥HA —
01. isa computer language 02. is a unit of computer
03. is a computer operating system 04. is a type of computer
05. None of these
TAH HHIE Tol
Q-187 Pascal -
eng hin  9T¥hT —

01. is a computer language 02. s a unit of computer



03. is a computer operating system 04. s a type of computer

05. None of these
TAH HFIS Tl

Solution for Question 187

Ans Key: 1

eng/eng

Pascal is a computer language

UTEhel Teh PR 91T 2t 3

eng hin

Pascal is a computer language

UTEhel Teh PRt 91T Bt &

Q-188

eng/eng

Q-188

eng hin

Which of the following is not a computer language?

Referfed & & 19 Fege ATIT 951 82

01. Basic 02. C
03. Fast 04. Fortran

05. None of these
TAH H FIS Tl

Which of the following is not a computer language?

Reforfad & & 19 Fege ATT 751 82

01. Basic 02. C
03. Fast 04. Fortran

05. None of these
TAY H FE A8l

Solution for Question 188

Q-189

Q-189

Fast is not a computer language

Fastwwqﬁ%

Fast is not a computer language

FastWWﬁ%

Where is RAM located?
RAM gt fRorq 22

01. Expansion Board 02. External Drive
03. Mother Board 04. All of above
IYLIE Tt
05. None of these
TAY A TS gl
Where is RAM located?
RAM gt fera 87

01. Expansion Board 02. External Drive

03. Mother Board 04. All of above
IUOh Tt

05. None of these
TAH HFIS Tl

Solution for Question 189

Ans Key: 3

Ans Key: 3

eng/eng RAM is located in motherboard.
RAM motherboard ¥ f&erq grar &
enghin  RAM is located in motherboard.
RAM motherboard # feera grar @
Q-190 Ifacomputer has more than one processor then it is known as?
engleng AT FTYET H UF F AT THAL & AT 8 (6 A7 F AT ST 22

01. Uniprocess 02. Multiprocessor
03. Multithreaded 04. Multiprogramming
05. None of these



TAH F ATE TRl
Q-190 Ifacomputer has more than one processor then it is known as?

eng hin  TX T § UF & o1farF T § 91 39 B a1 & a7 Sirar 82

01. Uniprocess 02. Multiprocessor
03. Multithreaded 04. Multiprogramming
05. None of these
TAH TS AR
Solution for Question 190 Ans Key: 2
eng/eng  If a computer has more than one processor then it is known as Multiprocessor
af deget § U § S1fire TEE o1 50 A e e ST 8
eng hin [ a computer has more than one processor then it is known as Multiprocessor
Jfe T H Uk | 3ok THE 8 a1 36 AeISeat el ST &
Q-191  From the following which is known as the administrative section of the computer system?
eng/eng Tferfera # & 4 fogaw foreew & gorafae @ % w7 § ST Sar 22
01. Control Unit 02. Input Unit
03. RAM 04. Central Processing Unit
05. None of these
A H IS AGL
Q-191 From the following which is known as the administrative section of the computer system?
Fraforfe § & o foge e % yomaEs @2 % 9 8§ SE1Sar 82
01. Control Unit 02. Input Unit
03. RAM 04. Central Processing Unit
05. None of these
TAH TS Tl
Solution for Question 191 Ans Key: 4
Central Processing Unit is the brain of the computer
T TTEfT e FIe T ARdsh ©
Central Processing Unit is the brain of the computer
Tgel THIfET Ife Feget st afiash &
Q-192  Cis what kind of language ?
C o qeg fit AT 82
01. An assembly language 02. A third generation high level language
03. A machine language 04. Future language
05. None of these
e T AT
Q-192 Cis whatkind of language ?
enghin C B awg &t wror 22
01. Anassembly language 02. A third generation high level language
03. A machine language 04. Future language
05. None of these
AT F FIE TRl
Solution for Question 192 Ans Key: 2

eng/eng C is a high level language
C U 3=d Ty 9T §

eng hin  Cis a high level language
C Toh 3= &R 9T 8

Q-193  Which term is related to database?
eng/eng  STTAH (¥ 9153 H HeATaq 22



01. PHP 02.
03. Oracle 04.
05. None of these

TAH TS TR
Q-193  Which term is related to database?
enghin ST {3 ore2 7 Hefaq 22

01. PHP 02.
03. Oracle 04.
05. None of these

T ATE TE

Solution for Question 193

Java

Assembly

Java

Assembly

Ans Key: 3

eng/eng  Oracle is the name of the company of database.

Oracle STETSE hY U &1 719 21

eng hin  Oracle is the name of the company of database.

Oracle STET&H Sl ST T I 2

Q-194 Which language was used as first generation language?

gget diet 1 99T F =7 7 B qrar 7 39 T =

01. Machine language 02.
03. Java 04.

05. None of these
T A HTE TS

Q-194 Which language was used as first generation language?

Assembly language
C

gl T T 97O o ® § 3 T T ITRT 6T 13T 2m2

01. Machine language 02.
03. Java 04.

05. None of these
AW A AL TRl
Solution for Question 194

Assembly language
(¢

Machine language was used as first generation language.

gt diet Shl |TST o 9 § 9TST ShT STFNT TR 172 o

Machine language was used as first generation language.

Yol did] shl {TNT o ©9 § 19T BT SUHNT fohaT TR-IT 97

Ans Key: 1

Q-195  Where cache memory is located?
eng/eng 9T HHTE Eh_{T' o %’?

01. CPU 02.
03. Scanner 04.
05. None of these

TH & TS L
Q-195  Where cache memory is located?
enghin T AHIT Faf I 82

01. CPU 02.
03. Scanner 04.
05. None of these

TH W TS TR
Solution for Question 195

Monitor

On file server

Monitor

On file server

Ans Key: 1

eng/eng  Cache memory is located in CPU.



Sy AR CPU H feord gt @

enghin  Cache memory is located in CPU.

S AAR CPU H feyaardi @

Q-196  Which among following is an image name extension?

engleng THETHTET # & 19 UF i 09 THAEAT 82

01. gf 02.
03. ppt 04.

05. None of these
TAH HFS Tl

Q-196 Which among following is an image name extension?

eng hin Fraferfead & & #17 uF g W rFrdeE 22

01. gf 02.
03. ppt 04.

05. None of these
TR TS AL
Solution for Question 196

Gif is an image name extension
Gif T Bfer T Ty ©
Gif is an image name extension

Gif Tk e 779 T@Hee §

docx
lib

docx
lib

Q-197 Charles Babbage designed the first mechanical computer named

AT TS  TgAT Hehfoahel Hge ATHT (AT AT

01. Analytical Engine 02.
03.  Comp Engine 04.

05. None of these
TAY T FIE Aol

Processor
Abacus

Q-197 Charles Babbage designed the first mechanical computer named

FTH FelST 7 TEAT Hob[eIohel HegET ATTHA [T =T

01. Analytical Engine 02.
03. Comp Engine 04.

05. None of these
AT F FIE TR1
Solution for Question 197

Processor
Abacus

Ans Key: 1

Ans Key: 1

eng/eng Charles Babbage designed the first mechanical computer named Analytical Engine.

AT SIolST 8T Hohohet HI2T Analytical engine T fopaT o

eng hin  Charles Babbage designed the first mechanical computer named Analytical Engine.

TTeH SfelST = T8l Hehfehdl et Analytical engine TTH fofram o1

Q-198  Which of the following is a non-volatile memory?
engleng THHTTET # & AT TF A1 F1A1€aA HHILT 82

01. RAM 02.
03. VLSI 04.

05. None of these
BEEEIERE]
Q-198  Which of the following is a non-volatile memory?
eng hin  FETIET & & 7 TF 909 FAema THET 22

01. RAM 02.
03. VLSI 04.

LSI

LSI



05. None of these

T & AT AN

Solution for Question 198 Ans Key: 4
eng/eng  HDD is the Non Volatile memory
HDD T 7 aideEd #ar 8
eng hin  HDD is the Non Volatile memory
HDD U 1 aiciierse #Hi 8
Q-199 By pressing which key we can move to beginning of a page?
eng/eng T TS T TATHT 2/ T8 T LFAT FT THA 82
01. Window Key 02. Shift Key
03. TabKey 04. Home Key
05. None of these
e
Q-199 By pressing which key we can move to beginning of a page?
eng hin T T T TATHT 27 T8 FT LFAT FT TFHd 22
01. Window Key 02. Shift Key
03. TabKey 04. Home Key
05. None of these
TAH F FIE T2
Solution for Question 199 Ans Key: 4
eng/eng By pressing home key we can move to beginning of a page
Home &l #1 ZaTE §H o3 I YBITA FX Fhel ©
eng hin By pressing home key we can move to beginning of a page
Home &l #1 ZaTE §H 53 I YT I Fohel &
Q-200 Whatis full form of TIFE?
eng/eng TIFF Eﬁ' "g_vr ‘FT'I-Sl T %‘)
01. The Image File Format 02. Tagged Image File Format
03. Tagged Image File Front 04. The Image Fax Format
05. None of these
Q-200 What is full form of TIFF?
eng hin TIFF Eﬁ qg_vr Eﬁﬁ T ?:r)
01. The Image File Format 02. Tagged Image File Format
03. Tagged Image File Front 04. The Image Fax Format
05. None of these
Solution for Question 200 Ans Key: 2

eng/eng TIFF: Tagged Image File Format

enghin  TIFF: Tagged Image File Format




